PCBE M@t
PCB Spacer

M.2EfmtE
M.2 SSD Spacer

S E ARt
Conductive Spacer
Wi-FiEEH]

Wi-Fi Lock
PCBEIEE

PCB Mounting Block

PCBEIEH]
PCB Hinge & Bracket

By EREiE
Pillar Support

EEelE] Y
Round Spacer

[ E2yaE
Standoff



o« i g
: ﬁﬁ e b WG
Part No. B Page Note Part No. A B Page Note

MCIA- 3.2x4.8 | 1-59 5 [ 5L MCSH-7.2 2.0x3.0 1-55

SOR-3 3.2X6.0 | 1-73 |M2.5 or M2.6 Screw| | KVD- 4.0%5.5 5.0x6.5 |1-20

TCBE- 4.0x5.41 |1-60 MASD- @15 1-48
KVLMA-10 5.5x7.1 |1-58 MASS- @1.5 1-48

KVLM3- 55x7.1 |1-59 M3x0.5P MASSD- @1.5 @15 1-13
KVLM4-10 55x7.1 [1-59 M4x0.7P MAEB-3.2 @15 @3.0 1-19

PAA-11 6.0x7.0 |1-68 LCMB-8 @15 @3.0 1-20

LIJ-4 @2.5 1-69 MADSA-3 @1.6 @1.6 1-13

LBS- @3.0 1-46 MADSB-3 @1.6 @1.6 1-13

MSA- @3.0 1-48 MADS- @1.6 @2.0 1-13

TCBA- @3.0 1-51 MAS-9 ?1.6 @2.0 1-13

LIO- @3.0 1-69 MAD1.7-9.8 @1.7 @1.7 1-13

LIO-8 @3.0 1-69 MAL-8 @2.0 1-48
DCCB-4.1 #3.0~03.18| 1-51 MASL-5.4 @2.0 1-48

MSPE-7 @3.2 1-28 MAST- @2.0 1-48
LCUA-11 @3.4 1-84 MA- @2.0 1-49

EDC- @3.5 1-2 MAB-4 @2.0 1-49

LASE- @3.5 1-47 MABA-2.6 @2.0 1-49

LASH-22 @3.5 1-47 MA-XXDL @2.0 1-49

LASJ- @3.5 1-47 MS- @2.0 1-52

SSUL-8 @3.5 1-73 ISS- @2.0 1-77 |Double Adhesive Tape
LIES-1 ?3.8 1-69 MAD1- @2.0 @2.0 1-13

RAMA- @4.0 1-1 MAD1.2-129| @2.0 @2.0 1-13

RAMC- @4.0 1-2 MAD- @2.0 @2.0 1-14
LASB-3.7 @4.0 1-46 MAD1.2- @2.0 @2.0 1-14

LASF-18 @4.0 1-48 MADB- @2.0 @2.0 1-14

TCBC- @4.0 1-59 MADX-9.5 @2.0 @2.0 1-14
TCBH-17F @4.0 1-60 MADG-5.4 @2.0 @2.0 1-36

SOR-2 @4.0 1-73 MAMDA- @2.0 @2.5 1-15

TCEB3- @4.1 1-65 M3x0.5P LCMA- @2.0 | 23.0~@3.2 |1-40

TCEB4- @4.1 1-65 M4x0.7P RCAB- @2.0 @4.0 1-12
TCEB632- @4.1 1-65 6-32 UNC PCLS-25 @2.2 1-52

LCU-18 @4.3 1-88 MAHA-7 @2.2 @2.2 1-15
LASD-8.3 @4.5 1-46 MSB-2.8 @2.3 1-52

RAD- @4.8 1-1 ULCBA-5 @2.35 @4.0 1-82
RAMD-15.5 @4.8 1-3 ULCSD-5 @2.4 @2.8 1-82

LCDS3- @4.8 1-45 M3x0.5P MAMS- @2.5 1-49

LCDS4- @4.8 1-46 M4x0.7P MAMS-7.5 @2.5 1-49

LAS- ?4.8 1-47 MAM- @2.5 1-50
LASL-4.8 ?4.8 1-47 MSM-2.5 @2.5 1-52

LASY- @4.8 1-47 MAE2.5-6.5 @2.5 1-53

ULCF- @4.8 1-76 MAE2.5-6.5T| @2.5 1-53 M2x0.4P
WLCF- @4.8 1-76 GSS- @2.5 1-77 |Double Adhesive Tape
ULCBB- @4.8 1-84 ULCI-11 @2.5 1-80
LASA-9.5 @4.8~@5.0 | 1-47 ULCIJ-4 @2.5 1-80
TCBD-4.8 @4.8~@5.0 | 1-60 SCBS632- @2.5 1-126 6-32 UNC
CUS-5 @5.0 1-72 MADA-18S @2.5 @2.5 1-15

RAM- @5.5 1-1 MADAA-14 @2.5 @2.5 1-15
RAM-13.5L @5.5 1-1 MADJ-6 @2.5 @2.5 1-15

RAML- @5.5 1-1 MADA- @2.5 @2.5 1-16

RAS- @5.5 1-2 MADA-XXL @2.5 @2.5 1-16

SOR-1 @5.5 1-73 MADM- @2.5 @2.5 1-16

RAMB-9 @5.6 1-3 MAMDEF-7 @2.5 @2.5 1-16

LDD- ?6.0 1-69 MAMDL-9 @2.5 @2.5 1-16




o ¥
: ﬁﬁ e o WG
Part No. A B Page Note Part No. A B Page Note
MAC- @2.5 @2.5 1-17 LCFO- ?3.0 @3.5 1-33
MADE-2.8 @2.5 @2.5 1-17 RCI-2.6 @3.0 @4.0 1-3
MAHC-14.3 @2.5 @2.5 1-17 RCO- @3.0 @4.0 1-3
MADMK-5 @2.5 @2.5 1-20 RCA- @3.0 @4.0 1-4
LCMC-7 @2.5 @3.0 1-20 MAEA-3.5 @3.0 @4.0 1-19
LCAB- @2.5 @3.0 1-40 LCX-31 @3.0 @4.0 1-29
LCMD- @25 | 23.0~@3.2 |1-40 MADP-20S @3.0 @4.0 1-36
RCAC- @2.5 @4.0 1-12 LCH- @3.0 @4.0 1-37
MAEE-4.5 @2.5 @4.0 1-19 LCH-XXS @3.0 @4.0 1-37
MAM-6.35L @2.6 1-50 RCC- @3.0 @4.8 1-4
MADAB-4.3 @2.6 @2.5 1-17 LCBT- @3.0 ?4.8 1-41
MADM1-2.2 @2.6 @2.6 1-17 KLCBS- @3.0 @4.8 1-42
MAHC-XXS @2.6 @2.6 1-17 LCBUA-13.9 @3.0 | 24.8~@5.0 |1-41
MSPA-1.6 @2.6 @2.8 1-31 RCG- @3.0 @5.5 1-5
LCUE-3.3 @2.6 @3.2 1-83 LCHA-2.3 @3.0 3.0x4.0 |1-37 5 B 7L
MAMA-3.5 @2.7 1-50 DCBA-8 @3.1 1-56
LCUAE-16LA| 2.8 3.2x4.8 |1-87 LCUAC-11 @3.1 3.2x4.8 |1-86 i B 3L
MSPA-6.3L @2.8 @2.8 1-31 LCUAE-8 @3.1 3.2x4.8  |1-86 5 B 7L
SCBA- @3.0 1-125 M3x0.5P MADD-2 @3.1 @3.0 1-18
SCBD-8 @3.0 1-126 M3x0.5P JSS- @3.2 1-78 |Double Adhesive Tape
MSPA3-9.7 @3.0 1-126 M3x0.5P SCB3- @3.2 1-127 M3x0.5P
DCC- @3.0 1-50 ULCSE- @3.2 3.2x4.8 |1-83 s 8 3L
MAL-34 @3.0 1-50 LCUAC- @3.2 3.2x4.8 |1-85 i B 3L
DCE-4 @3.0 1-51 LCUAC- @3.2 3.2x4.8 |1-86 5 B 7L
MAE- @3.0 1-53 LCPL-6.4 @3.2 @2.0 1-32
MAE-XXT @3.0 1-53 M3x0.5P LCSE- @3.2 | 93.0~@3.2 |1-43
MAE-7-440 @3.0 1-54 MADN-24 @3.2 @3.2 1-18
MAE-7-440T @3.0 1-54 4-40 UNC MSPB3.2-6.4| @3.2 @3.2 1-21
DCB- @3.0 1-56 MSPP- @3.2 @3.2 1-21
DCBA-3.5 @3.0 1-56 DMSB- @3.2 @3.2 1-23
SS1- @3.0 1-73 M2 Screw DMSS- @3.2 @3.2 1-23
SS3-7(1.3) @3.0 1-73 M2 Screw MSPS3S-7.5 @3.2 @3.2 1-23
BSS- @3.0 1-77 |Double Adhesive Tape| | MSP3- @3.2 @3.2 1-24
CSS- @3.0 1-78 |Double Adhesive Tape| | MSPL-11 @3.2 @3.2 1-24
CSSA-2 @3.0 1-78 |Double Adhesive Tape| | MSPS3- @3.2 @3.2 1-24
LCUAC-7 @3.0 3.2x4.8 |1-86 MSPMA-12 @3.2 @3.2 1-25
LCUAE-12 @3.0 3.2x4.8 |1-87 % B 7L LCJ-15 @3.2 @3.2 1-29
MADL-27.8 @3.0 @3.0 1-18 LMSE-4.8 @3.2 @3.2 1-31
MAMDC-12 @3.0 @3.0 1-18 LMSB-4 @3.2 @3.2 1-32
MSPC3- @3.0 @3.0 1-21 LMSP- @3.2 @3.2 1-32
MSPC3-3.2L @3.0 @3.0 1-21 RCMB-2.8 @3.2 @4.0 1-5
MSPF3- @3.0 @3.0 1-21 LCUAD-1 @3.2 @4.1 1-84
SSDU1-3.5 @3.0 @3.0 1-28 ULCSF- @3.2 @4.2 1-82
LCJ- @3.0 @3.0 1-29 RCBS- @3.2 @4.8 1-8
LCV- @3.0 @3.0 1-29 RCR-3.2 @3.2 ?4.8 1-8
LCVA- @3.0 @3.0 1-29 RCV-11.1 @3.2 ?4.8 1-8
LCVU- @3.0 @3.0 1-29 RCW- @3.2 @4.8 1-8
LMSA-6 @3.0 @3.0 1-31 ULCD-7.8 @3.3 1-80 M3x0.5P
CBSA-13 @3.0 @3.0 1-33 MSPD- @3.3 3.2x4.8 [1-25 5 B 3L
LCF- @3.0 @3.0 1-33 MSPN- @3.3 3.2x4.8 |1-25 5 B 3L
LCGA- @3.0 @3.0 1-33 MSPQ-16 @3.3 3.2x4.8 |1-26 5 B 3L
MADP-17.5 @3.0 @3.0 1-36 LMSD- @3.3 3.2x4.8 |1-45 i B 3L
LCA- @3.0 @3.0 1-37 ULCH-2 @3.3 3.2x4.8 [1-80 M2.5 Screw
LCG- @3.0 @3.0 1-41 ULCSA- @3.3 3.2x4.8 |1-81




@ &

Part No. A B Page Note Part No. A B Page Note
ULCSA-28.8S| @3.3 3.2x4.8 |1-82 SCB4- @4.0 1-128 M4x0.7P
KEMS-11.3 @3.3 5.5x5.5 [1-88 SCB832- @4.0 1-128 8-32 UNC
MSPB- @3.3 @3.2 [1-22 MCO-16 @4.0 1-51
MSPH-7.5 @3.3 @3.2 |[1-26 MAE43- @4.0 1-54 M3x0.5P
MSPCA-16 @3.3 @3.3 |[1-22 MAE43-4.8LT| @4.0 1-54
MSPCA3.3- @3.3 @33 [1-22 MAE43-XXT @4.0 1-54 M3x0.5P
MSPF3.3- @3.3 @3.3 [1-22 MAE4D-6 @4.0 1-54
MSPF3.3-8L @3.3 @3.3 [1-22 MAE4D-6T @4.0 1-54 M3x0.5P
DMSC-4.5 @3.3 @33 [1-25 MAE4- @4.0 1-55
LCOA-28.8 @3.3 @3.3 [1-32 MAE4-XXT @4.0 1-55 M4x0.7P
SCB3-38 @3.4 1-127 M3x0.5P MCI-4.7 @4.0 1-55
LCIA-3.5 @3.4 @3.7 [1-30 MC- @4.0 1-57
RCCA-8 @3.4 @4.8 |15 MC- @4.0 1-58
ULCBA-7.8 @3.4 @4.8 |1-83 MCE-1.9 @4.0 1-58
SCBB-3 @3.5 1-126 M3x0.5P MCEA-1.9 @4.0 1-58
SCBC- @3.5 1-126 M3x0.5P MCH- @4.0 1-58
MCM- @3.5 1-51 TCBS- @4.0 1-62 M3 Screw
PDC- @3.5 1-56 TCBS-18 @4.0 1-62 M3 Screw
MCN-10 @3.5 1-57 TCBT- @4.0 1-62 M3 Screw
PDC- @3.5 1-57 TCBT-16 @4.0 1-62 4-40 UNC
PDC-XXD @3.5 1-57 TCBT-3.6 @4.0 1-62
FSL-25 @3.5 1-78 |Double Adhesive Tape| |TCBT-7 @4.0 1-62 4-40 UNC
FSS- @3.5 1-78 |Double Adhesive Tape| |BS- @4.0 1-63
FSSA-15 @3.5 1-78 BS-10-1 @4.0 1-63 | M3.5~M4 Screw
LCPLB-11 @3.5 @26 |[1-32 BS-20-1 @4.0 1-63 | M3.5~M4 Screw
MAF- @3.5 @35 [1-18 BS-35.7 @4.0 1-63 M3.5 Screw
MAD3.5-12 @3.5 @35 [1-19 MBS- @4.0 1-63
MAFA-6 @3.5 @35 [1-19 BSB-6 @4.0 1-64
MDLS-4.5 @3.5 @35 [1-19 BSCL-9.5 @4.0 1-64
MAMDD-6 @3.5 @35 [1-20 SRLCB- @4.0 1-64
LCI- @3.5 @35 [1-29 BSB632-15.9| @4.0 1-66 6-32 UNC
LDE-33 @3.5 @35 [1-30 BSC632- @4.0 1-66 6-32 UNC
CBCS-14 @3.5 @35 |1-34 BSCB- @4.0 1-66 M3x0.5P
LCD- @3.5 @35 |1-34 BSCB-20 @4.0 1-66 M3x0.5P
LCO- @3.5 @35 [1-34 BSCB4- @4.0 1-66 M4x0.7P
CBSS- @3.5 @35 |[1-37 BSCM4- @4.0 1-67 M4x0.7P
LCPA-8.2 @3.5 @4.0 |1-44 BSD632- @4.0 1-67 6-32 UNC
LCBU- @3.5 @48 [1-41 BSDM4- @4.0 1-67 M4x0.7P
KLCBM- @3.5 @4.8 [1-42 SS2- @4.0 1-74 M2.6 Screw
RCT- @35 |@4.8~05.0|1-10 SS2-2.5U @4.0 1-74 M2 Screw
RCH- @3.5 @55 |15 ASS- @4.0 1-79 |Double Adhesive Tape
RCTA-4.5 @3.5 @55 [1-10 LCBL-8 @4.0 1-79
DCCA-4.3 @3.7 1-51 ULCC- @4.0 1-80 M3 Screw
UCBS-5A ?3.8 @48 |1-44 ULCBM4-95 | @4.0 1-81 M4x0.7P
MSMA-3.5 @3.9 1-52 LCBA- @4.0 2.7x7.2 |1-42
MSP-15.9S @3.9 @3.9 [1-26 ULCH-1 @4.0 4.0x6.8 |1-81
MSPV-3 @3.9 @3.9 [1-27 LCSI-10 @4.0 5.5x5.5 |1-45
MSPY-12.7 @3.96 @3.96 |[1-27 KEML- @4.0 5.5x5.5 [1-88
MSPG3- @3.9~@4.0 1-127 M3x0.5P PCC-6 @4.0 6.0x7.0 |1-68
MSPG4- @3.9~@4.0 1-127 M4x0.7P PCC-11 @4.0 6.0x7.0 |1-68
MSPS- @3.9~@4.0 1-127 6-32 UNC RCFA-7 @4.0 6.3x6.3 [1-10
MSPS- @4.0 1-127 6-32 UNC KES-15 @4.0 6.5x7.0 |1-84
SCB- @4.0 1-128 6-32 UNC DMSP- @4.0 @4.0 |1-26
SCB-6SM3 @4.0 1-128 M3x0.5P DMSPS- @4.0 @4.0 |1-26




A A
@w B NI:] 7 M
Part No. A B Page Note Part No. A B Page Note
MSP- @4.0 @4.0 1-26 RCTL- @4.0 @5.4 1-11
MSP1- @4.0 @4.0 1-27 UCBSL- @4.0 @5.4 1-45
MSPM- @4.0 @4.0 1-27 RCMA-3 @4.0 @5.5 1-5
SP1-4.8 @4.0 @4.0 1-27 RCB- @4.0 @5.5 1-6
DMSA-9 @4.0 @4.0 1-28 RCB-11.5 @4.0 @5.5 1-6
SSDUA-16.5| @4.0 @4.0 1-28 RCBL-6 @4.0 @5.5 1-6
LCK-1 @4.0 @4.0 1-30 RCI-5 @4.0 @5.5 1-6
LCC- @4.0 @4.0 1-31 RCM- @4.0 @5.5 1-7
LCSF-15 @4.0 @4.0 1-33 RCMD-6 @4.0 @5.5 1-7
LCBJ-9 @4.0 @4.0 1-35 PCBS- @4.0 @5.5 1-9
LCFB-8 @4.0 @4.0 1-35 PCBS-3 @4.0 @5.5 1-9
LCTA- @4.0 @4.0 1-35 PCBT- @4.0 @5.5 1-9
LCEO- @4.0 @4.0 1-36 RCR-12.7 @4.0 @5.5 1-9
CBLSS- @4.0 @4.0 1-37 RBS- @4.0 @5.5 1-11
CBSB-45 @4.0 @4.0 1-38 RBT- @4.0 @5.5 1-11
LCL-3.2 @4.0 @4.0 1-38 RCF- @4.0 @6.0 1-7
LCGB-17.5 @4.0 @4.0 1-41 PCBTA-4.8 @4.0 76.0 1-9
LCSJ-16 @4.0 @4.0 1-43 RCFL- @4.0 @6.0 1-10
WBHB-1.8 @4.0 @4.0 1-68 ACBW-6.8 @4.0 @6.0 1-67
ULCE-9 @4.0 @4.0 1-83 ACBR-6 @4.0 @6.1~@6.4 | 1-60
MSPR-3 @4.0 @4.0 1-90 RCRA-9.5 @4.0 ?6.35 1-9
LCT-9 @4.0 @4.5 1-35 RCFB-10 @4.0 @6.5 1-10
DRCB-18 @4.0 | @4.5~@5.0 | 1-11 ACB- @4.0 @6.5 1-61
LCSH-9.5 @4.0 a4.7 1-43 MCB-6 @4.0 @6.5 1-61
LCSA- @4.0 @4.75 1-43 RCQC-7 @4.0 @7.0 1-24
RCD- @4.0 @4.8 1-6 WBHC-6.4 @4.0 @7.9 1-67
MSPK45- @4.0 @4.8 1-27 WBH- @4.0 @79 1-68
LCBM- @4.0 @4.8 1-31 SRLA- @4.1 @4.75~@4.8| 1-65
LCBD-12.7 @4.0 @4.8 1-35 BSB-8.5 @4.2 1-64
LCBZ- @4.0 @4.8 1-36 TCBT-19 @4.5 1-62 M3 Screw
CBS- @4.0 @4.8 1-38 MTD-11 @4.5 1-63
LCB- @4.0 @4.8 1-38 MBC-11 @4.5 @6.5 1-61
LCBSA- @4.0 @4.8 1-38 MBD-10 @4.5~04.8 @16.5 1-61
LCBB- @4.0 @4.8 1-39 LCBF-7.4 @4.75 @4.75 1-36
LCBS- @4.0 @4.8 1-39 MCL- @4.8 1-58
VCBS- @4.0 @4.8 1-39 SS- @4.8 1-73 M3 Screw
VCBSL- @4.0 @4.8 1-39 SSA-12.7 @4.8 1-74 M3 Screw
VCBA-14.4F | @4.0 @4.8 1-40 MSPK4.8- @4.8 @4.8 1-28
KLCBL- @4.0 @4.8 1-42 LCBY- @4.8 @4.8 1-36
LCBC-8 @4.0 @4.8 1-42 LCBYR-4.8 @4.8 @4.8 1-36
HLCS- @4.0 @4.8 1-43 MAFB5- @5.0 @5.0 1-19
LCS- @4.0 @4.8 1-43 SSDU- @5.2 @5.2 1-28
LCSD- @4.0 @4.8 1-44 RCWB-21 @5.3 @9.0 1-8
LCSL-4.8 @4.0 ?4.8 1-44 SSA4-55 @5.8 1-74 |M3.5 or M4 Screw
LCSLR-9.5 @4.0 @4.8 1-44 SSU4- @5.9 1-74 M3.5 Screw
LCP- @4.0 @4.8 1-44 SS3.5- @5.9 1-75 |M3.5 or M4 Screw
LCPD- @4.0 @4.8 1-44 SS4- @5.9 1-75 M4 Screw
LCY-4.8 @4.0 @4.8 1-44 SSUA4-6.3L @6.0 1-75 M4 Screw
UCBS- @4.0 @4.8 1-44 RCBC-12 @6.2 @9.0 1-8
ULCB- @4.0 @4.8 1-85
RCS- @4.0 @5.0 1-6
RCWA- @4.0 @5.4 1-8
PCBS-6.4 @4.0 @5.4 1-9
RCJ- @4.0 @5.4 1-11




2.2

!

@10 —

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

Part No. A | Package

RAM-6 6.35

RAM-7 7.0

RAM-8 8.0

RAM-8.5 8.5

RAM-10 10.0

RAM-12A | 12.0

RAM-12 12.7

RAM-13.5 | 13.5 1000
RAM-14 14.0

RAM-15 15.2

RAM-16 15.9

RAM-18 18.0

RAM-19 19.0

RAM-20 | 20.0

RAM-22 21.7

RAM-24 | 24.0

RAM-25 | 254 500
RAM-30 | 30.0

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

»\(2)3.7\«

.

1
LQSH T

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

PartNo. | A | Package
RAMA-3 |32
RAMA-4.5 |45 1000
RAMA-5.5 |5.5

i

‘R 29.5

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

Part No. | A | Package
RAD-3 |3.0
RAD-4 |4.0 1000
05
[Te)
i

N5

~—@9.7—

MOUNTING HOLE @5.5
THICKNESS 1.2~1.8

Part No. Package
RAM-13.5L 1000
gkl

i)

MOUNTING HOLE @5.5
THICKNESS 1.6~2.5

R+ —E AR E > 77— 33
PCHg » # %, T [g 3 42 % » PCAK
AT o

~{03.7
1

/Y

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

J f

A

Part No. A | Package
RAMA-6.4 6.4
RAMA-7 7.0
RAMA-7.5 75
RAMA-9.5 9.5 1000
RAMA-11.1 |11.1
RAMA-12.7 |12.7
j®4.6’+

I

‘% @9.5

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

Part No. A | Package
RAD-6 6.3
RAD-8 8.0
RAD-10 |10.0 1000
RAD-11 |11.0
T
<«
RN

LQHO——

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

Part No. | A | Package

RAM-3 |35

RAM-5 |5.0 1000
PartNo. | A | B | Package
RAML-11 |11.0|3.0
RAML-12 |12.0|2.45 1000




- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
-~ @4.8 ‘*
T |
<
e

o

MOUNTING HOLE @5.5
THICKNESS 1.2~1.8

| 849 ~ @4.9 -
j }
o~
~ ~
o R
S —
N
‘% 10 Jj — 9.5 —

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.0

Part No. | Package Part No. | Package
RAS-7 1000 RAS-7.2 1000
ﬁ®3.75
<

E%&?

9.8 —

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

A
o
P

MOUNTING HOLE @3.5
THICKNESS 1.6

R — B R MAR L > 5 — o X
PCHR » # %, T 438 M A% > PCIR
F I -
Part No. A | Package
RAS-6 6.0
RAS-8 8.0
RAS-10 | 10.0
RAS-12 | 12.0| 1000
RAS-14 | 14.0
RAS-18 | 18.0
RAS-20 | 20.0
f
<
0
HRms B
o~
T
~—— 2104 —
MOUNTING HOLE @5.5
THICKNESS 1.2~1.8
Part No. | Package
RAS-5 1000
Part No. A B | Package
RAMC-125 | 125 25
RAMC-155 | 155 | 25
RAMC-18-4 | 18.0 | 4.0
RAMC-18-8.5 | 18.0 | 85 1000
RAMC-19 190 | 25
RAMC-24 240 | 25

it : RAPCBXEZE R » B

FAE 2 o
Part No. A B | Package
EDC-4 40| 25
EDC-5 50| 25
EDC-6 6.0 25
EDC-7 70| 25
EDC-8 80| 25
EDC-9 90| 25
EDC-10 100 | 25
EDC-114 1141 25 1000
EDC-12.7 127 | 25
EDC-135 | 135 25
EDC-145 | 145 25
EDC-15 150 | 25
EDC-15-4 | 150 | 4.0
EDC-159 159 25




AR —mEEABRE B — X HF
s 3 22 3% X 45 s
- Material: Nylon 66 (UL) gij’é'[, SE%%TFQLEE&‘%% PO
- Flame Class: 94V-2/94V-0 =
+ Color: Natural/Black

« Unit: mm
@4.3
=
@t
Lgg—| <
- g9+ 7 Part No. | Package
MOUNTING HOLE @4.8 RAMD-15.5 1000
THICKNESS 1.6
~ @51
Oog |
(o2}
- 68 \:jig
~— 10 — Part No. | Package
MOUNTING HOLE @5.6 RAMB-9 1000
THICKNESS 0.8~1.6
- Material: Nylon 66 (UL) A : BERPCRAHEARE » FEREHK
« Flame Class: 94V-2/94V-0 RIERR s SBLEE o
« Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.0
THICKNESS 1.6

Part No. | Package

RCI-2.6 2000
MOUNTING HOLE @4.0
THICKNESS 0.5
MOUNTING HOLE @3.0 MOUNTING HOLE @3.0
THICKNESS 1.6 THICKNESS 1.6~2.0

MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 0.6~0.8 THICKNESS 0.8~1.2
Part No. | Package Part No. | Package

RCO-2.5 2000 RCO-2.5L | 2000




A& : BZPCR™ MR E » FE R BHK
% N 5, 5g ¥ wg °
- Material: Nylon 66 (UL) A TRLR
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.0
THICKNESS 1.6

© Part No. A B | Package
—5 RCA25U | 25 | 1.8
B i RCA-25 | 25 | 20
z/ 1 RCA-3 32 | 20
Bt RCA-4 40 | 20 | 2000
RggJﬁ RCA45 | 45| 2.0
MOUNTING HOLE @4.0 MOUNTING HOLE 4.0 RCAS 50 | 20
THICKNESS 0.8~1.6 THICKNESS 0.8~1.6 RCA-5.5 55 | 2.0
[ RCA-2.5,RCA-2.5U ]
Part No. A T | Package
e ]
MOUNTING HOLE @3.0 MOUNTING HOLE @3.0 - : :
THICKNESS: T THICKNESS: T RCA-7 70|16
RCA-75 75|16
S
< o RCA-8 80| 16
@ﬁ RCA-8L 8.0 1.83
j[T RCA-9 9.0 | 1.6
ﬁ < 4/ \XT RCA95 | 9516
RCA-10 | 100 | 1.6
'
4/ | — N 7 o RCA-11.1 | 11.1 | 1.6 1000
S -8 RCA-12 | 120 16
L RCA-127 | 127 16
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0 .
THICKNESS 1.6~2.2 THICKNESS 0.8~1.6 RCA-14 140 | 16
[ RCAG55 ) RCA-155 | 155 | 1.6
A RCA-16 | 16.0 | 1.6
RCA-655 | 65.5 | 1.6

MOUNTING HOLE @3.0
THICKNESS 1.6

. s

3 T

= B

< <
NI .o
L @9.7 H‘J L @9.7 Q‘J

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

MOUNTING HOLE @3.0

THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

Part No. A | Package
Part No. A | Package RCC-8 8.0
RCC-5 5.0 2000 RCC-10 |10.0| 1000
RCC-6 6.3 RCC-12 | 127




Ai& : BXPCR™HRE » TR DK
B2 . b ¥ 95 o
- Material: Nylon 66 (UL) RS MRAR
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.2~1.7 Part No. A | Package
4 RCG-35 | 35
I RCG5 | 48
[ RCG-6.35 | 6.35
L - RCG7 | 7.0
Z/ \X | RCG8 | 80 | 1000
st RCG-10 | 100
L ggBjT RCG-11 11.0
RCG-12.7 |12.7
THICKNESS 0618 RCG-15.9 | 15.9

MOUNTING HOLE @3.2

MOUNTING HOLE @3.2 THICKNESS 1.6
THICKNESS 0.8~1.0
s
»
N
0 }
@©
4[ S
R
R
MOUNTING HOLE @4.0 MOUNTING HOLE @4.8
THICKNESS 1.8 THICKNESS 1.2~1.4
Part No. | Package Part No. | Package
RCMB-2.8 | 1000 RCCA-8 1000

MOUNTING HOLE @3.5 MOUNTING HOLE @3.5

THICKNESS 1.? THICKNESS 1.6 PatNo, | A | Package
o
® @ @ RCH-3.5 35
N N
1 T RCH-5 48
1 L T RCH-6.35 | 6.35
< < RCH-7 7.0
dbl Q0L feeae
S 5 o~ = = o~ -
7‘*7 — | .
|05 — 95— | RCH-11 | 11.0
MOUNTING HOLE @55  MOUNTING HOLE @55 | RCH-12.7 |12.7
THICKNESS 0.8~1.2 THICKNESS 0.8~1.2 RCH-15.9 |15.9
[ RCH-3.5~RCH-8 ] [ RCH-10~RCH-15.9 ]
MOUNTING HOLE @4.0
THICKNESS 1.2~1.6
Y
©
o
7,
L1 -
e Part No. | Package
‘ |« RCMA-3 | 1000
- @98 —

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6



- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @4.0

THICKNESS 1.7

A\RAJ%L

C 0 0 +
— 11 — m
—Ir

@c —

A« B ZPCRMBEIRLE » TR H#
REI » SMRE R o

MOUNTING HOLE @4.0
THICKNESS 1.0~1.8

'
To)
=

< &
B—

IR
SNINESZ I
—
@
[9N]

~— @9.5 —

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

[ RCD-3,RCD-4 ]

MOUNTING HOLE @4.0
THICKNESS 1.0~1.8

3.15

FAJ

ol

s u
=0 e

~— 9.5 —

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

]

MOUNTING HOLE @5.0

THICKNESS 0.8~1.8

Part No. A | B | C | Package
RCS-6 6.0]23| 9.7
RCS-13.8 | 13.8|2.2|10.0| 1000
RCS-16 |16.0|23| 9.7

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

[ RCB-3~RCB-8 ]

MOUNTING HOLE @4.0
THICKNESS 1.6

A4 ‘«

Y

|

I
!

4
i

(S
ey
[
w

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

PartNo. | A | Package PartNo. | A | Package
RCB-3 35 RCB-12 |12.7

RCB-5 5.0 RCB-15 |15.9| 1000
RCB-6 6.35| 1000 RCB-19 |19.0

RCB-8 8.0 RCB-25 |25.4 500
RCB-10 |10.0 RCB-35 |35.5

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

Part No.

Package

RCI-5

1000

PartNo. | A | Package
RCD-3 3.0

RCD-4 4.0

RCD-6 6.3

RCD-8 8.0 1000
RCD-10 |10.0

RCD-11 | 11.0

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

- Material: Nylon 46 (UL)
+ Flame Class: 94V-2

- Color: Black
Part No. Package
RCB-11.5 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 2.0~3.0

Part No.
RCBL-6

Package
1000




A&« B ZPCRMBERLE » TR HH

Ba N I 2 a@ o
+ Material: Nylon 66 (UL) RS 0 PR A R

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
Part No. A T Package
RCM-6 6.35|0.8~1.6
RCM-6L 6.35| 1.6~2.0
RCM-7 70 |0.8~16
MOUNTING HOLE @4.0
RCM-8 8.0 |0.8~16
THICKNESS 1.2~1.7
MOUNTING HOLE @4.0 RCM-8.5 85 [0.8~16

THICKNESS 1.2~1.7

o
s I

RCM-10 |10.0 | 0.8~1.6
RCM-12A | 12.0 | 0.8~1.6
RCM-12 127 | 0.8~1.6
RCM-13.5 | 135 | 0.8~1.6

‘-—A——u31

et i % RCM-14  [140 [08-16| 1000
— i RCM-15 | 152 |0.8~16
e L @10 RCM-16 | 159 | 0.8~16
MOUNTING HOLE @5.5 MOUNTING HOLE @5.5 RCM-18 18.0 | 0.8~1.6
THICKNESS 0.8-1.6 THICKNESS: T RCM-19 |19.0 | 0.8~16
RCM-20 |20.0 |0.8~16
PartNo. | A | B | C | Package RCM-22 217 | 0.8~16
RCM-3 | 3522100 RCM-24 | 240 |08~16
RCM-5 | 5.0[22100] 1000 RCM-25 | 254 |0.8~16
RCM-5SP | 5.0 [ 15| 8.0 RCM-30 |30.0 |0.8~16

MOUNTING HOLE @4.0
THICKNESS 1.8

'
—
<

A Part No. | Package
95— RCMD-6 1000

MOUNTING HOLE @5.5
THICKNESS 0.5~2.0

43.1L 6

MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 1.2~1.7 THICKNESS 1.2~1.7
; Part No. A | Package
- m = RCF-5 | 50
—F T RCF-5S | 5.0 | 2000
I 7] L RCF6 | 6.35
HIRRWARY RCF-8 | 80
N IR RCF-10 |100 | o
L 78 J S| ] RCF-12 |12.7
— g1 — RCF-15 |15.9

MOUNTING HOLE @6.0
THICKNESS 0.8~1.6 MOUNTING HOLE @6.0
[ RCF-55 ] THICKNESS 0.8~2.0




R : BEPCRIER L A g REH

Ba N I 2 G@ o
+ Material: Nylon 66 (UL) RS 0 SMIRA R

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.2
THICKNESS 1.6 %ﬁg%lﬂz\ls(;s I-ll%LE 6.2
{
© T
< [ee)
< 4£
|2 | 2
v oy«
L 29.5 J ‘H @15.9 J
MOUNTING HOLE @4.8 MOUNTING HOLE @9.0
THICKNESS 1.5~1.6 THICKNESS 1.4
Part No. A | Package Part No. | Package
RCBS-6.5 | 6.5 RCBC-12 1000
RCBS-9.5 | 95| 1000
RCBS-12.7 | 12.7
MOUNTING HOLE @3.2
MOUNTING HOLE @3.2 THICKNESS 1.7
THICKNESS 1.6
3
?29.2— &8
—
MOUNTING HOLE @4.8 MOUNTING HOLE @4.8
THICKNESS 1.5~1.6 THICKNESS 1.7
Part No. | Package Part No. | Package
RCV-11.1 1000 RCR-3.2 1000
MOUNTING HOLE @3.2 MOUNTING HOLE @4.0
THICKNESS 1.2-1.7 THICKNESS 1.6
MOUNTING HOLE @5.3
THICKNESS 1.6
MOUNTING HOLE @4.8 MOUNTING HOLE @5.4
THICKNESS 1.5~1.6 THICKNESS 1.5~1.6
Part No. A | Package Part No. A | Package
RCW-6.5 | 6.5 RCWA-6.4 | 6.4
RCW-79 | 7.9 RCWA-9.5 | 95
RCW-9.7 | 97 RCWA-12.7 | 12.7 MOUNTING HOLE 9.0
RCW-11.1 |11.1| 1000 RCWA-15.9|15.9| 1000 THICKNESS 1.8
RCW-12.7 |12.7 RCWA-19 |19.1
RCW-14.3 |14.3 RCWA-22.2 | 22.2 Part No. | Package
RCW-15.9 |15.9 RCWA-25.4 | 25.4 RCWB-21 1000




Ai& : BXPCR™HRE » TR DK
B2 . b ¥ 95 o

- Material: Nylon 66 (UL) RS MRAR

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm MOUNTING HOLE @4.0

MOUNTING HOLE @4.0 THICKNESS 1.2~1.6

THICKNESS 1.2~1.7

MOUNTING HOLE @6.35

THICKNESS 1.0~1.5

Part No.
RCR-12.7

Package
1000

Part No.
RCRA-9.5

Package
1000

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

1

;

r
[N
———
R

MOUNTING HOLE @5.5
THICKNESS 1.0~1.7

g

©
—
!

MOUNTING HOLE @6.0
THICKNESS 0.8~1.2

Part No. | Package PartNo. | A | Package
PCBTA-4.8 | 1000 PCBT-48 | 4.8 1000
PCBT-10 |10.0

MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0
THICKNESS 1.6

Lol

5

<
o~ ©
o i
~— @10 — ‘e @12.7 :!
MOUNTING HOLE @5.5 MOUNTING HOLE @5.4
THICKNESS 0.8~1.6 THICKNESS 1.2~2.0

~1

Part No. | Package Part No. | Package
PCBS-3 | 1000 PCBS-6.4 | 1000
MOUNTING HOLE @4.0
THICKNESS 1.6
V1
o
T Part No. A | B | Package
— PCBS-6 6.3|16
< PCBS-8 7921
e PCBS-10 [10.0[2.1| 1000
LJ ! PCBS-12A [12.0]2.1
210 PCBS-12 |12.7|16
MOUNTING HOLE @5.5
THICKNESS 1.0~1.7




Rig : BZPCHRIHKARE > FERHEK
Ba N I 2 a@ o
- Material: Nylon 66 (UL) BRI SMRE R

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black MOUNTING HOLE @4.0

-
S « Unit: mm THICKNESS 1.6
e MOUNTING HOLE @4.0 —
= THICKNESS 1.6 [
@ @ =
0 [%
<<
[T} i 2
==t I N&‘i,)uﬁ;f
‘% @104 ‘k @10 a‘
MOUNTING HOLE @6.0 MOUNTING HOLE @6.0
THICKNESS 0.8~1.2 THICKNESS 0.8~1.2
Part No. A | Package Part No. A | Package
RCFL-4.8 | 4.8 1000 RCFL-8 8.0
RCFL-6.4 | 6.4 RCFL-9.5 9.5

RCFL-12.7 | 12.7 1000
RCFL-15.9 | 15.9
RCFL-19 19.0

MOUNTING HOLE @4.0
THICKNESS 1.6

4L10

15

LlO

j:t Part No. | Package
‘%QlO# RCFB-10 1000
MOUNTING HOLE @65

THICKNESS 1.6~2.0

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package

MOUNTING HOLE RCFA-7 1000
THICKNESS 1.6

MOUNTING HOLE @35 kRSS9 73
THICKNESS 1.6~1.8 -

I o
MOUNTING HOLE @4.8~@5.0
THICKNESS 1.2~1.7

MOUNTING HOLE @5.5
THICKNESS 0.8

Part No. | Package PartNo. | A | Package
RCTA-4.5 1000 RCT-45 | 45
RCT-8 7.9 1000




AR BRPCRMR L » &R B%
ﬁ N I 2 Ga o

+ Material: Nylon 66 (UL) BRI 0 SMIE R

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @4.0

+ Unit: mm
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS 1.2~1.7 L
v h
— i

iy

e
t

It

|
L@Q.GJ MOUNTING HOLE @5.4
MOUNTING HOLE @5.4 THICKNESS 08-16

=
-
iif

Tk
f
Q
]

THICKNESS 2.0 Part No. A | B | Package
Part No. A | C | Package RCJ-8 8021
RCTL-6S | 6.0] 3.9 RCJ-10 |10.0| 1.7 1000
RCTL-6 6.3|4.0 | 1000 RCJ-12 [120]17
RCTL-12 |12.0| 3.9 RCJ-12.7 | 127 | 1.7

MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0 THICKNESS 3.0 MOUNTING HOLE @5.5
THICKNESS 1.2~1.6 THICKNESS 1.2~1.8

i Part No. A | Package
4 RBS-5 5.0
i ﬁ RBS-6 6.0
| < RBS-7 | 7.0
I J ~ RBS-8 8.0
Bt RBS-10 | 10.0
| ; RBS-11 | 11.0
@10
MOUNTING HOLE @5.5 MOUNTING HOLE @5.5 RES12 | 12.0 .
THICKNESS 12-16 THICKNESS 1.2-1.6 RBS-14 | 14.0
% RBS-16 | 16.0
Part No. A | Package Part No. A | B | Package RBS-18 | 18.0
RBT-19 19.0 1000 RBT-16L | 16.0 | 1.8 1000 RBS-20 | 20.0
RBT-28.2 | 28.2 RBT-25L | 25.0 | 2.0 RBS-23 | 23.0
+ Material: Nylon 66 (UL) Rig : ANZBPCIK » MK X E R
+ Flame Class: 94V-2/94V-0 AR~ BB R o
« Color: Natural/Black
+ Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.5
THICKNESS 1.6

i Part No. | Package
Siigni: DRCB-18 1000
9.5+
MOUNTING HOLE @5.0

THICKNESS 1.6




MOUNTING HOLE @2.0
THICKNESS 1.0

T
0
<t

i

1.75

PANN

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. | Package

RCAB-4.55 | 1000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.0
THICKNESS 1.6

=
r@wﬁ:
<<
4

N

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package

RCAB-3 3.2
RCAB-4 4.0
RCAB-45 | 45 1000
RCAB-5 5.0
RCAB-55 | 55

MOUNTING HOLE @2.5
THICKNESS 1.6

=l

1
i

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package

RCAC-3 3.0
RCAC-4 4.0
RCAC-45 | 45 1000
RCAC-5 5.0
RCAC-55 | 55

R : BEPCRIER L A g REH

W& > SR E R o

MOUNTING HOLE @2.0
THICKNESS 1.6

@—f
og ]
i

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

|

1.74

Part No. A | Package
RCAB-6 6.0
RCAB-6.4 6.4
RCAB-7 7.0
RCAB-7.5 75
RCAB-8 8.0
RCAB-9 9.0
RCAB-9.5 9.5 | 1000
RCAB-10 10.0
RCAB-11.1 | 11.1
RCAB-12 12.0
RCAB-12.7 | 12.7
RCAB-14 14.0
RCAB-16 16.0

MOUNTING HOLE @2.5
THICKNESS 1.6

1 0

A

1
P

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package
RCAC-6 6.0
RCAC-6.4 6.4
RCAC-7 7.0
RCAC-7.5 75
RCAC-8 8.0
RCAC-9 9.0
RCAC-9.5 9.5 | 1000
RCAC-10 | 10.0
RCAC-11.1 | 11.1
RCAC-12 | 120
RCAC-12.7 | 12.7
RCAC-14 | 140
RCAC-16 | 16.0




AR : PCREPCHRHIZ B Z » FAEZEMH

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @15
+ Unit: mm THICKNESS 1.0
i
N
R
]
b
o~ Part No. A | Package
-t

MASSD-14 |14.0{ 2000

MOUNTING HOLE @1.5 MASSD-18 |18.0 1000
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 0.7

MOUNTING HOLE @2.0
THICKNESS 1.6

Part No. A | Package

MADS-6.5 6.5| 2000

MADS-19.2 |19.2| 1000

MOUNTING HOLE @1.6
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 1.6

Part No. | Package
MADSA-3 1000

MOUNTING HOLE @1.6
THICKNESS 1.5

)

=l

-

15

=
.

MOUNTING HOLE @2.0
THICKNESS 1.6

Part No. | Package
MAS-9 1000

MOUNTING HOLE @2.0
THICKNESS 1.0

.

=

gl addig

MOUNTING HOLE @2.0
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 2.0

Part No. | Package

MADSB-3 2000

MOUNTING HOLE @1.7
THICKNESS 1.7

1.6

!

MOUNTING HOLE @1.7
THICKNESS 1.7

Part No. Package

MAD1.7-9.8 | 1000

PartNo. | A | Package

MOUNTING HOLE @2.0
THICKNESS 1.0~1.2

MOUNTING HOLE @2.0
THICKNESS 1.0~1.2

MAD1-3 | 3.0{ 2000

Part No. Package

MAD1-19 [19.0{ 1000

MAD1.2-12.9] 1000




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

THICKNESS 1.6

~
N MOUNTING HOLE @2.0
o THICKNESS 1.6
0 2.55
[e2]
JL Part No. | Package
7 MOUNTING HOLE @2.0 MADX-9.5 | 1000
~

MOUNTING HOLE @2.0
THICKNESS 1.2

i

VAN

U

MOUNTING HOLE @2.0
THICKNESS 1.2

L

T
1.85

1.

1.75
85

i
U—i

1

MOUNTING HOLE @2.0 MOUNTING HOLE @2.0
THICKNESS 1.2 THICKNESS 1.2
Part No. | Package Part No. | Package
MAD1.2-6 1000 MAD1.2-8 1000
MOUNTING HOLE @2.0
THICKNESS 1.6
b
o
T
T
j PartNo. | A | B | C | T | Package
4 MADB-35 |35/2.0{20(0.9 2000
© MADB-6 |6.0 191908
MOUNTING HOLE @2.0
THICKNESS: T
Part No. A | Package
MOUNTING HOLE @2.0 MOUNTING HOLE @2.0 | MAD-16 16
THICKNESS 16 THICKNESS 1.6 MAD-2.2 2.2
—1r MAD-3 3.0
G)
—T — MAD-3.5 3.5
—r 5 MAD-4 4.0
< < MAD-5 5.0
- e MAD-6 | 60
o 45 MAD-6.5 6.5 2000
- — MAD-7 7.0
MOUNTING HOLE @2.0 MOUNTING HOLE @2.0 | MAD-8 8.0
THICKNESS 1.6 THICKNESS 1.6 MAD-10S | 10.0
[ MAD-14 ] MAD-10 10.5
MAD-12.5 | 12.5
MAD-14 14.0
MAD-25 25.0




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.0 LG A | Package
THICKNESS 1.0 ' MAMDA-1.6 16

MAMDA-25 | 25
MAMDA-32 | 32
MAMDA-4 4.0
MAMDA-48 | 48
MAMDAS5 | 55
MAMDA-64 | 6.4
MAMDA-7 7.0
MAMDA-7.9 | 7.9
MOUNTING HOLE @2.5 MAMDASS | 22
THICKNESS 16 MAMDA-10 | 10.0
MAMDA-12.7 | 12.7

1000

% A 4%1.6

MOUNTING HOLE @2.2
THICKNESS 1.6

Part No. | Package
MAHA-7 1000

SR

MOUNTING HOLE @2.2
THICKNESS 1.6

MOUNTING HOLE @2.5
THICKNESS 1.0

4
N
F
T
©
% Part No. | Package
T~ MADJ-6 2000
Tt
MOUNTING HOLE @25
THICKNESS 1.6
MOUNTING HOLE @25 MOUNTING HOLE @25
THICKNESS 0.6 THICKNESS 1.6
N
fpm— —
\ ]
N
3 3
8
ot — o
@*Nr y i
MOUNTING HOLE @25 MOUNTING HOLE @25
THICKNESS 0.6 THICKNESS 1.6
Part No. | Package Part No. | Package

MADA-18S 2000 MADAA-14 1000




AR : PCREPCHRHIZ B Z » FAEZEMH

R

Part No. | A | Package
MADA-6L | 6.0

MADA-7.9L | 7.9 2000
MADA-9.5L [9.5] 1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @2.5
« Unit: mm THICKNESS 1.8

MOUNTING HOLE @2.5
THICKNESS 1.8

MOUNTING HOLE @2.5 MOUNTING HOLE @2.5 PartNo. | A | Package PartNo. | A | Package

THICKNESS 1.6 THICKNESS 1.6 MADA-2 2.0 MADA-9 9.0
i N MADA-3  [3.0 MADA-10 |10.0
mf @4 MADA-3-1 |3.0 MADA-11 | 11.0
— o MADA-35 |3.5 MADA-12 |12.0

< < MADA-4 4.0 MADA-12.7[127|
w N @ L MADA-5 |5.0]| 2000 MADA-14 |14.0
o~ ~ MADA-6 6.0 MADA-16 |16.0
f - f MADA-6.7 |6.7 MADA-18 |18.0
MOUNTING HOLE @2.5 MOUNTING HOLE @2.5 MADA-7 7.0 MADA-20 |20.0
THICKNESS 1.6 THICKNESS 16 MADA-8 |80 MADA-22 | 22.0

[ MADA-3-1 ] MADA-8.5 |85
MOUNTING HOLE @2.5

e

!
|

-
@j MOUNTING HOLE @2.5

THICKNESS 1.6

1.85

1.85

MOUNTING HOLE @2.5 MOUNTING HOLE @2.5

THICKNESS 1.7 THICKNESS 1.2-1.7
Part No. | A | Package
Part No. | Package Part No. | Package MADM-2.7S | 2.7 2000
MAMDF-7 | 1000 MAMDL-9 | 1000 MADM-3S [3.0
MOUNTING HOLE @2.5
THICKNESS 1.6 MOUNTING HOLE @25  MOUNTING HOLE @25 | PartNo. | A | Package
‘ THICKNESS 1.6 THICKNESS 1.6 MADM-2 | 2.0
T~ MADM-3 | 3.0
T ! MADM-4 | 4.0
%ﬁ 4@_ > MADM-45 | 45
o - I MADM-5 | 5.0
0 E@» | o MADM-6 | 6.0
7; i — 2 MADM-65 | 65| 2000
[ < | MADM-75 | 7.5
MADM-8 | 8.0
O s 1oLE @25 MOUNTING HOLE @25  MOUNTING HOLE @25 | MADM-9.5 | 9.5
: THICKNESS 1.6 THICKNESS 1.6 MADM-10A 1 10.0
Part No. | Package [ MADM-2, MADM-3, MADM-10 |10.5

MADM-12.7 | 2000 MADM-4.5 ] MADM-27 | 27.0




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

MOUNTING HOLE @2.5
THICKNESS 1.6

Part No. | Package

MADAB-4.3 | 1000

« Unit: mm
MOUNTING HOLE @2.5
MOUNTING HOLE @2.5 THICKNESS 1.6
THICKNESS 1.0
=
[an]
(@)
S
[
MOUNTING HOLE @2.5
MOUNTING HOLE @2.5
THICKNESS 1.6 THICKNESS 1.0
Part No. | Package Part No. B | C | Package
MADE-2.8 1000 MAC-40 18112 500
MAC-40S | 15| 1.0
MOUNTING HOLE @2.5 MOUNTING HOLE @2.6
THICKNESS 2.0 THICKNESS 1.6
MOUNTING HOLE @2.5 MOUNTING HOLE @2.6
THICKNESS 2.0 THICKNESS 1.6
Part No. | Package Part No. A | Package
MAHC-14.3 1000 MAHC-6.4S 6.4
MAHC-9.5S 9.5
MAHC-12.7S | 12.7 1000
MAHC-15.9S | 15.9
MOUNTING HOLE @2.6 MOUNTING HOLE @2.6
THICKNESS 1.0 THICKNESS 1.0
- }

% %7 3
] it
™« ~N
< 10 o
13 m T,

f

MOUNTING HOLE @2.6
THICKNESS 1.0

Part No. | Package
MADM1-2.2 2000




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm
N MOUNTING HOLE @3.0
* THICKNESS 1.2

Part No. | Package
MADL-27.8 1000

& MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.0
THICKNESS 1.2

Part No. | Package
Q ; MOUNTING HOLE @3.0 MAMDC-12 | 1000
~—S THICKNESS 1.6

MOUNTING HOLE @3.1
THICKNESS 1.4~1.6

Part No. | Package
ot MADD-2 1000
§

MOUNTING HOLE @3.0
THICKNESS 1.45~1.6

@ o~ MOUNTING HOLE @3.2
THICKNESS 1.6

24

Part No. | Package
MADN-24 1000

{J)—&  MOUNTING HOLE @3.2
“——t  THICKNESS 16

MOUNTING HOLE @3.5

THICKNESS 1.6 PartNo. | A | Package
Part No. | A | Package MAF-10 |10.0
T’ MAF-2 |20 MAF-11 |11.0
— MAF-3 3.0 MAF-12 | 12.0
< MAF-4 4.0 MAF-14 |14.0
i
i MAF-5 |5.0] 1000 MAF-16 | 16.0 1000
™ MAF-6 | 6.0 MAF-18 |18.0
MAF-7 7.0 MAF-20 |20.0
MOUNTING HOLE @3.5 ) _
THICKNESS 1.6 MAF-8 8.0 MAF-22 |22.0




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.5

THICKNESS 16 MOUNTING HOLE @3.5

MOUNTING HOLE @3.5 THICKNESS 1.6

THICKNESS 2.1

LTl

b=
U=

%@?L

t

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @3.5
THICKNESS 2.5

Part No. | Package Part No. | Package Part No. | Package
MAD3.5-12 | 1000 MDLS-4.5 1000 MAFA-6 1000
MOUNTING HOLE @5.0
THICKNESS 0.8
¢ _
o
=
f
§< @ PartNo. | A | B | Package
t MAFB5-0.8 {0.8|11.8
™ 500
e MAFB5-9.7 | 9.7 | 20.7

MOUNTING HOLE @5.0
THICKNESS 4.0

MOUNTING HOLE @1.5

THICKNESS 0.8 MOUNTING HOLE @2.5

THICKNESS 1.0

[9N]
— —+
o o 3
™ < «
T
s I
°’. 0
N ™

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @3.0
THICKNESS 1.0

MOUNTING HOLE @4.0

Part No. | Package Part No. | Package
MAEB-3.2 1000 MAEE-4.5 1000
MOUNTING HOLE @3.0
THICKNESS 1.0
]
<
N
Part No. B | T | Package
o MAEA-3.5M |35]|1.6
MAEA-3.5 6.0(12
1
MOUNTING HOLE 048 |ecrSSL 160 10 o
THICKNESS: T © | MAEA-35LS |4.1|16

THICKNESS: T
[ MAEA-3.5M ]




- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

THICKNESS 1.0

p A =

H-h

MOUNTING
THICKNESS 1.6

MOUNTING HOLE @2.5
THICKNESS 1.6

MOUNTING HOLE @3.0
THICKNESS 1.6

HOLE @3.

AR : PCREPCHRHIZ B Z » FAEZEMH

MOUNTING HOLE @1.5

Part No.
LCMB-8

Package
1000

0

MOUNTING HOLE @3.5
THICKNESS 2.4

ik

e

L]
[ ]

PY

N

—|

MOUNTING HOLE @3.5
THICKNESS 1.6

Part No. | Package

Part No. | Package

LCMC-7 1000

1000

MAMDD-6

MOUNTING HOLE @2.5
THICKNESS 1.6

o
DK
uE

s
MOUNTING HOLE @2.5
THICKNESS 1.6

< —+55
—
t

MOUNTING HOLE
THICKNESS: T

o

5.32

i
=

~+-0.5

6.33

018

ol

~1.7

’

]
Josh

MOUNTING HOLE
THICKNESS 1.0~1.5

?1.1 \lz% 825

MOUNTING HOLE

Part No.
MADMK-5

Package
2000

Part No.
KVD-05
KVD-10

Package

500

0.5
1.0

35
3.6

3.4
3.5




R BB ZPCRAMEMKE » E TR

ol ia =2 s F¥ [ o
- Material: Nylon 66 (UL) THE > MEMIER

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

- Patented (% #] &)

MOUNTING HOLE @3.2
THICKNESS 1.6

0
-~ 25+ - @5+ <
BRASS J@Lﬁ PartNo. | A | B | Package
NUT < o MSPP-3 |3.0]10.0
ﬁﬁ_ U MSPP-4 |4.0|11.0| 1000
r 2 ;4 MSPP5 |5.0]12.0

MOUNTING HOLE @32  PIN
THICKNESS 1.6

BODY

AR : PCREPCHRHIZ B E » F4EZM

- Material: Nylon 66 (UL)

» Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @3.0
THICKNESS 1.6 ©

o5 ~ @57

W03

6

MOUNTING HOLE @3.0 %’
MOUNTING HOLE @3.0 THICKNESS 1.7 < @
THICKNESS 1.1 045 - - g5+ il
© ' ' MHSB ©
@45~ | F@5+ T | o < e |
“ ‘ =R o MOUNTING HOLE @30  PIN
o R 0 THICKNESS 1.6
R = b BODY
~ 1
o
- F MOUNTING HOLE @3.0 Part No. A B Package
2 THICKNESS 1.7 PIN
MOUNTING HOLE @3.0 o MSPF3-6.4 | 6.35 15.75
THICKNESS 1.7~2.0 BODY VISPF3-8 79 1173
BODY Part No. A | Package MSPF3-10 [10.0 [19.4 | 2000
Part No. Package MSPC3-3.2 1.6 1000 MSPF3-12.7 |12.7 |22.1
MSPC3-3.2L | 1000 MSPC3-3.2M | 3.0 MSPF3-15.9 [15.9 [25.3
MOUNTING HOLE @3.2
THICKNESS 0.9 o

16"

15.9

Part No. | Package
MSPB3.2-6.4| 1000

P wyiryl

MOUNTING HOLE @3.2  PIN
THICKNESS 1.7

BODY




AR : PCREPCHRHIZ B Z » FAEZEMH

- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @3.3

MOUNTING HOLE @3.3 THICKNESS 1.6

THICKNESS 1.57

[Te)
g5 038 W 25 I~ 150y
| =SEEE
. g By
o - © ™ ()]
= = :
o ||
[s2]
JgezL : g2 13 ]
- ™ PIN
MOUNTING HOLE @3.2 PIN MOUNTING HOLE @3.2
THICKNESS 1.72 THICKNESS 1.8
BODY BODY
Part No. | Package Part No. | Package
MSPB-8 1000 MSPB-8L 1000
MOUNTING HOLE 23.3
THICKNESS 1.6
@5,
¥
©
T~
N~
o Part No. | Package
MSPF3.3-8L| 1000
MOUNTING HOLE @3.3 PIN
THICKNESS 2.44
BODY
MOUNTING HOLE @3.3
THICKNESS 1.6
‘ @5 |- - @5
-
[{e)
<< ™
| Part No. A B | Package
I MSPF3.3-8 8.0|17.35 2000
- MSPF3.3-17.5 | 17.5 [ 26.3
MOUNTING HOLE @33  PIN

THICKNESS 1.6
BODY

MOUNTING HOLE @3.3
THICKNESS 1.6

MOUNTING HOLE @3.3
THICKNESS 1.6

MOUNTING HOLE @3.3
THICKNESS 2.2

TQMZ *‘QS*

+ il {05,
1t : : |
2 4 =
© @ =<}
— - —
l [9N]
I
PIN

MOUNTING HOLE ®3.3

THICKNESS 1.6

BODY
Part No. | Package
MSPCA-16 | 1000

MOUNTING HOLE @3.3
THICKNESS 1.6

MOUNTING HOLE @3.3

BODY BODY
Part No. Package Part No. Package
MSPCA3.3-12S| 1000 MSPCA3.3-12| 1000

THICKNESS 1.6




AR : PCREPCHRHIZ B Z » FAEZEMH

« Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

- Patented (& #] &)

@51
MSPO-1216C MOUNTING HOLE @3.3
MSPO12168S —] 1 THICKNESS 1.6
MOUNTING HOLE @3.3 ©
THICKNESS 2.2 MOUNTING HOLE @3.3 =
o5 MOUNTING HOLE 28, MOUNTING HOLE @3.3
= T THICKNESS 2.2
@5
] ?.8 N
%ﬁ MSPO-1216A——| ! MOUNTING HOLE @3.3
! i P —= " THICKNESS 1.6
S o
< —
— l Part No. Part No. Package
o MSPO-1216A
MOUNTING HOLE 2133 g5 MSPO-1216S | MSPO-1216BS | 1000
THICKNESS 1.6 i
— MSPO-1216C
[ MSPO-1216A ] [ MSPO-1216C ) [ MSPO-1216BS ]
BODY PIN
MOUNTING HOLE @4.0
THICKNESS 1.6
@7+ o~
@
=11
t Part No. | Package
PIN RCQC-7 | 1000

MOUNTING HOLE @7.0
THICKNESS 0.8~1.6

BODY

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
 Unit: mm

MOUNTING HOLE @3.2

L0
S°]
—
P
MOUNTING HOLE @3.2 %%_L THICKNESS 1.6
THICKNESS 1.0

=
A—Ll.85

—r f
1 <
~ ' MOUNTING HOLE 3.2
B N7 ! THICKNESS 05
%{ %j MOUNTING HOLE @3.2 9
—1 THICKNESS 10 =
<]
- PartNo. | A | Package
Part No. Package DMSB-5 |5.0 1000
MSPS3S-7.5 1000 DMSB-8 |8.0
©

i

MOUNTING HOLE @3.2
THICKNESS 1.6

DMSS-28 | 28.6

MOUNTING HOLE @3.2 DMSS-38 |38.1
THICKNESS 1.6

1000

‘T’
< Part No. A | Package

_

1




AR : PCREPCHRHIZ B Z » FAEZEMH

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.2
THICKNESS 1.6

7:0_ Part No. A | Package
@LT MSP3-11 | 11.1
< MSP3-12S |12.0
i MSP3-12 | 12.7
T MSP3-14 | 143
g MSP3-15.9 |15.9
MOUNTING HOLE @3.2 i MSP3-16 | 16.0
THICKNESS 1.73 MOUNTING HOLE @3.2 MSP3-17 175
oy THICKNESS 1.6 MSP3-19 191
%J% o Part No. A | Package MSP3-20 | 20.6

f *MSP3-1.6 | 1.6 MSP3-21 [21.0| 1000
2 MSP3-3 | 3.2 MSP3-22 |22.2
| MSP3-4 | 4.0 MSP3-25 |[254
%ﬂ MSP3-5 | 4.8 MSP3-27 | 27.0
o MSP3-58| 58| o MSP3-28 {285
OUNTING H;LE . MSP3-6 | 6.4 MSP3-29.2 |29.2
: MSP3-8 | 7.9 MSP3-31.7 |31.7
THICKNESS 16 MSP3-85| 85 MSP3-31.8 | 318
PartNo. | Package MSP3-9.5| 9.5 MSP3-34 | 34.9
MSP3-8L | 1000 MSP3-10 |10.0 MSP3-38 | 38.1

Part No. A | Package
MOUNTING HOLE @3.2 MOUNTING HOLE @3.2 | MSPS3-3.2S | 3.2

THICKNESS 0.8 THICKNESS 1.6 MSPS3-4 4.0
g MSPS3-48 | 48

@ MSPS3-6.4 | 6.4

T i MSPS3-8 7.9

< MSPS3-87 | 87

K MSPS3-95 | 95

%gﬂéjﬁ MSPS3-11.1 | 11.1

MSPS3-12.7 [12.7| 1000
MOUNTING HOLE @32  MOUNTING HOLE @32 [\SPS3-143 | 14.3
THICKNESS 0.8 THICKNESS 1.6 MSPS3159 159

[ MSPS3-3S, MSPS3-3.2S ] MSPS3-19.1 119.1

MSPS3-20.6 | 20.6
Part No. | A | Package MSPS3-22.2 |22.2
MSPS3-1.2|1.2 2000 MSPS3-25.4 | 25.4
MSPS3-3S | 3.0 MSPS3-31.8 | 31.8

MSPS3-3.2|3.2| 1000 MSPS3-34.9 |34.9

MOUNTING HOLE @3.2
THICKNESS 1.6

(L

N

@©
@

=

{ Part No. | Package
N A -)
__ -

@ MSPL-11 1000
|

MOUNTING HOLE @3.2
THICKNESS 2.4




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.2
THICKNESS 1.7

:

F—H—J
1.95

~--1.9

N

7.1

MOUNTING HOLE @3.2
THICKNESS 2.7

MOUNTING HOLE @3.3
THICKNESS 0.8

[

Nii7a

MOUNTING HOLE @3.3
THICKNESS 0.8

u a5~

MOUNTING HOLE @3.3
THICKNESS 1.6

]
{

N

1

i

,

4.8

i

MOUNTING HOLE
THICKNESS: T

MOUNTING HOLE @3.3
THICKNESS 1.6

MOUNTING HOLE
THICKNESS 2.7~3.3

AR : PCREPCHRHIZ B E » FAEZEMH

Part No. | Package
MSPMA-12 | 1000

Part No. | Package
DMSC-4.5 | 2000

Part No. A | B| C | T | Package
MSPD-7.9 79(41(26 |2.16
MSPD-7.9S | 7.9|4.1|255|16
MSPD-79L | 7.9(4.1|255]|2.34 1000
MSPD-12 |12.0|4.1|2.55|2.16
MSPD-12M |12.0| 4.0 | 2.55| 2.7
MSPD-16 |16.0|4.1|2.55|2.16
Part No. A | Package
MSPN-9 9.0
MSPN-12 | 12.0 1000




AR : PCREPCHRHIZ B E » FAEZEMH

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @3.3

+ Unit: mm THICKNESS 1.6
MOUNTING HOLE @3.3 MOUNTING HOLE @4.3
THICKNESS 1.6~1.7 THICKNESS 1.6~1.7
4 s
o
1
<
@ P
74— 18
MOUNTING HOLE @4.0
?ﬁgﬁﬁ@'s% "{%Eglf’?"z THICKNESS 1.7~2.5 mgwé\‘s% '1%5% 0
Part No. | Package Part No. | Package Part No. | Package
MSPH-7.5 | 1000 MSPH-6.8L | 1000 MSPQ-16 | 1000
OGS Ot NBG e o0 [pathe T X e
MSP-3 3.2
1 6 MSP-4 40
o &?’ MSP-45 | 45
- < MSP-5 5.0
e MSP-6 6.3
13 @ﬁ MSP-7 7.0
— MOUNTING HOLE @4.0 MSP-8 8.0
MOUNTING HOLE @3.9 THICKNESS 16 MSP-9 95 1000
THICKNESS 1.6 MSP-10 105
[ MSP-15.95 ] MSP-12 127
MSP-14 14.0
MSP-15 15.9
MSP-15.9S | 15.9
MSP-19 19.0
MSP-22 22.0

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. A | Package
DMSP-48 | 48
DMSP-6.4 | 6.4| 1000
DMSP-11.1 | 11.1

Ll

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. A | B | C | Package
DMSPS-5 50(43 |46
DMSPS-6.4 6.4 |44 |46
DMSPS-7.9 79|43 |46
DMSPS-12.7 | 12.7| 43 | 4.6
DMSPS-175 |175| 43 |4.6
DMSPS-17.5S | 17.5| 4.2 | 4.25

1000

MOUNTING HOLE @4.0
THICKNESS 1.6



AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @3.96
« Unit: mm THICKNESS 1.58
MOUNTING HOLE @3.9 ,
THICKNESS 1.6 % ~
1L f
4
0
™ ~
& o
o
.
1L i
L o
; i
MOUNTING HOLE @3.96
NOUNTIG HOLE os¢ TckNESS 145
+ Color: Green
Part No. | Package Part No. | Package
MSPV-3 1000 MSPY-12.7 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0

THICKNESS 1.57 ﬁi
7? 1 ~
— & <C
2 s
R 7
ﬁi i
o MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS 157 Part No. A | Package
Part No. | Package MSPM-5 4.8 1000
SP1-4.8 2000 MSPM-24 | 23.8

MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6 THICKNESS 1.6
THICKNESS 1.6

7 i ﬂ‘@q i
<::LD i iﬁ
WJ:@ 8 T

MOUNTING HOLE @4.8 MOUNTING HOLE @4.8
MOUNTING HOLE @4.0 THICKNESS 1.6 THICKNESS 1.6
THICKNESS 1.6 [ MSPK45-4.8 ]

Part No. A | Package Part No. A | Package
MSP1-6.4 | 6.4 MSPK45-4.8 | 4.8
MSP1-95 | 95 MSPK45-6.4 | 6.4| 2000
MSP1-10 |10.0 MSPK45-9.5 | 9.5
MSP1-12.7 | 12.7 MSPK45-12.7 |12.7
MSP1-15.9 | 15.9 1000 MSPK45-15.9 |15.9
MSP1-17 [17.0 MSPK45-19.1 [19.1| 1000
MSP1-19.1 |19.1 MSPK45-22.2 |22.2
MSP1-22.2 (22.2 MSPK45-25.4 | 25.4
*MSP1-25 | 25.0

MSP1-25.4 |25.4




AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @4.8
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 1.6

Part No. Package

1

MSPK4.8-48 | 4.8

2.35

MSPK4.8-6.4 | 6.4

—

A

2.35

2000

MSPK4.8-95 | 95

MSPK4.8-12.7 | 12.7

MSPK4.8-15.9 | 15.9

~—A

2.35

MSPK4.8-19.1 | 19.1

I
2,35~

MSPK4.8-22.2 | 22.2 1000

MOUNTING HOLE @4.8 MOUNTING HOLE @4.8

MSPK4.8-25.4 | 25.4

THICKNESS 1.6 THICKNESS 1.6

MSPK4.8-31.7 | 31.75

[ MSPK4.8-4.8 ]

MOUNTING HOLE @3.0

THICKNESS 1.6 THICKNESS 1.6

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0
THICKNESS 1.6

/1 ; :ﬁ
[~ e
Yol
s 2 s
| i — <2}
T s 1)le
@15 —

MOUNTING HOLE @3.0

THICKNESS 1.6 THICKNESS 1.6

t

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. Package Part No. Package Part No. | Package
SSDU1-3.5 1000 SSDUA-16.5| 1000 DMSA-9 1000
MOUNTING HOLE @5.2
THICKNESS: T
i
om
|
]t
<
| |
‘ % PartNo. | A | B | C | T | Package
‘ L‘F SSDU-9.2 | 9.2 |1.55|1.55| 1.6 1000
@32 SSDU-9.6 | 9.6 [1.85/1.85| 1.2
MOUNTING HOLE @5.2
THICKNESS: T
‘e @2.5
[ee]
|
g3-t-—| |
N~
e Part No. | Package
%ﬂ%ﬁ MSPE-7 | 1000

MOUNTING HOLE @3.2
THICKNESS 1.6



At PCHREPCRMZEE » FAEZRH -

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.0
THICKNESS: T

- B I~

PartNo. | A | B | C T Package
LCVU-8 | 8.0/3.7 |37 |12~1.8
LCVU-9 | 9.0/355|355| 2.0 1000
LCVU-10 [10.0(3.7 |3.7 |1.2~1.8

[
ChhlA—

MOUNTING HOLE @3.0

THICKNESS: T
i
« MOUNTING HOLE @3.0 " MOUNTING HOLE @3.0
mj THICKNESS: E 'f THICKNESS: E
s i
< <
i -,
w%r MOUNTING HOLE @3.0 ", MOUNTING HOLE @3.0
~ THICKNESS: T THICKNESS: T
o L
PartNo. | A | B E T Package PartNo. | A| B | C E T Package
LCVA-2 20(31| 16 |0.8~10 LCV-25 |25(34 |34 1.6 1.6
LCVA-25 | 25|3.0(08~1.0| 16 2000 LCV-3 3.0[355(355| 16 1.6 1000
LCVA-4 40(31| 16 |0.8~10 LCV-5 501(34 |34 1.8 1.8
LCVA-5 |50(|31| 16 [08~1.0 LCV-6 |6.0(36 |3.6 |1.2~1.7|0.8~1.0

MOUNTING HOLE: @G
THICKNESS 1.2~1.7

L

—F ©
{ o PartNo. | A | G | Package
- LCJ-14 | 140 3.0
LCJ-15 | 150 3.2 1000
\ o LCJ-19 |19.0| 3.0
—* o MOUNTING HOLE: @G LCJ-21 [21.0] 30
) f THICKNESS 12-17
o
ﬁ‘r”' #ﬁgﬂﬁ'&“ﬁsﬂow 235 Part No. A T Package
T LCI-6 6.0 | 12-17
< LCI65 | 6.35 ] 1.2-1.7
" ﬁ LCL7 70 | 12-17
c? MOUNTING HOLE @3.0 o MO b OLE @35 | LCI-8 80 |12-17
—  THICKNESS 1.2~1.6 f LCI-9 9.0 |1.2~17
T LCI-10 10.0 | 1.2~1.7
o Part No. A T Package LCI-10L 10.0 2.38 1000
l LCI-25 25 | 1.2~1.7 LCI-11 11.0 | 1.2~1.7
- LCI-3 30 | 1.2~17 LCI-12 120 | 1.2~1.7
—& MOUNTING HOLE 240 LCI-35 | 35 | 1.2-17 LCL5 [ 150 | 12-17
T THICKNESS 3.6~4.0 LCI-4 40 | 1.2~1.7 2000 LCI-15(2) |15.0 | 1.6~2.4
LCI-45 45 | 1.2~1.7 LCI-20 200 | 1.2~1.7
Part No. | Package LCL-5 50 | 1.2~17 LCI-22 220 | 1.2~1.7
LCX-31 2000 LCL-5.5 55 | 1.2~1.7 LCI-30L |30.0 |1.6~24 500




AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.5
THICKNESS 1.6

1

.

Part No. | Package
LDE-33 1000

el

i

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @3.4
THICKNESS 1.2~1.7

2.8

il
il

- 35 ‘«

Part No. | Package
LCIA-35 1000

:
I

2.8

MOUNTING HOLE @3.7
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

Part No. | Package
LCK-1 1000

1a

MOUNTING HOLE @4.0
THICKNESS 0.8

MOUNTING HOLE @4.0 Part No. A | Package Part No. A | Package

THICKNESS 1.2-1.7 LCC-3S | 3.0 LCC-18 |18.0
— [CC3 | 35 LCC-19 [19.0
— LCC-4 401 Ho00 LCC-20 |[20.0
T LCC-5 5.0 LCC-25 |25.0

< LCC6S | 6.0 LCC-254 [254] 0
s LCC-6 6.4 LCC-27 |27.0
i LCC-7 7.0 LCC-30 |30.0
7‘;” LCC-8 8.0 LCC-34 [34.0
OUNTING HOLE G40 LCC95 | 95 LCC-40 |40.0
THICKNESS 17217 LCC-10S |10.0 LCC-45 |45.0
Lcc10  [105] oo LCC-55 |55.0
LCC-11.5 | 115 LCC-69 |69.0

LCC-12S |12.0 LccrL [712] o
LCC-12 |12.7 LCC-72 | 720
LCC-14 | 14.0 LCC-74 |74.2
LCC-15 |15.9 LCC-80 |80.0




AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

PartNo. | A | Package

R LCBM-3 3.0
[T 5 Youumns vole 040y cay.e |40
= LCBM-6 6.0
LCBM-8 8.0
LCBM-10 |10.0| 1000
MOUNTING HOLE @4.8 LCBM-12 [12.0
THICKNESS 1.6 LCBM-14 |14.0
LCBM-16 |16.0
LCBM-18 |18.0

£

{

=l
5
37k

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package
LCBM-19L 1000

MOUNTING HOLE @4.8
THICKNESS 2.4

37 ! 19 ! ‘ﬁLS.l

MOUNTING HOLE @2.8
MOUNTING HOLE @2.6 THICKNESS 1.6

THICZ{NE;S 1.0 ﬂ%

.
i

- 3.15

-16
[ ]
- 63375

g

MOUNTING HOLE @2.8 MOUNTING HOLE @2.8
THICKNESS 1.6 THICKNESS 1.6

Part No. | Package Part No. | Package
MSPA-1.6 2000 MSPA-6.3L | 1000

- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.0 MOUNTING HOLE @3.2
THICKNESS 4.0 THICKNESS 1.6
N~
; |
| !
—t 9
D D T ]
_h i
1 7
o [
f f
MOUNTING HOLE @3. MOUNTING HOLE @3.2
TI-CI)IgKNESGS 1% 030 THICKNESS 2.6
Part No. | Package Part No. | Package

LMSA-6 1000 LMSE-4.8 1000




AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.2
THICKNESS 1.6

" MOUNTING HOLE @3.2 Part No. | Package
THICKNESS 1.0-1.2 LMSB-4 | 1000

MOUNTING HOLE @3.2
THICKNESS 1.6~1.8

PartNo. | A | Package
LMSP-8 7.9

f
~
(o)
1
f
I
N
o LMSP-95 | 95| 1000
MOUNTING HOLE @3.2
|1 THICKNESS 15 LMSP-16 | 15.9

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

MOUNTING HOLE @3.5
MOUNTING HOLE @3.2 THICKNESS 1.6

THICKNESS 1.6~1.7

l 64— 884
16
»EE 188

MOUNTING HOLE @2.0 MOUNTING HOLE @2.6
THICKNESS 1.0~1.2 THICKNESS 1.6

Part No. | Package Part No. | Package
LCPL-6.4 1000 LCPLB-11 1000

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

» Unit: mm MOUNTING HOLE @33
THICKNESS 16-2.1

N

t

~@4.3

2.2

Part No. | Package
ﬁ LCOA-28.8 | 1000

L 28.8 —J

25
{

MOUNTING HOLE @3.3
THICKNESS 1.6



AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.6

94

Part No. | Package
LCSF-15 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

9.4# 15

MOUNTING HOLE @3.0
THICKNESS 1.6

Part No. T Package
LCGA-14 |[0.8~1.0
MOUNTING HOLE @3.0 1000
THICKNESS: T LCGA-14S | 0.6

MOUNTING HOLE @3.0
THICKNESS 1.2~1.6

Part No. | Package
CBSA-13 1000

MOUNTING HOLE @3.0
THICKNESS 1.2~1.6

MOUNTING HOLE @3.0
THICKNESS 1.2~2.0

MOUNTING HOLE @3.0
THICKNESS 1.2~2.0

-

[ee)
| = MOUNTING HOLE @3.5
<< THICKNESS 1.6~2.0
o Part No. A | Package
! LCFO-3 3.0
MOUNTING HOLE @3.0 LCFO-3.5 3.5
THICKNESS 1.2~2.0 LCFO-4 4.0
LCFO-4.8 4.8
Part No. A | Package Part No. A | Package LCFO-6 6.0
LCF-3 3.2 LCF-11 11.2 LCFO-6.4 6.4
LCF-4 4.0 LCF-12 12.0 LCFO-7 7.0 1000
LCF-5 5.0 LCF-144 | 144 LCFO-8 8.0
LCF-6S 6.0 LCF-15 15.0 LCFO-9 9.0
LCF-6 6.35| 1000 LCF-16 16.0 1000 LCFO-10 10.0
LCF-7 7.0 LCF-17 17.0 LCFO-115 | 115
LCF-8 8.0 LCF-20 20.2 LCFO-12.7 | 12.7
LCF-9 9.5 LCF-22 22.0 LCFO-14 14.0
LCF-10.6 |10.6 LCF-25 25.4 LCFO-16 16.0




AR : PCREPCHRHIZ B E » F4EZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.5
THICKNESS 1.0

Part No. | Package
CBCs-14 1000

MOUNTING HOLE @3.5
THICKNESS 1.6

PartNo. | A | Package

MOUNTING HOLE @35 LCD-3 3.2

THICKNESS 1.6 LCD-2 20| 2000
LCD-5 48
LCD-6 6.4
LCD-7 7.0
LCD-8 8.0
LCD-1L [1.2] oo
LCD-12 [127
LCD-14 |14.0
LCD-16 |16.0
LCD-18 |18.0
LCD-19 [19.1
LCD-27 |275

MOUNTING HOLE @3.5
THICKNESS 1.6~2.0

@ o POB It PartNo. | A | D | Package
o 1 LCO5 | 5036
ﬁ? T LCO-6.4 | 6.4 | 50| 1000

© PR v ? o LCO-8 | 8066
W W

MOUNTING HOLE @3.5
THICKNESS 1.6~2.0

MOUNTING HOLE @3.5
THICKNESS 1.6~2.0 MOUNTING HOLE @3.5

THICKNESS 2.0~2.5

L

PCB A ¥ 2
pal” A | :
T_/I/q ? - ] [ T T -
H (]
@54‘\‘ PCB AR,
! S
MOUNTING HOLE @3.5 |
THICKNESS 1.6~2.0
PartNo. | A | D | Package #ﬁ%'&“& I}%'ZE? 35
LCO-10 [10.0| 8.6
LCO-11 |11.0| 9.6 1000 Part No. D | Package
LCO-12.7 |12.7|11.3 LCO-10L |10.1 1000
LCO-15.9 [15.9(14.5 LCO-10.5L 105




AR : PCREPCHRHIZ B E » FAEZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

il

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package
LCFB-8 1000

>
3.5‘«k81aJ35

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package
LCBJ-9 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

=

-4 091

MOUNTING HOLE @4.0
THICKNESS 0.8~1.7

Part No. A | Package
LCTA-48 | 48| 2000
LCTA-12.7 |12.7 | 1000

MOUNTING HOLE @4.0
THICKNESS 0.8~1.7

=

MOUNTING HOLE @4.0
THICKNESS 0.8~2.0

Part No. | Package
LCT-9 1000

MOUNTING HOLE @4.5
THICKNESS 0.8~2.0

MOUNTING HOLE @4.0
THICKNESS 1.0

Part No. | Package
LCBD-12.7 1000

MOUNTING HOLE @4.8
THICKNESS 1.6

o
-
™~
S
'
n
T




AR : PCREPCHRHIZ B E » FAEZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @4.0
THICKNESS: T Part No. A T Package

LCEO-5 4.810.8~2.0
LCEO-6 6.4]0.8~2.0
LCEO-8 7.910.8~2.0
LCEO-9 9.5]0.8~2.0
LCEC-12 |12.7|0.8~2.0| 1000
LCEO-12L | 11.9|1.2~23
LCEO-15 |15.9]0.8~2.0
LCEO-19 |19.0|0.8~2.0

MOUNTING HOLE @4.0 LCEO-22 |22.2|0.8~2.0
THICKNESS: T

55~ k—A—— 5.5L

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0
'

MOUNTING HOLE @4.0
THICKNESS 16-2.0 MOUNTING HOLE @4.75 MOUNTING HOLE @48

THICKNESS 1.6 THICKNESS 0.8~2.0

'
5 MOUNTING HOLE @4.8
f THICKNESS 0.8~2.0

'
©
[Te)

t

<t
~ Part No. A | Package
LCBY-4.8 4.8

LCBY-6.4 6.4
t
MOUNTING HOLE @4.8 LCBY-9.5 9.5

THICKNESS 0.8-2.0 MOUNTING HOLE @475 ~ MOUNTING HOLE @458 LCBY-127 1127 1000

THICKNESS 1.6 THICKNESS 0.8~2.0
PartNo. | A | Package LCBY-15.9 | 159

LCBZ-4.8 | 4.8 1000 Part No. | Package Part No. Package LCBY-19.1 |19.1
LCBZ-6.4 | 6.4 *LCBF-7.4| 1000 LCBYR-4.8 1000 LCBY-22.2 | 22.2

LI

MOUNTING HOLE @3.0
THICKNESS 0.8

Part No. A | G| T | Package
2 MADP-17.5 | 175|3.0|15 1000
- MADP-20S |19.6 4.0|12

MOUNTING HOLE: @G
THICKNESS: T

MOUNTING HOLE @2.0
THICKNESS 0.8~1.6

-*7.34j )

Part No. | Package
MADG-5.4 | 2000

MOUNTING HOLE @2.0
THICKNESS 0.8~1.6



AR : PCREPCHRHIZ B E » FAEZEMH

* Material: Nylon 66 (UL) MOUNTING HOLE @3.0
+ Flame Class: 94V-2/94V-0 THICKNESS 0.8~2.0
« Color: Natural/Black i
« Unit: mm 3
T F
MOUNTING HOLE @3.0 l(

THICKNESS 1.6

"
34

f
MOUNTING HOLE @4.0
THICKNESS 1.2~2.6

PartNo. | A | Package
LCH-3 3.5
MOUNTING HOLE @3.0 Lo 49
THICKNESS 1.6 LCH-5 50
LCH-6 6.3
PartNo. | A | Package LCH-7 7.4 1000
LCA-6 6.3 LCH-8 8.5
LCA-8 8.0 LCH-10 |10.0
LCA-10 |10.0| 1000 LCH-11 |11.0
LCA-11 |11.0 LCH-12 |12.7
LCA-12 |12.7 LCH-15 |15.9
MOUNTING HOLE @3.0 - Jo MOUNTING HOLE @3.0
THICKNESS 0.7~1.6 Qﬁg‘? THICKNESS 0.8

MOUNTING HOLE @4.0 *
THICKNESS 0.8~2.5 4+
~_ MOUNTING HOLE
T

PatNo. | A | C | Package THICKNESS 1.0

*LCH-3.3S| 33|22
*LCH-6.35 | 6.3]2.2 w
LCH-8S 8.0]25| 1000

N

LCH-10S |10.0|25 Part No. | Package
LCH-15S |13.0|25 LCHA-2.3 1000
~ MOUNTING HOLE @4.0
— 7 THICKNESS 16
MOUNTING HOLE @35 MOUNTING HOLE @35 !
THICKNESS 0.8~2.0 THICKNESS 0.8~2.0
<<
|
0
f ﬁ MOUNTING HOLE @4.0
<‘ — THICKNESS 16
0
-t Part No. A | Package
CBLSS-6 4.2
CBLSS-8 6.2
MOUNTING HOLE @3.5 MOUNTING HOLE @3.5 CBLSS-10 8.2
THICKNESS 0.8~2.0 THICKNESS 0.8~2.0 CBLSS-12 1102
[CBSS-25 ] CBLSS-13 | 11.2
Part No. A | Package CBLSS-14 [12.2| 1000
Part No. | A | Package CBSS-7 7.0 CBLSS-16 |14.2
CBSS-2 2.1 CBSS-10 |10.0 CBLSS-16.8 | 15.0
CBSS-2S |21 2000 CBSS-12.7 | 12.7| 2000 CBLSS-18 16.2
CBSS-2.2 2.2 CBSS-14 | 14.0 CBLSS-20 18.2
CBSS-4.8 | 4.8 CBSS-17 | 17.0 CBLSS-42  [40.2




Rt BERPCRHAMRE » £ THEGIHF

« Material: Nylon 66 (UL) il
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 0.8~1.7
THICKNESS 0.8~1.7
=
|
I
IS
<
1
MOUNTING HOLE @4.8 ¥,§’|8§L'§§S *{%EEZ 7® 8
THICKNESS 0.8~1.7 o
Part No. | Package Part No. | Package
LCBSA-28.5 500 LCBSA-20L 500
- Material: Nylon 66 (UL) A% PCREPCHKE 2 B & » RAEZ/H -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm ‘
0 MOUNTING HOLE @4.0
~ THICKNESS 1.6
P
Part No. | Package
LCL-3.2 2000
MOUNTING HOLE @4.0
THICKNESS 0.8
- Material: Nylon 66 (UL) Rig : BRPCRA#AR L » 2 T A 53
+ Flame Class: 94V-2/94V-0 & o
+ Color: Natural/Black
+ Unit: mm
PartNo. | A | Package
MOUNTING HOLE @4.0 LCB-5 50
THICKNESS 1.6 LCB-6 6.3
LCB-8 8.0
LCB-10 |10.0
LCB-12 |12.7 1000
LCB-15 |15.9
MOUNTING HOLE @4.8 LCB-20 |20.0
THICKNESS 0.8~2.0 LCB-25 1250

MOUNTING HOLE @4.0 MOUNTING HOLE g40 | —atNo. | A | Package
THICKNESS 1.6 THICKNESS 1.6 CBS-38 | 38
CBS-5 4.6
© CBS-6 6.3
CBS-8 7.93
CBS-9 9.2
CBS-12 | 125

CBS15 157 | 0%

CBS-19 | 19.0
CBS22 | 220
MOUNTING HOLE @4.0 MOUNTING HOLE @48 | CBS-25 | 254
THICKNESS 0.8-2.2 THICKNESS 0.8-2.2 CBS28 286
[ CBSB-45 ] CBSB-45 | 45.0




Fig : BZPCRU MR L > £ B 5
« Material: Nylon 66 (UL) il
« Flame Class: 94V-2/94V-0
- Color: Natural/Black Part No. A | Package
« Unit: mm LCBS-4 4.0
LCBS-5 5.0

LCBS-6 6.35
MOUNTING HOLE @4.0 LCBS-7 7.0
THICKNESS 1.6 LCBS-9 9.2

LCBS-10 | 10.0
LCBS-12 | 125
LCBS-15 | 15.7
LCBS-19 | 19.0 1000
LCBS-20 | 20.0
LCBS-22 | 22.0
LCBS-25 | 25.4
LCBS-28 | 28.6
MOUNTING HOLE @4.8 LCBS-30 | 30.0
THICKNESS 0.8~2.2 LCBS-35 | 35.0
LCBS-38 | 38.0
LCBS-45 | 45.0

&y MOUNTING HOLE @4.0 Part No. A | Package
S THICKNESS 1.6 R 63 | 5
LCBB-95 | 95
LCBB-12.7 [ 12.7
LCBB-15.9 | 15.87| 1000
MOUNTING HOLE @4.8 ALCBE-L9 11905
= - LCBB-22.2 | 22.22
J.__© THICKNESS 20

LCBB-25.4 | 254

A

MOUNTING HOLE @4.0 Part No. A B C | Package
THICKNESS 1.2~2.0 \VCBS-9 59| 98
VCBS-11 751114 | 40
VCBS-14 | 105 | 144 | 4.0
VCBS-16 | 12.7 | 16.6 | 4.0
VCBS-17 | 13.8 | 17.7 | 4.0
VCBS-20 | 17.0 | 20.9 | 4.0 1000
VCBS-24 | 20.2 | 24.1 | 45
VCBS-27 | 233 | 27.2 | 45

VCBS-30 | 26.5 | 304 | 45
!\rAﬁgE&E\ISGS I-(I)%I:E()@48 VCBS-33 | 29.7 | 33.6 | 45
VCBS-39 | 36.0 | 39.9 | 45

MOUNTING HOLE @4.0 Part No. A B C | Package
THICKNESS 1.2~2.0 VCBSL-9 50 98
VCBSL-11 | 6.6 | 114 | 4.0
VCBSL-14 | 9.6 | 144 | 4.0
1 ‘ VCBSL-16 | 11.8 | 16.6 | 4.0

'
©
T9)

@C < p VCBSL-17 | 129 | 17.7 | 40 | 0o
l VCBSL-24 | 193 | 24.1 | 45
= VCBSL-27 | 22.4 | 27.2 | 45
~ VCBSL-30 | 25.6 | 304 | 45
T

MOUNTING HOLE @4.8 VCBSL-33 | 268 | 336 | 45
THICKNESS 0.8~3.0 VCBSL-39 | 35.1 | 39.9 | 45




Rt BERPCRHAMRE » £ THEGIHF

« Material: Nylon 66 (UL) il

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.6~2.0

PLASTIC BODY

SPTE METAL
- 48— Part No. Part No. Package
' VCBA-14.4ST
MOUNTING HOLE @4.8 VCBA-14.4F 1000
THICKNESS 1.0~2.0 VCBA-144
MOUNTING HOLE @2.0 PartNo. | A | Package
THICKNESS 1.6 LcMA32 | 32
LCMA-4.8 | 48
LCMA-6.4 | 6.4
LCMA-7.9 | 7.9
LCMA-95 | 95
LcMA-111 |111] 1000
LCMA-12.7 |12.7
LCMA-14.3 | 143
MOUNTING HOLE £13.0~213.2 LCMA-15.9 1159
THICKNESS 0.8~2.0 LCMA-17  [17.0
MOUNTING HOLE @25
THICKNESS 1.6 Part No. A | Package
LCMD-32 | 3.2
ﬂ—? LCMD-4.8 | 438
{ LCMD-6.4 | 6.4
. LCMD-7.9 | 7.9
LCMD-9.5_| 95|
~ LCMD-11.1 | 11.1
i LCMD-12.7 |12.7
LCMD-14.3 |14.3
MOUNTING HOLE £30~32 LCMD-15.9 115.9
THICKNESS 0.8~2.0 LCMD-17 [ 17.0
* Material: Nylon 66 (UL) A& : PCREPCARMZ B E » R4 2ZH o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE @2.5
THICKNESS 1.0~1.7

I

©
—
PartNo. | A | Package
< LCAB-12 [12.0
LCAB-14 |14.0 1000

~O
w—&, MOUNTING HOLE @3.0
& THICKNESS 1.0~1.7



A& B ZPCRAMMK L » £ 1B HIF

« Material: Nylon 66 (UL) il
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm Part No. A | Package
MOUNTING HOLE @3.0 LCG-3 3.2
THICKNESS 1.2~1.7 LCG-5 4.8
@ LCG-6 6.4
LCG-8 7.9
LCG-9 9.5
T LCG-11 | 111
LCG-12 12.7
T lcG14 | 143 | 000
\ LCG-15 15.9
LCG-17 17.0
NS LCG-18 18.0
- LCG-19 19.0
MOUNTING HOLE @3.0 LCG-20 | 20.0
THICKNESS 0.8~2.0 LCG-26 | 26.0
MOUNTING HOLE @3.0 MOUNTING HOLE @35
THICKNESS 1.2~1.7 THICKNESS 1.2~1.7
@
N ~
vt T
<C <C
l
© ©
q: <
— T t
MOUNTING HOLE @3.0
THICKNESS 1.4~1.6 MOUNTING HOLE @4.8 MOUNTING HOLE @4.8
0 THICKNESS 0.8~2.2 THICKNESS 0.8~2.2
P
b PartNo. | A | Package PartNo. | A | Package
f LCBT-3 3.2 LCBU-3 3.2
o LCBT-5 48 LCBU-5 5.0
T LCBT-6 | 6.3 LCBU-6 | 6.3
LCBT-8 8.0 LCBU-8 8.0
N LCBT-10 | 10.0 LCBU-10 | 10.0
! LCBT-12 | 12.0 1000 LCBU-12 | 12.0 1000
MOUNTING HOLE @4.8~@5.0 LCBT-14 | 14.0 LCBU-14 | 14.0
THICKNESS 0.8~2.0 ' :
LCBT-16 | 16.0 LCBU-16 | 16.0
Part No. Package LCBT-18 | 18.0 LCBU-18 | 18.0
LCBUA-13.9 1000 LCBT-25 | 25.0 LCBU-25 | 25.0

MOUNTING HOLE @4.0
THICKNESS 1.6

S N

[¥5)

|
|
17.5

Part No. | Package
LCGB-17.5| 1000

5~

=

t

MOUNTING HOLE @4.0
THICKNESS 0.5~1.2

3




A& B ZPCRAMMK L » £ 1B HIF

« Material: Nylon 66 (UL) il
« Flame Class: 94V-2/94V-0
. Co!or: Natural/Black
+ Unit: mm MOUNTING HOLE @4.0
THICKNESS 1.6
Part No. | Package
LCBC-8 1000
MOUNTING HOLE @4.8
THICKNESS 0.8~2.0
- Material: Nylon 66 (UL) AR PCAREPCAR M Z B & » FAEZH »
+ Flame Class: 94V-2/94V-0 T EIE o
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @3.0 MOUNTING HOLE @3.5 MOUNTING HOLE @4.0
THICKNESS 1.6 THICKNESS 1.6 THICKNESS 1.6
©
N
MOUNTING HOLE @4.8 MOUNTING HOLE @4.8 MOUNTING HOLE @4.8
THICKNESS 0.8~1.6 THICKNESS 0.8~1.6 THICKNESS 0.8~1.6
Part No. A | Package Part No. A | Package Part No. A | Package
KLCBS-9.5 9.5 KLCBM-9.5 9.5 KLCBL-9.5 9.5
KLCBS-12.7 | 12.7 KLCBM-12.7 | 12.7 KLCBL-12.7 | 12.7
KLCBS-15.9 | 15.9 1000 KLCBM-15.9 | 15.9 1000 KLCBL-15.9 | 15.9 1000
KLCBS-19.1 | 19.1 KLCBM-19.1 | 19.1 KLCBL-19.1 | 19.1
- Material: Nylon 66 (UL)
- Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.0
o
wp f il @18
1] < 1- -
aql FY'SJ PartNo. | A | Package
X MOUNTING HOLE LCBA-5.6 | 5.6
158 — -
THICKNESS 0.6~1.0 LCBA76 | 76| 1000




A& B ZPCRAMMK L » £ 1B HIF

« Material: Nylon 66 (UL) il
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black Part No A | Package
« Unit: mm :
LCSE-3.2 3.2
LCSE-4.8 4.8
@ ™ MOUNTING HOLE @3.2 LCSE-6.4 6.4
| THICKNESS 1.6~1.7 LCSE-7.9 79
L (CSE95 | 95|

| LCSE-LL | 111
MOUNTING HOLE @3.0~g32 | -CSE-12.7 | 127
THICKNESS 0.8-2.0 LCSE-14.3 | 143

LCSE-159 | 159

LCSE7 | 17.0

32

MOUNTING HOLE @4.0
THICKNESS 2.4

MOUNTING HOLE @4.0 PN,
THICKNESS 2.4 ' LCSJ-16 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

9.5+-9.6—~

Part No. | Package

MOUNTING HOLE @4.7 LCSH-9.5 1000
THICKNESS 0.4~2.0

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. A | Package
LCSA-6.4 | 64 1000

MOUNTING HOLE @4.8 LCSA95 | 95
THICKNESS 2.0~3.6

MOUNTING HOLE @4.0
THICKNESS 1.6

f <L MOUNTING HOLE @4.0

A=

|l S THICKNESS 16
- # PartNo. | A | Package
< LCs-11 111 —& MOUNTING HOLE @4.8
f LCS12 | 127 /.5 THICKNESS 08-20
@ MOUNTING HOLE @48 [ | CS-16 | 15.9
;. THICKNESS 08-20 LCS19 | 191 PartNo. | A | Package
LCS-22 | 22.2 HLCS-48 | 4.8
PartNo. | A | Package LCS-24 24.0 1000 HLCS-6.4 6.4
LCS-3 | 35 LCS-25 | 254 HLCS-95 | 95| .o
LCS5 | 4.8 LCS-275 | 275 HLCS-12.7 | 12.7
LCS6 |60 100 LCS-28 | 286 HLCS-159 | 15.9
LCS-6A | 6.4 LCS-31.1 | 311 HLCS-25.4 | 25.4
LCS-8 | 7.9 LCS-31.7 | 317 HLCS-40 | 400 o
LCS9 | 95 LCS-35 | 349 HLCS-49 | 49.0




A% B ZPCRAMMMK L » £ 1A HIF

« Material: Nylon 66 (UL) il

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @4.0

THICKNESS 2.4 MOUNTING HOLE @4.0

THICKNESS: T

[ ]
[ ]

=
INZ

5.5L«95*

MOUNTING HOLE @4.8
THICKNESS 2.0~3.2

f Part No. A T Package
MOUNTING HOLE @4.8 LCSD-48 | 48| 1.6
THICKNESS 1.6 LCSD-9.5 9.5 16
Part No. | Package LCSD-12.7 |12.7| 16 1000
LCSLR-9.5 | 1000 LCSL-4.8 | 4.8]|2.0~3.2
MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 ~
@ S THICKNESS 1.2~1.7 THICKNESS 1.2-1.7
)
+ I -
~ MOUNTING HOLE @3.5
O ©  THICKNESS 1.6
CL © MOUNTING HOLE @4.8
j E of *'-‘; THICKNESS 0.8~2.5
:
o MOUNTING HOLE @4.0 PartNo. | A | Package
M 5 THICKNESS 0.8~1.6 LCP79 | 79 MOUNTING HOLE @4.8
! : : THICKNESS 0.8~2.0
LCP-9 9.5 1000 c T
Part No. | Package LCP-12.7 | 12.7 Part No. | Package
LCPA-8.2 1000 LCP-22 |222 LCY-4.8 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. A | Package
LCPD-6.35| 6.35
LCPD-9.5 | 9.52| 1000

MOUNTING HOLE @4.8 *LCPD-12.7[12.7
THICKNESS 2.0

Part No. | A | Package
MOUNTING HOLE @4.0 UCBS-5 4.8
THICKNESS 1.2~1.7 UCBS-6 6.4

UcBS-9 | 95

UCBS-12 [12.7| 1000
MOUNTING HOLE @4.8 JCBS S 1159
THICKNESS 0.8~2.0 UCBS-19 | 19.1

UCBS-22 | 22.2

MOUNTING HOLE @3.8
THICKNESS 1.6

Part No. | Package
UCBS-5A 1000

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0




A« BZPCRM#KRE » £ T A5
« Material: Nylon 66 (UL) il
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

Part No. B | T | Package
UCBSL-9 |[11.7]1.6

1000
MOUNTING HOLE @5.4 UCBSL-10 [12.0| 2.2
THICKNESS: T
MOUNTING HOLE @3.3
THICKNESS 1.6
o
MOUNTING HOLE Part No. A | Package
THICKNESS 1.8~2.0 LMSD-12 |12.0 1000
LMSD-16 |16.0
MOUNTING HOLE @4.0
THICKNESS 1.6
7.1
;o
T s
s
T o
=) T
| MOUNTING HOLE Part No. | Package
Q H 2 o THICKNESS 0.8~1.6 LCSI-10 1000
(<=}
* Material: Nylon 66 (UL) A&« B ZPCRM MR L » —FAf &3
+ Flame Class: 94V-2/94V-0 y s R o
- Color: Natural/Black FRA > R
« Unit: mm

Part No. A L | Package
LCDS3-3 3040
LCDS3-4 401 4.0
LCDS3-5 50 4.0
LCDS3-6 6.0 | 6.0
LCDS3-7 701 6.0
LCDS3-8 8.0 6.0
LCDS3-9 9.0 6.0 | 1000
LCDS3-10 | 10.0 | 6.0
LCDS3-11 | 11.0 | 6.0
LCDS3-12 | 120 | 6.0
LCDS3-13 | 13.0 | 6.0

LCDS3-14 | 14.0 | 6.0
MOUNTING HOLE 4.8
THICKNESS 0.8~2.5 LCDS3-15 | 15.0 | 6.0

M3x0.5P

[ LCDS3-3, LCDS3-4 ]




Rt : BEPCRA#MR L » — 38 E &

- Material: Nylon 66 (UL) AR FRH -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm

Part No. A | L | Package
LCDS4-3 3040
LCDS4-4 40 | 4.0
LCDS4-5 5040
LCDS4-6 6.0 | 6.0
LCDS4-7 7.0 6.0
LCDS4-8 8.0 6.0
LCDS4-9 9.0 6.0| 1000

M4x0.7P
o LCDS4-10 | 100 | 6.0
15 A LCDS4-11 | 11.0 | 6.0
f LCDS4-12 | 120 | 6.0
: i_ LCDS4-13 | 13.0 | 6.0
65+ LCDS4-14 | 14.0 | 6.0
[ LCDS4-3, LCDS4-4 ] MOUNTING HOLE LCDSA15 |15.0] 60

THICKNESS 0.8~2.5

« Material: Nylon 66 (UL) R —BEE AR E » 5 — X4
+ Flame Class: 94V-2/94V-0 PCH » # % T2 R4 » PCIR
« Color: Natural/Black %A o
+ Unit: mm ;
Part No. A | Package
LBS-3 32
— 1 LBS-5 48
LBS-6 6.4
< LBS-8 7.9
LBS-9 9.5
LBS-11 | 111
- LBS-12 | 12.7 1000
~ LBS-14 | 143
< LBS-15 | 159
MOUNTING HOLE @3.0 LBS-17 | 17.0
THICKNESS 0.8~2.0 LBS-19 | 19.0
LBS-20 | 20.0
LBS-26 | 26.0
T
™
[ce]
[¥e)
<
f
MOUNTING HOLE @4.0 MOUNTING HOLE @4.5
THICKNESS 1.0~2.0 THICKNESS 0.8~2.0
Part No. | Package Part No. | Package

LASB-3.7 1000 LASD-8.3 1000




Rk — B RN AR E > B — X%

. Material: Nylon 66 (UL) PCHz » B %, T Fgi& M4 % » PCIR

- Flame Class: 94V-2/94V-0 F I o
+ Color: Natural/Black
+ Unit: mm j @6 ‘«
F
L 1§
o Gl =
g L
o ™ o™

[ LASE-45] MOUNTING HOLE @3.5

MOUNTING HOLE @4.8 THICKNESS 1.2~1.6
THICKNESS: T
Part No. A|C T Package PartNo. | A | B | Package
LASY-4.6 46(4.6|0.8~25 LASE-45 | 45| 35
LASY-9.3 9.3/145|0.5~2.3 1000 LASE-7 7.0| 6.0/ 1000
LASY-12.6 |12.6|4.5|0.5~2.3 LASE-12 [12.0/11.0
LASY-15.9 |15.9|45|0.5~2.3

— @5 -
N
1| P
th ~
) < l
MOUNTING HOLE @3.5 MOUNTING HOLE @3.5
THICKNESS 1.6 THICKNESS 0.8~1.8
PartNo. | A | B | Package Part No. | Package
LASJ-17 |17.0|15.9 LASH-22 | 1000
LASJ-18 |18.0]16.9| 1000
LASJ-20 |20.0|18.9
PartNo. | A | Package PartNo. | A | Package ][ IL
[ LAS-3 | 35 LAS-19 [19.1 @
< LAS5 | 48 LAS-22 |22.2
| LAS-6 | 6.0 LAS-24 |[24.0| 1000
=l LAS6A | 6.4 LAS25 | 254 o
{\ /} > LAS8 | 7.9| 1000 LAS275 | 275 OUNTING HOLE B46-05.0
LAS-9 | 95 LAS-28 | 28.6 THICKNESS 0820 >
MOUNTING HOLE @4.8 LAS-11 |11.1 LAS-3L1 |311]
THICKNESS 0.8-2.0 LAS-12 |12.7 LAS-31.7 |317 PartNo. | Package
LAS-16 |15.9 LAS-35 |34.9 LASA-95 | 1000
- Material: Nylon 66 (UL) Mg —mBE R BARE > A —3m3EPC
+ Flame Class: 94V-2/94V-0 W o
« Color: Natural/Black
+ Unit: mm
~| @7.1 [, THICKNESS 1.6

'

©
<
t

PCB ! Part No. | Package

MOUNTING HOLE @4.8 LASL-4.8 1000
THICKNESS 1.6




AR BN ERLE B —3 X

) s b %z
« Material: Nylon 66 (UL) PCH » 8 f. T Fa i AL 5% > PCAR

« Flame Class: 94V-2/94V-0 %8I o
« Color: Natural/Black
+ Unit: mm
‘——T®4.7
S
N
7?7 ' »j o5 L
MOUNTING HOLE @4.0 MOUNTING HOLE @3.0
THICKNESS 1.2~1.6 THICKNESS 1.6
Part No. | Package PartNo. | A | B | Package
LASF-18 1000 MSA-14.1 [14.1]22.3 1000
MSA-24.3 |24.3|32.5
- Material: Nylon 66 (UL) AR AHEPCAR M PHARRES » #
+ Flame Class: 94V-2/94V-0 EmW G o
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @1.5 MOUNTING HOLE @1.5
THICKNESS 1.0 THICKNESS 1.6
S
[ :
o —
< |
\ | < w
f
" <
N
PartNo. | A | C | Package Part No. A | Package
MASD-0.8| 0.8 | 4.0 2000 MASS-2 2.0
MASD-2 | 2.0 | 5.2 MASS-25 | 2.5
MASS-3 3.0
MASS-3.5 | 3.5
MASS-4 4.0 2000
MASS-5 5.0
MASS-6 6.0
MASS-6.5 | 6.5
MOUNTING HOLE @2.0
THICKNESS 1.6 MOUNTING HOLE @2.0 MOUNTING HOLE @2.0
THICKNESS 2.4 THICKNESS: T
Y
™ — @5 — “—T®1.8
T -t T
N :
T 0 o
@ [ 1
11 r <
[ | <t
~ @3 = I l
74.8 |
- @56
~— @4 —
PartNo. | A | T | Package
Part No. | Package Part No. | Package MAST-6 | 55|1.0 1000
MAL-8 1000 MASL-5.4 1000 MAST-18 [18.3| 1.6




Fig : RBEPCR > RYHIFARED » &

h g o
- Material: Nylon 66 (UL) E i e 45
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.0

MOUNTING HOLE @2.0 THICKNESS 1.6

THICKNESS 1.4 MOUNTING HOLE @2.0

i THICKNESS 1.0

L i
— N S
SN T 3
i ﬁ -7
© ¥
SN <~ ]
pesd v
048 - o48- - g5
Part No. | Package Part No. | Package Part No. | Package
MABA-2.6 | 2000 MAB-4 1000 MA-2.8S | 2000
MOUNTING HOLE @2.0
THICKNESS 1.6
MOUNTING HOLE @2.0
THICKNESS 1.0
8
KN
7: Part No. A B | Package
« MA-2.7DL |27 |1.9
' MA-35DL |35 |1.75
~ @3 MA-3.85DL | 3.85 | 1.9 2000
PartNo. | A | Package MA-45DL |45 |19
MA-258 |25 | MA-5DL 50 | 1.9
MA-35-1 |3.0 MA-65DL |65 | 1.9
MOUNTING HOLE @2.5
THICKNESS 1.0
i
(=}
MOUNTING HOLE @2.0 Part No. A B | H| T | Package 3
THICKNESS: T MA-18 |18 |19 |42]|16 T
; MA-2 20 [19 [42]16 &
@ MA-2L |20 |205|4.8]|20 —
U - MA25 |25 |19 41|16 45—
! MA-25L |25 |20 |48]16 PartNo. | A | Package
MA-3 30 |19 [48]|16
] MAMS-1.5 | 1.5
MA-3S |30 |18 [42]|16
— g — MAMS-1.7 | 1.7 | 2000
MA-32 [32 |19 |48]|16 MAMSSE 150
MA-32-1 |32 |21 |48|16 :
MA-35 [35 |19 [42]|16
MA-35L |35 [20 |48]|16 2000 MOUNTING HOLE @25
MA-3.75 |375|2.0 48|16 THICKNESS 1.0
MA-4 40 |19 (48|16 4
MA-45 |45 |19 |42]16 E@ﬁﬁf;
MA-47 |47 |19 |48|16 j
MA-5 50 |19 [48]|16 -
MA-56 |56 |20 [42]16 ~
MA6 |60 |19 50|16 !
MA-65 |65 |19 [50]|16 ~ gas -
MA-6.75 |6.75|19 |5.0]16
MA-8 80 [19 |50|16 Part No. | Package
MA-9 9.0 |19 [50]|16 MAMS-7.5 | 1000




A% AHPCKR P HARES » #

2 g )
- Material: Nylon 66 (UL) AR R RS

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black
. Unit: mm Part No. A | Package
MOUNTING HOLE @2.6 MOUNTING HOLE @2.5 MAM.6.35L | ©.35
THICKNESS 1.6 THICKNESS 16 | MAM-68 | 68
\ MAM-7 7.0
o MAM-8 8.0
' MAM-84 | 84 | oo
T MAM-9 9.0
< MAM-9.5 95
l MAM-11 1.1
-~ @43 - - @44 - MAM-12.7 |12.7
[ MAM-6.35L ] MAM-159 159
MOUNTING HOLE @2.5 MOUNTING HOLE @25 PatNo. | A | Package
THICKNESS 1.6~1.8 THICKNESS 1.4~1.6 MAM-L5 115
] MAM-15L | 1.5
— — MAM-2 2.0
< Lo
f( = —F ® MAM-2.5 | 2.5
P g i MAM-2.6 | 2.6
: @45 MAM-2.7 | 2.7
[ MAM-15L ] [ MAM-26 ] MAM-3 | 3.0
MOUNTING HOLE @25 MOUNTING HOLE @25 ik :
THICKNESS 1.6 THICKNESS 1.6~1.8 MAM-4 4.0
3 MAM-45 | 45
4 | MAM-48 | 4.8
f— @ MAM-5 5.0
T i MAM57 | 57
ﬁ— T MAM-6 6.0
04.5~ MAM-6.4 | 6.4
[ MAM-4.8, MAM-6.4 ] - @4.5-+
MOUNTING HOLE @3.0
THICKNESS: T MOUNTING HOLE @3.0
—DLD THICKNESS: T
T @
f
il E
{ <
3 4
4 H L F@H*‘
[ DCC-20S ]
Part No. A B | H T Package
DCC-2 20|31(50| 1.2~1.6
DCC-2.5 2513150 1.2~16 2000
MOUNTING HOLE 2.0 DCC27 | 27[31]50]12-16
THICKNESS 1.6 DCC-3 303150 1.2~1.6
MOUNTING HOLE 22.7 - DCC-3.2 3213150 12~16
. N
DCC-4 40 (3150 | 1.2~1.6
‘ DCC-4.5 45(31(50| 1.2~16
L DCC-5 50(31]50]| 1.2~1.6
& DCC-5S 50 (26|50 08~12 1000
{ DCC55 | 553150 1.2-1.6
1o - DCC-6 6.0 (31|50 12~16
Y — Jgask DCC62 | 623150 1.2-16
DCC-6.5 653150 1.2~1.6
Part No. | Package PartNo. | Package DCC-95L | 95 (31|60 1.2~16
MAMA-3.5 | 1000 MAL-34 1000 DCC-20S | 200 | 31|50 | 08




Fig : RBEPCR > RYHIFARED » &

e
- Material: Nylon 66 (UL) E M G HE I o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.0

THICKNESS 1.6

Part No. | Package

DCE-4 1000
MOUNTING HOLE @35
THICKNESS 0.8~1.6
T
<
e
‘ PartNo. | A | Package
MCM-8 8.0
<<
l MCM-14.5 | 14.5 1000
1
26
MOUNTING HOLE @4.0
THICKNESS 1.2~1.6
MOUNTING HOLE @3.7 b
THICKNESS 1.6 4 :
L
( \7\
AN
210.9
Part No. | Package Part No. | Package
DCCA-4.3 1000 MCO-16 1000

Part No. B | H | T | Package
TCBA-105S |6.0| 75|1.0
TCBA-10.5 |8.0]10.0{1.0| 1000
TCBA-10.5L [8.0(10.0|1.6

MOUNTING HOLE @3.0
THICKNESS: T

120°
N8
~l@a3a-

MOUNTING HOLE
THICKNESS 0.8

Part No. | Package
DCCB-4.1 | 1000

MOUNTING HOLE @3.0~@3.18
THICKNESS 1.6



A& THEPCHR > P AR ES » &
e

- Material: Nylon 66 (UL) E M G HE I o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE 2.0

THICKNESS 1.2~1.8

T
9 PartNo. | A | Package
MS-4 4.0

f MS-5 | 50| 2000
< MS-10 [10.0
il

L 1
- @37

MOUNTING HOLE @2.2
THICKNESS 1.6

T
o
Part No. | Package
PCLS-25 1000
L2635

MOUNTING HOLE @2.3
THICKNESS 1.6

. 0 Part No. | Package
o N MSB-2.8 | 1000
N
T
- 4.5
- Material: PBT (UL)
 Flame Class: 94V-0 MOUNTING HOLE @2.5
+ Color: Natural THICKNESS 1.6
 Unit: mm !
[Te)
—
T
—t Part No. | Package
~ MSM-2.5 | 1000
| T
~— @45 —

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

e MOUNTING HOLE @3.9
Unit: mm THICKNESS 1.6

iln

- g45-

Part No. | Package
MSMA-3.5 | 2000

T35+ 18-




g PCHRIGEHEBANE L » 5 —37

N % R HEE o
+ Material: Nylon 66 (UL) e L

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @2.5
MOUNTING HOLE @2.5 THICKNESS 1.6
THICKNESS 1.6
i
— I o
o
i |
@1.7
‘(
[y
* MAE2.5-6.5T 2 2.3 & M2X0.4P
Part No. Package Part No. Package
MAE2.5-6.5 2000 MAE2.5-6.5T | 2000
- Material: Nylon 66 (UL) i : PCHIG BEHEBANEE » 5 — 37
« Flame Class: 94V-2/94V-0 B AOMIBL R BHXBLEE o
« Color: Natural/Black
« Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.6
| PartNo. | A | Package Part No. A | Package
QH\ 2 MAE4 | 40| 1000 MAE-14 | 140
vt MAE-5 | 5.0 MAE-15 | 15.0
I MAE-6 6.0 MAE-16 16.0
n MAE-7 7.0 2000 MAE-17 17.0
@2.7 MAE-8 8.0 MAE-18 18.0 1000
N MAE-9 9.0 MAE-19 19.0
0 MAE-10 | 10.0 MAE-20 20.0
A MAE-11 | 11.0 MAE-22 22.0
MAE-12 | 12.0 | 1000 MAE-23.5 | 235
MAE-13 | 13.0 MAE-26 26.0
MOUNTING HOLE @3.0
THICKNESS 1.6 Part No. A | Package Part No. A | Package
MAE-5T 5.0 MAE-16T | 16.0
MAE-6T 6.0 MAE-17T | 17.0
MAE-7T 7.0 2000 MAE-18T | 18.0
MAE-8T 8.0 MAE-19T | 19.0
MAE-9T 9.0 MAE-20T | 20.0 1000
MAE-10T | 10.0 MAE-22T | 22.0
MAE-11T | 11.0 MAE-23.5T | 23.5
MAE-12T | 12.0 MAE-26T | 26.0
MAE-13T | 13.0 | 1000 MAE-26.5T | 26.5
MAE-14T | 14.0 MAE-27T | 27.0
* MAE-XT & &35 F M3X0.5P MAE-15T | 15.0




g PCRIGEHEBANE L » B —3

VN “% X HEE o
- Material: Nylon 66 (UL) AL e MBHR A B ARSI

. Flamg Class: 94V-2/94V-0 MOUNTING HOLE @4.0
+ Unit: mm '
vy MOUNTING HOLE @4.0
v THICKNESS 1.2

il

f
— | !
e
th L M3X0.5P
@2.7
[Tel
; H
10 /i
—t - MAEAD-6T 4 2.5 F M3X0.5P
Part No. | Package Part No. | Package
MAE4D-6 1000 MAE4D-6T 1000
- Material: Nylon 66 (UL) A& PCHRImAHERANEE » 7 —3%"
- Flame Class: 94V-2/94V-0 BB UREXBGE R -
« Color: Natural/Black
« Unit: mm MOUNTING HOLE @3.0
THICKNESS 1.6
'
@ MOUNTING HOLE @3.0 m ?
—5' THICKNESS 16 ais
! =l
~ —
] = |
@235 4-40 UNC
N
:
s —
- MAE-7-440T & 2.5% & 4-40UNC
Part No. | Package Part No. Package
MAE-7-440 | 2000 MAE-7-440T | 2000
- Material: Nylon 66 (UL) A& : PCHRISAHERAERZ » 7 —3T
» Flame Class: 94V-2/94V-0 B AMIR 4L R B L BHAE T o
+ Color: Natural/Black
+ Unit: mm ﬁ MOUNTING HOLE @4.0
= MOUNTING HOLE @4.0 —F THICKNESS 1.6
< THICKNESS 1.6 T
1 | <
I i
N 7
L M3X0.5P
L7
4!5»
635 - MAE43-XT & €.3% F M3x0.5P
MOUNTING HOLE @4.0 B :
THICKNESS 1.85 Part No. A | Package Part No. A | Package
+ MAE43-5 5.0 MAE43-5T 5.0
m—? MAE43-6 6.0 MAE43-6T 6.0
I MAE43-7 7.0 MAE43-7T 7.0
i ™ < MAE43-8 8.0 MAE43-8T 8.0
P MAE43-9 9.0 MAE43-9T 9.0
M3x0.5P MAE43-10 [ 100 | oo MAE43-10T [ 100 ] o
MAE43-11 11.0 MAE43-11T 11.0
MAE43-12.7 | 12.7 MAE43-12.7T | 12.7
J 6.35 L MAE43-14 14.0 MAE43-14T 14.0
' MAE43-15 15.0 MAE43-15T 15.0
Part No. Package MAE43-15.9 | 15.9 MAE43-15.9T | 15.9
MAE43-4.8LT 1000 MAE43-20 20.0 MAE43-20T 20.0




g PCHRIGEHEBANE L » 5 —37

A 22 3 Q F o
- Material: Nylon 66 (UL) AL e MARR A B ARSI

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

= Unit: mm MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS 1.6 4
I e
g t
4 M };f
i
N s
| |
g
@37
S
o
(=]
A
- MAE4-XT & &35 5 M4x0.7P
Part No. A | Package Part No. A | Package
MAE4-5 5.0 MAE4-5T 5.0
MAE4-6 6.0 MAE4-6T 6.0
MAE4-7 7.0 MAE4-7T 7.0
MAE4-8 8.0 MAE4-8T 8.0
MAE4-9 9.0 MAE4-9T 9.0
MAE4-10 10.0 MAE4-10T 10.0
MAE4-11 11.0 2000 MAE4-11T 11.0 2000
MAE4-12.7 | 12.7 MAE4-12.7T | 12.7
MAE4-14 14.0 MAE4-14T 14.0
MAE4-15 15.0 MAE4-15T 15.0
MAE4-15.9 | 15.9 MAE4-15.9T | 159
MAE4-20 20.0 MAE4-20T 20.0
- Material: Nylon 66 (UL) A% MRS ASKREXBRGEE
« Flame Class: 94V-2/94V-0 % — 38 5 BRAPCI °
« Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0

THICKNESS 1.6

Part No. | Package

f MCI-4.7 1000
>
|

- Material: Nylon 66 (UL)
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
@ -3

2.45

ATl Oz
e ~ -t Part No. | Package
Ll mountinG HoLE MCSH-7.2 | 1000

Ll g1s THICKNESS 1.6



Fig : RBEPCR > RYHIFARED » &

2 g )
- Material: Nylon 66 (UL) F i 0 [ 4 %

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

. Unit: mm MOUNTING HOLE @3.0

THICKNESS: T
MOUNTING HOLE @3.0
THICKNESS 1.6 A
= e
3 1
— <
¥ E—
- gH - - oH
PartNo. | A | H | Package PartNo. | A | H | T | Package
DCB-2 2065 2000 DCB-5 50| 6.0[1.6
DCB-25 |25(6.5 DCB-5.8 58| 6916
DCB3 |3.0/68 DCB-6 60| 68]16
DCB-35 |35(6.8 1000 DCB-6.5 6.5| 6.0[1.6
DCB-4 |4.0]6.8 DCB-7 70| 6.0[16
DCB-8 80| 6816 1000
DCB-8(2) | 8.0] 6.8[21
DCB-10 |10.0| 6.8|16
DCB-15 |15.0| 6.016
DCB-15L |15.0]15.0|1.6
THOKNESS T o0 Thekness T 2% Thckuess T 2% [De1ss [15.0] 60[16
; Y
m
: -
Mﬁ . }
<
69 - E I
Q o 10 —
— ST
[ DCB-2D, D T
DCB-3D,
DCB-3.5D ] [ DCB-15D] [ DCB-16DL,
DCB-20DL ]
MOUNTING HOLE @3.0 PatNo. | A | B | T | Package
THICKNESS: T * PartNo. | A | B T Package DCB-8D 8.0/3.85|1.2~1.7
— DCB-2D |20(35[1.2-1.7 DCB-85D | 85|40 |1.2-17
— DCB-3D |3.0(37[1.2-1.6| 2000 DCB9D | 9.0[40 [1.2-16
<T( DCB-3.5D |35 |4.01.2~16 DCB-11D |11.0(3.7 |1.2-16
| DCB-4D | 4.036|1.2-17 DCB-12D |12.0(40 [1.2-16| 1000
g7 DCB-4.5D |45 |3.6|1.2~17 DCB-13D |13.0(4.0 |1.2-16
DCB5D | 5.0(36(1.2-1.7| 1000 DCB-15D |15.0(3.7 |1.2-16
QTO DCB-55D |55]4.0]1.2~16 DCB-16DL |16.0 3.7 |1.2~16
J 4 DCB-7D | 7.0/4.0(1.2-16 DCB-20DL |20.0 (3.7 |1.2-16
64—
MOUNTING HOLE @3.5
MOUNTING HOLE @3.0 MOUNTING HOLE @3.1 THICKNESS 1.6

THICKNESS 3.0 THICKNESS 1.6 v

MOUNTING HOLE @3.5
THICKNESS 1.6

4
-
A dos

B
- QHF‘?
o — @6 — .
@ 0
T <~
@68 o654 PartNo. | A | Package )
PDC-3 |[3.0
Part No. | Package Part No. | Package PDC-35 35| 2000 Part No. | Package
DCBA-3.5 1000 DCBA-8 1000 PDC-4 |40 PDC-4.5D | 2000




Fig : RBEPCR > RYHIFARED » &

2 g )
- Material: Nylon 66 (UL) F i 0 [ 4 %

» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

» Unit: mm MOUNTING HOLE @3.5
THICKNESS: T
MOUNTING HOLE @35 f
THICKNESS: T @ 10
/
@
N
¥
T
<C
\ 14
PartNo. | A | B | T | Package Part No. A T Package
PDC-5 5012816 PDC-5.5D 55 1.6
PDC-9 9.0(28|1.6 2000 PDC-6D 6.0 1.6
PDC-10 | 100 (2.6|1.8 PDC-6.5D 6.5 1.6

PDC-7D 70| 16 2000
PDC-13D | 13.0 | 1.2~1.7
PDC-135D | 135| 16
PDC-26D | 260 | 1.6

MOUNTING HOLE @3.5
THICKNESS 1.6

Part No. | Package
MCN-10 1000

MOUNTING HOLE @4.0

THICKNESS: T
. PartNo. | A B T Package
m _ ~
A MC-2 20|31 |12~17 2000
Ly MC-2-1.2 | 20 | 35 |0.8~1.0
< MC-2.5 251|365 |1.2~1.7 | 1000
s T
MOUNTING HOLE @4.0
THICKNESS 1.6
\
MOUNTING HOLE @4.0 *t
THICKNESS 1.2~1.6 =
i —
m 0 - g5
T
L‘n PartNo. | A | Package
OO0 3 MC3 |30
g5 ! MC-32 | 3.2
MC-35 | 35| 2000
Part No. | Package MC-4 4.0
MC-3.5-1 1000 MC-5 5.0




Fig : XBEPCR > RTHIARRED » &

2 g )
- Material: Nylon 66 (UL) MW 4 5

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black Part No. A | Package

+ Unit: mm MC-6 6.3
N MC-7.5 7.5

i ] [ ; o MC-8 8.0 | 2000
— MC-8.5 8.5
T MC-9 9.0
] [ ! MC-10 | 100
J MC-11.5 | 115

MC-12 12.7 1000
- g5 MC-16.4 | 16.4

MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6~1.8
THICKNESS 1.6~1.9

N

' ™

© S

)

k! o
— 4:: Y —
o1 . Material: PC (UL)

Part No. | Package Part No. | Package
MCEA-1.9 1000 MCE-1.9 1000

MOUNTING HOLE @4.8
THICKNESS 1.6

il

T Part No. A | Package
< MCL-9 | 9.0
] E | MCL-16 | 160 | 0%
- Material: Nylon 66 (UL) R LBEPCIK > B PHIFRRES » &
+ Flame Class: 94V-2/94V-0 & W [E4E 5% 0 AR T 4L A 3R
: Sﬁ!ﬁrm'?nat”ra"B'a"k MOUNTING HOLE @40 # EIE
' THICKNESS 1.6
b
c‘:;.
e
~ { PartNo. | A | Package
| < MCH-6 | 6.35
FEN { MCH-10 | 9.7 | 1000
o1 MCH-12 | 12.7
~ @5.7
- Material: Nylon 66 (UL) A% PCREFZERANER » % —E#H
+ Flame Class: 94V-2/94V-0 BAMARE E > B I o
- Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.7

‘f
O

~—+@3.7

Vﬂ Lo
o 55 Part No. | Package
rT @é KVLMA-10 | 1000
= —r
bs

MOUNTING HOLE
THICKNESS 0.8~1.6

=
B

f
4
o

}



g : B ZPCRWEAR £ > —FABR ST
2 b 5 o
- Material: Nylon 66 (UL) AR F o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
»‘ @5.5 ‘* M3x0.5P
ﬁfv y ‘*7-1*
< i
ey i
f
w ] MOUNTING HOLE
= THICKNESS 1.0~1.8
Part No. A B C | Package Part No. A | B | C | Package
KVLM3-5 50 |11.5 [3.0 KVLM3-12.7 | 12.7]19.2 | 8.0
KVLM3-6 6.0 |125 [4.0 KVLM3-15.9 | 15.9 (224 |8.0
KVLM3-6.35 | 6.35|12.85|4.35 KVLM3-18 |18.0|24.5|8.0 1000
KVLM3-8 8.0 |145 |6.0 1000 KVLM3-20 |20.026.5|8.0
KVLM3-9.5 95 |[16.0 [8.0 KVLM3-22 |22.0|285 8.0
KVLM3-10 |10.0 |[16.5 |8.0 KVLM3-25.4 | 25.4(31.9|8.0
KVLM3-12 | 120 |185 [8.0

'
S
g
oo

f

|
!

MOUNTING HOLE
THICKNESS 0.8~1.6

W
10 —
16.5 —

Part No. | Package

77 KVLM4-10 | 1000
- Material: Nylon 66 (UL) A& : BZPCR» M £ » — AR AR
+ Flame Class: 94V-2/94V-0 HAER o

Color: Natural/Black
« Unit: mm

T 224 j 48 F '

&/
MOUNTING HOLE
m PartNo. | A | B | Package

[ THICKNESS 1.85
\ MCIA-12 |12.0|17.0

= MCIA-16 |160 210

3.2

—
[
A

Part No. L | Package
TCBC-8.7 8.7
TCBC-13.7 | 13.7 1000

231

e i m g N s s

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6



Rig : BEPCRA#MK E » — &S A

« Material: Nylon 66 (UL) HBRHEA -
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm

~-1.8

541~

~ 4 -
MOUNTING HOLE
THICKNESS 0.8

MOUNTING HOLE @4.8~@5.0
THICKNESS 2.0

Part No. L | Package Part No. | Package
TCBE-8.7 8.7 1000 TCBD-4.8 1000
TCBE-13.7 |13.7

- Material: Nylon 66 (UL) AR BEPCRNMMAR L » —FBAABB
« Flame Class: 94V-2/94V-0 P FEPCKR » BREF o

+ Foot Material: Silicon Rubber (UL)
+ Foot Flame Class: 94V-0
« Color: Natural/Black

« Unit: mm A
N
N
<t
o ~ Ay
54—,
i
© —— T+
g s
L L‘? 3M DOUBLE ADHESIVE TAPE
7
{ ?Tﬁ (PCB SPACER) (FOOT)
7 [ TCBH-17 ] [ TF-17521 ]
#”,3%'&“53 *{%LE 040 PartNo. | PartNo. | Package
TCBH-17
TCBH-17F | TF-17521 1000
o R AT BB R
- Material: Nylon 66 (UL) A —ANEHMBRE L -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.6
i ?6.1~06.4
% @3.2~@3.3
|
It
j MOUNTING HOLE
—@2.8 Part No. | Package
- 2102 ACBR-6 | 1000

THICKNESS 1.6



Mg s — AR ERERE L -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @40  MOUNTING HOLE @4.0
THICKNESS 2.7 THICKNESS 1.6~2.0
~ 6.5 -5~
f @35
N~ ~
| 1l
i
< < MOUNTING HOLE
1 i [ — ;
@Il - @)~ .
PH— @H
[ ACB-2.3 ]

PartNo. | A | F | H | J | Package
ACB-2.3 |25|1.0(10.0/|2.8
ACB-25 (25]14]115|28 1000
ACB-3 32(1.2]11.6(3.2

MOUNTING HOLE @4.0
THICKNESS: T

26.5 5
ST N\ @35
o
I MOUNTING HOLE @4.0

MOUNTING HOLE THICKNESS 1.6

4
H o<
\ | 7

= Ty -
@H 4.\ 7

PartNo. | A [ B | F | H T Package MOUNTING HOLE
ACB-5 50(7.0]13|11.7| 16
ACB-6 63/70|13|116| 1.6 1000 L

~6.8—~

~6.35~
1.4

ACB-8 | 80[70[14[116] 16 o 633‘-2
ACB-60 |60.0]7.3|2811.3]1.2-17 '
ACB-68 |68.0]73(13|11.3] 16 250 PartNo. | Package
ACB-74 |740[73113]11.3] 16 MCB-6 500
MOUNTING HOLE @4.5
THICKNESS 1.2~2.0
@12.2
~—14.5 —
A o7
[Te)
7 r
1 &
TN MOUNTING HOLE

1 Part No. | Package

76.7 MBC-11 500

MOUNTING HOLE @4.5~@4.8
THICKNESS 0.8~2.5

T 15: @16.5
> a7

2.6

~8.6 JSSL

Part No. | Package
MOUNTING HOLE MBD-10 500

@6.7
@19.4—




g #ARSR i AR B SCRG B Z >

- Material: Nylon 66 (UL) 7 — A A HEBEANPCIR °

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @4.0 Part No. A Package
MOUNTING HOLE @4.0 THICKNESS 1.2~1.9 TCBS-5 5.0
THICKNESS 1.2-17 11~ MOUNTING HOLE @40 [TcBS-6A | 6.0
— % THICKNESS 1.2~17 :

M\ K TCBS-6 | 6.35
| * 108+ TCBS-7 7.0
N TCBS-95 | 95
— TCBS-10 | 10.0
< T TCBS-12.5 | 12.5

< TCBS-15 | 150 | 1000
B NIy TCBS-20 | 20.0
@99~ ~l@6.91- TCBS-24.5 | 24.5
TCBS-25 | 25.0
FOR M3 SELF-TAPPING SCREW 025 225 TCBS-26 26.0
[ TCBS-385 ] TCBS-30 |30.0
Part No. Package FOR M3 SELF-TAPPING SCREW TCBS-35 35.0
TCBS-18 | 1000 TCBS-385 | 385

THICKNESS 1.2~1.7
THICKNESS 1.2~1.7 ~—10.8 —

[‘6.6+ §
o
.

MOUNTING HOLE

r
()2

(o2}
)
B ~-—-1.05
NS

k-

*Q7+
MOUNTING HOLE FOR SCREW
Part No. | Package PartNo. | A | B | C Screw Package
TCBT-3.6 1000 TCBT-7 7.0/6.9 |24 | 4-40 UNC

TCBT-7.7 | 7.7159 |26 M3

TCBT-8.5 | 85(6.9|2.6 M3 1000
TCBT-16 [16.0(6.9 | 2.4 | 4-40 UNC
-5,
™
77': THICKNESS 1.2~1.9
g
o <
B ! 7 @4.5
#q Part No. | Package
5.7 3
225 TCBT-19 1000
Jgeo- MOUNTING HOLE

FOR M3 SCREW



Fig : RBEPCR > RYHIFARED » &

2 g )
- Material: Nylon 66 (UL) F i 0 [ 4 %

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @4.0 PatNo. | A | D | H | Package
THICKNESS 12-1.7 MBS-6 64114118
Do MBS-8 80| 114 | 118
m,l MBS-8.9S | 89| 11.1| 8.0 1000
) MBS-8.9 89111119
MBS-95L | 95| 114 | 20.0
L MBS-10 10.0 | 11.4 | 12.0
l MBS-11 11.0 | 114 | 12.0 500
— MBS-14 140 | 11.4 | 12.0
~ OH— MBS-74 74.0 | 104 | 11.3 250

MOUNTING HOLE @4.5
THICKNESS 1.2~1.7

12.6 — ‘ .
e [~ d
T 5
2T Lliip
I 15
o MOUNTING HOLE Part No. | Package
\@‘ N
MTD-11 500
k®13.51
- Material: Nylon 66 (UL) A& BRI AM3.58AR B U &
+ Flame Class: 94V-2/94V-0 ® s B — 8 HERAPCIK ©
+ Color: Natural/Black
+ Unit: mm
MOUNTING HOLE ©4.0 PartNo. | A | B | C | Package
THICKNESS 1.6 856 64 281102
LT) BS-9 95| 8.0[10.2
I | BS-12 12.7]111.0]10.2
T 1 BS-14 |14.0]12.7[10.2
| < il BS-15S |15.0(13.0(10.4
iy Al BS-15 |15.9[13.0/102| 1000
~-g2.9 BS-19 |19.1]16.2|10.2
ifo BS-22 22.2119.4110.2
/4 BS-25 25.4124.0110.2
FOR M35 BS-28 28.6125.9/10.2
SELF-TAPPING SCREW BS-29 20.0125.9/10.2

MOUNTING HOLE @4.0 mgwENsGs I-zl%LE 240

THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 2.0 o A
0 & |
= [ e T
l : P~
T L= [ Wil =%
Co—r 4 L !
S --g2.65 . N
i - i8]
~ ~
—F FOR M3.5~M4
FOR M3x6 FOR M35 SELF-TAPPING SCREW
SELF-TAPPING SCREW SELF-TAPPING SCREW

PartNo. | A | B | Package
Part No. | Package Part No. | Package BS-10-1 [10.0| 8.0 1000
BS-8 1000 BS-35.7 500 BS-20-1 |20.0(12.0




Rz AR M3 8 X BLKE E »

- Material: Nylon 66 (UL) A — SR EARENPCHR °
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @4.0

+ Unit: mm THICKNESS 1.2~1.7

o ,
O )= Part No. | Package
L jJ BSB-6 1000

8.6
- Material: Nylon 66 (UL) A% IBPCKR » B PHARRES » #
« Flame Class: 94V-2/94V-0 & W[4 8% o
« Color: Natural/Black
+ Unit: mm MOUNTING HOLE @4.2
THICKNESS 1.6
23

f
[T}
s OO
Part No. | Package
<:> L BSB-85 | 1000
/K

- Material: Nylon 66 (UL) A&« AR AM3. 58k B SR &
« Flame Class: 94V-2/94V-0 £ B —FAHEBEBEAPCIR o

« Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0

THICKNESS 1.6~2.0

1l

Part No. | Package
BSCL-9.5 1000

- Material: Nylon 66 (UL) R — 3% B A SRAK 718047 B S R AR
- Flame Class: 94V-2/94V-0 + o —IRE ENPCIR L o

« Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0

THICKNESS 1.6

ﬂ f Zﬂ
N /
ER
; ; Part No. A | Package

: j( 1 SRLCB-9 95

L3 | SRLCB-11 | 111

e SRLCB-12 |127
64 SRLCB-15 |159| 1000

i SRLCB-19.1 [19.1

?4.1
@ o SRLCB-22 |22.2
ﬁ SRLCB-25 |254




& : —IRBLASR4 % 7 84T Bl A AR

s — ¥ TN °
- Material: Nylon 66 (UL) o =3Bl & HPCAR &
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm
1102 ﬁm.l
14
6.4
o
@
<
<<
Part No. A | Package
o SRLA-29.5 |29.5
@— SRLA-31.5 | 315 1000
MOUNTING HOLE @4.75~@4.8
THICKNESS 0.8~2.0
S
] © —
3 M3x0.5P = . ©
M3x0.5P f } M4X0.7P =
1 . L =y
b BIF i I
FOR SNAP RIVET :
w2y, FOR SNAP RIVET FOR SNAP RIVET
T
@4.1
Part No. A | Package Part No. A | Package Part No. A | Package
TCEB3-9.5 9.5 1000 TCEB3-12.7 |12.7 TCEB4-9.5 9.5 1000
TCEB3-11.1 |11.1 TCEB3-15.9 |15.9 TCEB4-11.1 |11.1
TCEB3-19.1 |19.1| 1000
TCEB3-22.2 |22.2
TCEB3-25.4 | 254
" ; —t
M4x0.7P ~ 6-32 UNC ~ 632 UNC =~ -
T 1 - | -
] < L < <<
[ e [ | ﬁ;
Joal 64 ~6.41-
102 FOR SNAP RIVET FOR SNAP RIVET ~ 10.2 |-, FOR SNAP RIVET
< N
j
@4.1 @4.1
Part No. A | Package Part No. A | Package Part No. A | Package
TCEB4-12.7 | 12.7 TCEB632-9.5 | 9.5 1000 TCEB632-12.7 | 12.7
TCEB4-15.9 | 15.9 TCEB632-11.1 | 11.1 TCEB632-15.9 | 15.9
TCEB4-19.1 |19.1| 1000 TCEB632-19.1 | 19.1| 1000
TCEB4-22.2 | 22.2 TCEB632-22.2 | 22.2
TCEB4-25.4 | 254 TCEB632-25.4 | 25.4




g AR RBHE L » 5 —HAE

« Material: Nylon 66 (UL) HENPCHR ©
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.6
Part No. A | B | Package
w0 %*BSCB-7 | 7.0| 55
T BSCB-10[10.0| 8.0
i — BSCB-12|12.0| 8.0
éé T @ *BSCB-14|140]100| 0%
— —t BSCB-15| 15.0] 10.0
=\ M3x0.5P BSCB-25(25.0{10.0
5~
MOUNTING HOLE @4.0
THICKNESS 1.6
MOUNTING HOLE @4.0 T
THICKNESS 18 MOUNTING HOLE @4.0 0
THICKNESS 2.0 |
=
; b
% =1
’ o o\
e B
M3x0.5P LBJ
L | Part No. A | B | Package
6 BSCB4-6 | 6.0] 4.0
Part No. | Package Part No. | Package BSCB4-8 8.0/6.0| 1000
BSCB-20 1000 BSCB-6 1000 BSCB4-10 |10.0| 8.0
- Material: Nylon 66 (UL) A&+ MR B 6-3284% B U &
+ Flame Class: 94V-2/94V-0 T B — A HEBRAPCK °
- Color: Natural/Black
+ Unit: mm
~ MOUNTING HOLE @4.0
S THICKNESS 1.6
T
o
3
A Part N Pack
art No. ackage
i
BSB632-15.9 | 1000
:
Tt
- Material: Nylon 66 (UL) AR BRI ABLER » 5 —FRE
« Flame Class: 94V-2/94V-0 HBEANPCR °
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.57 —~@7.1~
—=—2.5
N Part No. A | Package
H BSC632-9.5 9.5

BSC632-12.7 |12.7
] [ BSC632-15.9 [15.9
|

BSC632-19.1 [19.1
[ % |

BSC632-22.2 |22.2
6-32 UNC

1000

BSC632-254 |254




g AR RBHE L » 5 —HE

« Material: Nylon 66 (UL) HENPCHR ©
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @40 _ - 1
THICKNESS 1.6 25
Part No. A | Package
BSCM4-9.5 9.5
BSCM4-12.7 |12.7
][ BSCM4-15.9 |[15.9
; BSCM4-19.1 [19.1 1000
= BSCM4-22.2 |22.2
MAX0.7P BSCM4-25.4 | 25.4
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 1.6 THICKNESS 1.6
~@7.1- ~@7.1-

il ]
IR NI

i IEI)
+ +
Jg3hk M4x0.7P g3l 6-32 UNC

Part No. A | Package Part No. A | Package
BSDM4-9.5 9.5 BSD632-9.5 9.5
BSDM4-12.7 | 12.7 BSD632-12.7 |12.7
BSDM4-15.9 |15.9 BSD632-15.9 |15.9
BSDM4-19.1 |19.1 1000 BSD632-19.1 |19.1 1000
BSDM4-22.2 | 22.2 BSD632-22.2 |22.2
BSDM4-25.4 | 25.4 BSD632-25.4 | 25.4

- Material: Nylon 66 (UL) At —mBEERAARETHE 5 —
+ Flame Class: 94V-2/94V-0 3B EAPCHR L o
+ Color: Natural/Black
« Unit: mm
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 0.8~2.0 THICKNESS 1.2~1.6

5.6
13
—S
= -
f
6.751~

Wﬁﬁ.B[v
] @Eﬂ

3 <

* f

I I . ' I I 1
‘- o g61- |
" ha 147
11— -
MOUNTING HOLE @7.9 MOUNTING HOLE 6.0
THICKNESS 6.4 THICKNESS 7.0
Part No. | Package Part No. | Package

WBHC-6.4 | 1000 ACBW-6.8 1000




Rt —mEARRKRAREH L B —

e} =N °
- Material: Nylon 66 (UL) % Bl & RPCAR L
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.2~1.7 PartNo. | A | Package
WBH-5 48
o WBH-6 6.4
- Rl WBH-9 9.5
, < WBH-11 | 11.1
o ! WBH-12 | 12.7 1000
1 WBH-16 | 15.9
2l .
ﬂ8-4j WBH-19 | 19.1
HOLE Il\TllslANEL @7.9 WeH 22 1222
THICKNESS 6.4 WBH-25 | 254
l1g Part No. | Package
MOUNTING HOLE @4.0 WBHB-1.8 | 1000
THICKNESS 2.6~6.3
- Material: Nylon 66 (UL) Rt —mBE AR E > 5 —m X F
+ Flame Class: 94V-2/94V-0 PCHR » #H T R4 » PCK
« Color: Natural/Black % AL o
« Unit: mm )
"—’T‘@5.85
- f
7 —
=
126 @ e gl
B .
- »\ 77 L Part No. | Package
PAA-11 1000
L7t
MOUNTING HOLE
- Material: Nylon 66 (UL) R : BRPCHRAKARE > FEREHK
+ Flame Class: 94V-2/94V-0 RIEER s SPBLEE o
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 0.8~1.7 THICKNESS 1.2~1.7
o Y
f o~
8 D
| f
o =
© — | ~
= & R +
126 @ e gl! 126~ @ - 585
i A7k n ST
[{e} [{e]
b7t A7kt
MOUNTING HOLE MOUNTING HOLE
Part No. | Package Part No. | Package

PCC-6 2000 PCC-11 1000




Fig : RBEPCR > RYHIFARED » &

2 %5 s g E o
- Material: Nylon 66 (UL) E R UGS R %
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black ~—11.3
« Unit; mm 6 F—8 — ﬁSj
- 1
5 G 4 T |
T C____] o <
e uz=alia=e
U7 U L
o N
3 MOUNTING HOLE @3.0
MOUNTING HOLE @2.5 THICKNESS 1.6
THICKNESS 1.0 PartNo. | A | Package
Part No. | Package LIO-10 |10.0 2000
L1J-4 2000 LIO-10.5 |10.5
R10.3ﬂ

2.8 —

Part No. | Package

MOUNTING HOLE @3.0 LIO-8 2000
THICKNESS 1.1~1.6

- Material: Nylon 66 (UL) A& : BZPCRWEAR £ » 5 H1EF
+ Flame Class: 94V-2/94V-0 A& 22 F] o
« Color: Natural/Black
« Unit: mm
*‘ 6 o6
12— 13 @2.4
Fg.e» 11
i f R I G —— MOUNTING HOLE
< <2 = || © THICKNESS: T
© 8 ~ o~
R [y S— -
— 1 w o Part No. T Package
(Yo}
— LDD-10 1.6~1.8 500
LDD-10(2) |1.8~2.0

- Material: Nylon 66 (UL) A : ARPCREZH AR X o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black 10 —-
« Unit: mm ﬁ T
E Lo-
D
|
b
©
o
MOUNTING HOLE @3.8 ng;ﬂe PartNo. | Package
THICKNESS 2.5 ? LIES-1 1000

N L—' 35
N
- Material: Nylon 66 (UL) A& : B ZPCHRHLHEAR L > PCAR A B &%
+ Flame Class: 94V-2/94V-0 BE s B¥d o
« Color: Natural/Black
+ Unit: mm
r@ﬂa‘ ‘«B.Yﬂ4
S T <
i N T - PartNo. | A | B | Package
| B LHC-8 | 84108
o - MOUNTING HOLE
-5 -6 O NG MO [Lhc-12 [125(149] 0%




AR BABKEZERORAHZ L
« Material: Nylon 66 (UL) EESGER
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
<
@125 ! .
098+ | ﬁ - 08 -
™
T ~ 085 [ S
—
MOUNTING HOLE
s THICKNESS 3.0
\ MOUNTING HOLE
THICKNESS 3.0 PartNo. | A | Package
YES-08 | 0.8
Part No. | Package YES-32 | 3.2 500
YES-3 500 YES-48 | 4.8
- Material: Nylon 66 (UL) Rig : B BT %A NPCRX
+ Flame Class: 94V-2/94V-0 T o
« Color: Natural/Black
+ Unit: mm
~ 095 - ~06.8- niie
ﬂ 09.7 ’_,

MOUNTING HOLE MOUNTING HOLE

THICKNESS 0.8~2.0 THICKNESS 2.0

{ |
< ‘ w0 |
io © [qp]
Hp | g w ]
Part No. | Package Part No. | Package
ES-1 2000 ES-2 1000
* Material: Nylon 66 (UL) Rig : BABRGANPCRZ B R X E R
« Flame Class: 94V-2/94V-0 BB EJE o
- Color: Natural/Black
« Unit: mm
@12.7
( Lo
AN
=07~ »‘ D4.7ﬁ @ -~ 075
©
—
}

MOUNTING HOLE
THICKNESS 0.4~1.6

MOUNTING HOLE
o THICKNESS 0.8~3.0
I

MOUNTING HOLE
THICKNESS 1.6

Part No. | Package
ESS-1 1000

Package Part No. | Package
1000 ESS-4 1000




AR : BABERANPCRZ B ©

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
*Dglga
@25
© -
263
K-—7 ] «© Part No. | Package
NIV MOUNTING HOLE
U £ S THICKNESS 2.4 ESS-76 | 1000
I\ J
09,6 - 09,5+ 012 5.5
‘ @2.7 3.2 :
] 07.2 - I *‘ 09.6 "’
© O 06,350~ @
[ce]
« MOUNTING HOLE S . T
< i [ MOUNTING HOLE
s - -7
@ o THICKNESS 08-32 @L MOUNTING HOLE i 7 THICKNESS 15
o ©  THICKNESS 2.8~3.2
—
Part No. | Package Part No. | Package Part No. | Package
ESS-2 1000 ESS-5 1000 ESS6-2.5 | 1000
-~ 6.7 04.5
T@3.4 ﬂDh
o
MOUNTING HOLE
THICKNESS 1.0
5 Part No. | Package
@% ETSA-35 | 1000
(a2}
T 42
@67 -
@34 ~@C-
Tt T PartNo. | A | B | C | Package
j‘ . ETS-3 3.0(54] 44
T i ETS3-1 | 30[5.4]50
M\/\ i u ETS32 | 3.2(54|44
~ 49 045 ETS3.2-1| 3.2]54]5.0
ETS-3.2-2 | 3.2]4.0][50]| 2000
MOUNTING HOLE | ETS34 | 34[54 (44
THICKNESS 2.0 ETS-3.6 3.6(/54(5.0
ETS46 | 46|54/|44
26.7 |- ETS48 | 48|54[44
. ~ 268 - @355 @65 Q2. : O 98| %
P I ° ; P26 ETS-63 | 6.3|54[44
| |
— < ] < < ETSS-65 | 6.5]4.0]4.4
Qf —+ [Ez? = i I + ETSTM | 7.0] 4.0
J488 JHEL_’ i % %%4 ETS-7 7.0]5.0
' 045 5.2 046 -5+ 045 ETS-8 80/54]44] 1000
D ETS10 | 100|54 |44
MOUNTING HOLE MOUNTING HOLE MOUNTING HOLE ETS-12 127154 |44
THICKNESS 2.3 THICKNESS 3.0 THICKNESS 2.38 ETS-16 |15.9|5.4] 4.4
[ ETS-3.2-2] [ ETS-TM ] [ETS7] ETS-19 [19.1]54]44




AR : BABERANPCRZ B ©

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.7 *‘ @12.2 ‘* ‘-—TQTB
FOR M2.5~M2.6 SCREW

|

\
\
\
\
L

T

T
SE
=
3'9jj7 L19.4H‘
e

@2.9

~ 045 ~ o7 -
MOUNTING HOLE MOUNTING HOLE
THICKNESS 18 THICKNESS 20 | |
Part No. | Package Part No. | Package
ETSB-6 1000 ESS-19 1000
@35

— PC THICKNESS: C

MOUNTING HOLE @3.0

THICKNESS: T
Part No. A|B|C T Package
BSE-22 |216|25|1.6|1.6~25 1000
BSE-2.2L |22 |33|20]|1.7~3.05
- Material: Nylon 66 (UL) Rig: BRBARNERZ o
+ Flame Class: 94V-2/94V-0 o
- Color: Natural/Black ~ |
« Unit: mm T =
l
75.6 t
i PartNo. | Package
S CUS-5 2000
S
MOUNTING HOLE @5.0
THICKENSS 0.8
- Material: Nylon 66 (UL) Rig: —SRAHEBRAKRKRERZ » 5 — 3R
« Flame Class: 94V-2/94V-0 RBP4 BEFECHAMAR » —4%A

« Color: Natural/Black ADVDAIZPCKRE & o

+ Unit: mm
N R EBAR R & B3R &% RS
e (Hole must be based on the size of your screw)
@3.7 Z Pk
' P11 o
0108 - Lt
: : T MOUNTING HOLE | PartNo. | A | B T Package
| | < THICKENSS: T DVDS5 | 5.0] 7.8/0.8~1.0
I 1 l @ DVDS-9 9.4]14.7/0.8~1.2 500
| | DVDS-12 |12.7]18.1|0.8~1.2




Rig: AREEXEREZ » B&FRH%

« Material: Nylon 66 (UL) A
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
76.8 —
1%er e
@2.95 @51 7 <, ;
o
| Lo o < 6,
[T} c‘o } ! f N
5 | -~ | @
s = |
3 S MOUNTING HOLE
THICKNESS 2.8
; SN
t@ N @@m !
t sicoanil
MOUNTING HOLE @4.0 MOUNTING HOLE @5.5 FOR M2.5 or M2.6 SCREW
THICKNESS 2.3~2.5 THICKNESS 2.3~2.5
Part No. | Package Part No. | Package Part No. | Package
SOR-2 2000 SOR-1 2000 SOR-3 2000
- Material: Nylon 66 (UL) R : BEPCRA#KRE » £ THE > §
+ Flame Class: 94V-2/94V-0 Frdp o
+ Color: Natural/Black ~— @8 —
* Unit: mm 235
RS
| | | ©
R |
[ Part No. | Package
il SSUL-8 | 1000
TR
1

MOUNTING HOLE @3.5
THICKNESS 5.5

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

A% Bk B R PCARM AR £ > deft A
BT PCHR B R L o

St T

((i)) w3 Part No. A|B T Package
= r ol SS1-2S 20]05|0.8~1.0
e SS1-25S |25(05(0.8~1.0
#",38%'95%:'}(% 230 SS1-3S  [3.0/05]0.8~10
SS1-35S |35(05(0.8~1.0
‘ ; SS1-4S 40]050.8~1.0
Ui im SS1-45S | 4.5 (0.5 | 0.8~1.0
P SS1-5S 5.01]05|0.8~1.0
N s HOLE 23.0 dgoa T SS1555 |55 | 0.5 | 0.8~1.0
FOR M2 SCREW SS1-6S 6.0 0.5|0.8~1.0

SS1-2L 20110| 16 2000
PartNo. | A | B T Package SS1-25L |25[10| 16
SS1-2 20]12|0.8~1.0 SS1-3L 30[10| 16
SS1-25 125(120.8~1.0 SS1-35L 35|10 16
SS1-3 3.0(12|0.8~1.0 SS1-4L 40110| 16
SS1-35 |35(120.8~1.0 SS1-45L 45|10 16
SS1-4 40]12|08~1.0| 2000 SS1-5L 5010 16
FOR M2 SCREW SS1-45 |45]1.2]0.8~1.0 SS1-55L |55110| 16
SS1-5 50[12)0.8~1.0 SS1-6L 6.0/10| 16
Part No. | Package SS1-55 |55]1.2]0.8~1.0 SS1-8L 80[10| 16
SS3-7(1.3) 1000 SS1-6 6.0/12)|0.8~1.0 SS1-9L 9.0[10| 16




it : B Bl 2 PCRWEAR £ » 2ol b

. Material Nylon 66 (UL) FYGETHPCREZ R AR E ©

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black

* Unit: mm PartNo. | A | C T | Screw| Package

SS2-25U | 25(21|16~18| M2

SS2-25S | 25| 2.7 1.6 M2.6

SS2-3S 3.0 27 1.6 M2.6
Ea— SS2-45 | 40 27| 16 | M26

MOUNTING HOLE @4.0 S§S2-58 |50 (27| 16 | M26

THICKNESS: T SS2-6S 16027 16 | M26

:

~3.5
@5.5

0 SS2-25 |25[28|16-18| M26| 0
M 1# SS2-3 30(28]16~1.8| M2.6
el SS2-4 40]28]1.6~18] M26
j,: SS2-5 50|28 ]16~1.8| M2.6
i SS2-54 | 54|28|16~1.8] M26
~lgc - SS2-6 | 6.0 |28 | 1.6-1.8 | M2.6
FOR SCREW SS2-8 [ 80]281.6~18| M26
SS2-95 |95]28]1.6~1.8| M26
MOUNTING HOLE @48  MOUNTING HOLE @48  MOUNTING HOLE @4.8
THICKNESS 1.0~1.2 THICKNESS 1.2-1.7 THICKNESS 1.2-1.7
Y
‘ 1 BN o
i —r
T T
< Part No. A | B | D | Package
L 4@32 1 SS-10 | 95 |15|64
@b L% T @32 SS-10A | 95 |17]65
SS11 111 [15]64
FOR M3 SCREW FOR M3 SCREW FOR M3 SCREW SS12A 1120 115 6.4
[ ss-25] [ SS-10A ] SS-12 127 |1.5/6.4
SS-14 [14.2 |15[6.4| 1000
PartNo. | A | B | D | Package PartNo. | A | B | D | Package SS-145 |1455|15(6.4
SS-2S [2.0|15]6.4 SS-5  |4.8|15|6.4 SS-15  |150 |15/6.4
SS-24 [24|15|6.4 SS-5A  |5.0|15]6.4 SS-16 159 |15|6.4
SS-3_ |32]15/64] . SS-6  |64]15/64] . SS-17.2 |17.2 |15]64
SS-35 |35|15|6.4 SS-7  |7.0/15/65 SS-19 191 |15/64
SS-4  |4.0|15|6.4 SS-7.4 |74|17]65 Ss-22 |222 [15]64] .
SS-45 |45|15|6.4 SS-8  |7.9/15/64 SS-25 254 |15]6.4
MOUNTING HOLE @5.9
THICKNESS: T
.
IR
b
MOUNTING HOLE @4.8
THICKNESS 1.6 mg%'&% "{%LE @58 Toc ﬂ*
7.1
jm FOR M4 SCREW
t <
2 Part No. A | C T Package
* _t SSU4-6.3 6.35|3.9 | 1.2~1.7
tm.zﬂ SSU4-6.3L | 635] 43| 16
@71 SSU4-9.5 95 [391.2~17
FOR M3 SCREW FOR M35 or M4 SCREW SSU495L | 953143116 1000
' SSU4-12.7 (127 |39 1.2~1.7
Part No. | Package Part No. | Package SSU4-12.7L |12.7 | 43|16
SSA-12.7 | 1000 SSA4-55 | 1000 SSU4-15.9 [159 |3.9]1.2~1.7




AR BRRE ZPCRABEAR L > deficd

. Material Nylon 66 (UL) KT HPCAR B R > AR £ o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
MOUNTING HOLE @5.9

* Unit: mm THICKNESS 1.8
Part No. A | Package
SS3.5-6.3 6.3
SS3.5-9.5 9.5
ss35127 |12.7] 0%
SS3.5-15 15.9
FOR M3.5 SCREW
MOUNTING HOLE @5.9
MOUNTING HOLE @5.9
THICKNESS 18 THICKNESS 1217 PartNo. | A | Package
%::i SS46 | 6.4
UTTT g S ss4-8 | 7.9
BN 1T *SS4-8L | 7.95
o] < 3 3 <" SS4-9 95 MOUNTING HOLE @6.0
| ] sl TiL1 THICKNESS 1.6
A==1 : !
= I e SS4-125[12.0 | 1000 B
@79 L ' SS4-12 |12.7 o 3
FOR M4 SCREW FOR M35 or M4 SCREW SS4-16 [15.9 Rt g
[ SS4-8L, SS4-16L ] SS4-16L | 159 B4
PartNo. | A | Package SS4-17 |17.0 @79~
SS4-3 |30 SS4-19 |19.1 FOR V4 SCREW
ssa4 [40] oo SS4-22 | 22.2
SS4-4.6 | 4.6 SS4-25 |25.4 500 PartNo. | Package
SS45 |50 $S4-30 | 30.0 SSUA4-6.3L | 1000

A& : AN EHIRRPCKEE o

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
ﬂf‘ 7
TE T &
T Lo dlh=
N v
35 18— PartNo. | B | C | Package
: UBD-1 | 1.7 |45 1000
= UBD-2 | 2.0 (415
8.4 95—

F PartNo. | A | B | C | Package
< UB-6A [104|26| 5.1
| [ ] UB-8A |11.9|24] 7.0
UB-10A |14.1|25| 9.1| 1000

UB-11A [15.0]25[10.0
3M DOUBLE ADHESIVE TAPE UB-12A 1161125 111

AR R H B &

~— 015 —

- 146 —
~86~ | < 10—
I3 - 4 ©
;
1 Los @DIT
e e ; ' PartNo. | Package
] ‘ t 1 UB-6E 1000
[ st A w— | MOUNTING HOLE
—9 — -



i AN EMRKPCRE L o

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
- 135 10 g
4 S 95y 8| 4 8,
— °°! ——= 2
= 3 e 18
w05 O] w10,
@35~ 67 o ~ @35~ 61 g4 @
YT@/ %7@/
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
UB-3S 1000 UB-4 1000
135 15— ~9+ T
9.5 ~9.5- ~148+ 3 9+
S = = it
~J¢ g = s i
] — o H 4‘} & jL c?o
23 HW & Wﬁ aoo-- WL ﬁﬁv; (2526*H*W: v
@351 8 " g4 -8 8-
a3 @4.5 @3 @4.5
pwag oy gy
MOUNTING HOLE MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.0 THICKNESS 1.6 THICKNESS 1.6
Part No. | Package Part No. | Package Part No. | Package
UB-6 1000 UB-6D 1000 UB-14D 1000
- Material: Nylon 66 (UL) AR XHPCAR B PHARES » #
+ Flame Class: 94V-2/94V-0 EF W L% o
« Color: Natural/Black
« Unit: mm
127~ ,—THICKNESS 1.6-2.0
/) ]
T /- . 225 475 PartNo. | A | B | Package
m < 4@’ WLCF-6 | 63[168
i -10- WLCF-8 | 8.0[185] 1000

LlO*‘ MOUNTING HOLE WLCF-9 9.5/20.0

MOUNTING HOLE @4.8 WLCR12 1271232
THICKNESS 0.8~2.0 WLCF-16 |159]26.4

500

THICKNESS 1.6~2.0 ~C

LI

[ ULCF-6~ULCF-8S ]

PartNo. | A | B | C | D | Package
MOUNTING HOLE @4.8 ULCF-6 | 6.3]11.0]9.0 |80
THICKNESS 0.8-2.0 ULCF8 | 80[127]9.0 80
ULCF-8S | 8.0[12.7|7.6 |60
ULCF9 | 95[14.2]9.0 80
ULCF-12 |12.7]17.4] 9.0 | 80
ULCF-16 |15.9]20.6| 9.0 | 8.0

1000




Rk FBX > AN FRAEESHIL 2 ik

. Material: Nylon 66 (UL) PCHREIZEZ » Bb&B%EA -
- Flame Class: 94V-2/94V-0 e HAE o
« Color: Natural/Black
« Unit: mm Part No. A | Package
ASR-5 4.2
ASR-6 5.6
ASR-7 6.2
ASR-8 7.2
ASR-9 8.2
-7 "o ASR-11 | 10.0 | 500
N et ASR-12.7 | 11.9
L < ASR-145 | 13.6
e ASR-15.9 | 15.1
3M DOUBLE ADHESIVE TAPE ASR-17.5 | 16.3
ARTREFBZHE ASR-19.1 | 18.3
- Material: Nylon 66 (UL) At FHEKX o AN TAEHIL I HiRE
« Flame Class: 94V-2/94V-0 0178 PCAREZE R o
« Color: Natural/Black :
+ Unit: mm
~eri- ]
- Part No. | Package
3M DOUBLE ADHESIVE TAPE
MERTAREFBEHE
MOUNTING HOLE @2.0 MOUNTING HOLE @25
THICKNESS 1.6 THICKNESS 1.6
8 .
4 T
@L 1 3 <
P 3« E—
B t o127 —
| 0127 — - 3M DOUBLE ADHESIVE TAPE
3M DOUBLE ADHESIVE TAPE AR F&HE & &
ARSI EHE B Part No. A | Package
Part No. A | Package GSS-4.8 4.0
1SS-4.8 4.0 GSS-6.4 5.6
1SS-6.4 5.6 GSS-8 7.2
ISS-8 7.2 GSS-9.5 8.7
1SS-9.5 8.7 1000 GSS-11.1 | 10.3 1000
ISS-11.1 | 10.3 GSS-12.7 | 11.9
ISS-12.7 | 11.9 GSS-14.3 | 13.5
ISS-15.9 | 15.1 GSS-159 | 15.1
ISS-19.1 | 18.3 GSS-19.1 | 18.3
- @7

o MOUNTING HOLE @3.0
®  THICKNESS 1.2~1.7 - Patented (& F| &%)

T
PartNo. | A | Package

t
<C
—) BSSE | 56

BSS-9 | 80| 1000
- o14

3M DOUBLE ADHESIVE TAPE BSS12 |11.9
ARTREHIHL




MOUNTING HOLE @3.0
THICKNESS 1.6

LJ 2.8

- o010 —

3M DOUBLE ADHESIVE TAPE
BAR TSR B

Part No. | Package
CSSA-2 1000

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.2~1.6
@5 -
@i
|
1
Dl4
3M DOUBLE ADHESIVE TAPE
ARSI REHB &K
PartNo. | A | Package
CSS-35 | 27
CSS-5 4.0
CSS-6.4 | 5.6
CSS-8 7.2| 1000
CSs-10 9.2
CSS-11 9.7
CSS-12.7 |11.9

MOUNTING HOLE @3.5
THICKNESS 1.2~1.6

@55+ o

b 244 —

~— 014 —|

3M DOUBLE ADHESIVE TAPE
BERS A HR S

MOUNTING HOLE @3.5
THICKNESS 2.4

@8 b
L
\

T

|

- @15

T
12 MOUNTING HOLE @3.2

S THICKNESS 16 PartNo. | A
B JSS48 | 40

kTms

§1

[ ]

3M DOUBLE ADHESIVE TAPE
ARYF&HEEAE

i FBK o AR RS Mk
PCARMZ B & o

MOUNTING HOLE @3.5
THICKNESS 1.2~1.6

[—@5#

;fgi

o014 —
3M DOUBLE ADHESIVE TAPE
ARTREFEHE
PartNo. | A | Package
FSS-35 | 2.7
FSS-5 4.0
FSS-6.4 | 5.6
Fss8 | 72| 0%
FSS-10 9.2
FSS-12.7 |11.9

Part No. | Package
FSL-25 1000

Part No. | Package
FSSA-15 1000

Package
JSS-6.4 5.6
JSS-7.9 6.8
JSS-8.4 7.5
JSS-9.5 8.5 500
JSS-11 106
JSS-12.7 | 11.7
JSS-15.9 |15.0




Rk FEBX > AN FRAEESIL 2 ik

- Material: Nylon 66 (UL) PR Z B

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

. L L0.94 42

Part No. A|B|C|D]|F T Package

ASS-5 46]10.0]20.0| 55|7.01.2~17

ASS-6 55(10.0(20.0] 6.4]7.0|1.2-1.7

ASS-6L 55(102(17.8] 6.4]6.9|1.2-1.6
MOUNTING HOLE @4.0 ASS-8 7.2110.0/20.0| 81|7.0|1.2~1.7
THICKNESS: T - OF |- ASS-95L | 8.6/10.2]17.8] 95|7.0 [1.2~16

ASS-10 9.0/10.0/20.0) 9.9|7.0]1.2~17
ASS-12.7L |11.8/10.2|18.0|12.7|6.9 | 1.2~1.6
I ASS-12 12.0/10.0/20.0|12.9|7.0 | 1.2~17
=T o =1 T ASS-15 15.4110.0/20.0/16.3| 7.0 | 1.2~1.7
| 0 | : ASS-15.3S |15.3| 8.0/17.8|16.2| 7.1 |1.2~1.6
ASS-159L |15.0/10.2|18.0/159|6.9 |1.2~1.6

3M DOUBLE ADHESIVE TAPE
AR+ FAFEEE ASS-185 185/10.0/18.0/19.4|6.8 | 1.2~2.0

500

.

A

- Material: Nylon 66 (UL) Rz AR ARGE R » H—FA
« Flame Class: 94V-2/94V-0 HBRAPCIR °
- Color: Natural/Black

* Unit: mm o MOUNTING HOLE @4.0
' THICKNESS 1.6~1.8

4

] it

- —— [ 14
A 41— @4.1 Part No. | Package
LCBL-8 1000

8

_t
L—zg——l

- Material: Nylon 66 (UL) R FBKX o AR FAEHIL 2 Hir
+ Flame Class: 94V-2/94V-0 178 PCAREZE R o

- Color: Natural/Black :

+ Unit: mm

i
—
~

T

—17.8 —

THICKNESS 1-6\‘ — Part No. | Package
i S ULCK-6.4 1000
8 B2 T
f
3M DOUBLE ADHESIVE TAPE
PMERTREHBEE

- Material: Nylon 66 (UL) Ak FE KX AAPCHRMS EHERAR
* Flame Class: 94V-2/94V-0 Z o

« Color: Natural/Black :
+ Unit: mm

Part No. Package
ULCKA-15.6 | 1000

3M DOUBLE ADHESIVE TAPE
BERTTFEHB R



Mg : PCIRABERANERZ » 5 —BARR

4 “ 9 A o
+ Material: Nylon 66 (UL) HER > A BRI

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm MOUNTING HOLE @2.5
THICKNESS 1.0

5

Part No. | Package
ULCI-11 1000

P A

5
K
MOUNTING HOLE @4.0

= gg |-
THICKNESS 1.2~16 " PartNo. | A | B | C |E| F | Package
ULCC-6 | 6.3 |1.73]14.8 |1.3|5.25
ULCC-8 | 8.0 |1.7 |16.5 |1.3|5.25
ULCC-10 |10.0 |2.24]19.0 [1.4|5.25| 500

| e

Lu ULCC-12 [12.0 |1.75]19.8 [1.4|5.25
4.6

M3 ' P . ULCC-19 |18.55]1.9 |27.05]1.3]5.5

MOUNTING HOLE @2.5
THICKNESS 1.0

e 5 —
H H Part No. | Package
ULCIJ-4 1000
\_\:l_‘
-5

MOUNTING HOLE @3.3
THICKNESS 1.0

*‘ 57 |~
M3x0.5P
11 PartNo. | Package
~ ULCD-7.8 1000
1
6,05 -
~16.25/-
@3.3
MOUNTING HOLE @3.3 -3~
THICKNESS 1.6
o 6
ﬂS.Bk o —~6.35~
HH 1
(o)
DQD oo + Color: Natural/Black/Green
32 < N PartNo. | A | T | Package
48~ ™
M2.5 ULCH-2 |2.1]2.16
‘bﬁ ULCH-2S |15]|1.6 1000

MOUNTING HOLE
THICKNESS: T



« Material: Nylon 66 (UL)

+ Ground Terminal Material: SPTE

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black/Blue

+ Unit: mm

PCB SPACER

BODY

GROUND
TERMINAL

6-32 UNC

MOUNTING HOLE @4.0

THICKNESS 3.0

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

MOUNTING HOLE
THICKNESS 1.6

7

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

Fig i PCREPCRIBE > w3 EEF

Bhdedh » FAEZEHR] o

MOUNTING HOLE
THICKNESS 1.2~2.0

ALfm

Part No.

Package

ULCH-1

1000

Hig  PCRABFERAEL » 7 — 37 A
SRUAAT -

’-—'*6.35

M4x0.7P

Part No.

Package

ULCBM4-9.5

1000

Rig :PCRAEBANEAZ > 5 —RAEH
BAKREZ > G HAFE -

3.7
-@3.3
MOUNTING HOLE @3.3
MOUNTING HOLE @3.3 THICKNESS 1.57
THICKNESS 1.57
’$5 | 0 ‘_‘3 Rl ﬁ 39
N 0 . )
R F
T | Y
Hi, :fL
48] &
H !
MOUNTING HOLE MOUNTING HOLE
THICKNESS: T THICKNESS: T
Part No. C | D| T | Package Part No. C | D| T | Package
ULCSA-8 |17.45(2.3]2.13 1000 ULCSA-16 |25.45(2.3]2.13 1000
ULCSA-8S |16.,5 [1.9]1.57 ULCSA-16S (245 (19157




Rig : PClRAZEBRANBER » 5 —BAEHE

- Material: Nylon 66 (UL) BEABARE R > BRI o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black 37
« Unit: mm Q}/’®3-3

MOUNTING HOLE @3.3
g*&g

THICKNESS 1.57 §)

|
N
Yy

28.8
B
1.9

48 o
&: Part No. Package

ULCSA-28.8S| 500

MOUNTING HOLE
THICKNESS 1.57

~—35

MOUNTING HOLE ©2.35 jE{*Q’Z-%
THICKNESS 1.0

r

4 - ~—3.45

YA
o Part No. | Package
< ULCBA-5 1000

MOUNTING HOLE @4.0
THICKNESS 2.4

3

+

ﬂ 54

~+-2.9
MOUNTING HOLE @2.4
THICKNESS 1.3 o -
6+ J 43
T d
f
00 o]
s 1 U g5
Q Part No. | Package
MOUNTING HOLE N ULCSD-5 | 1000
THICKNESS 1.7 @28~ 1 }-015
N
MOUNTING HOLE
THICKNESS: E
=6 —
Part No. E T Package
ULCSF-6.6 16 1.93

ULCSF-6.6L 14~18| 2.3~2.7
ULCSF-6.6XL |1.4~1.8] 2.52~3.08
ULCSF-6.6XXL |1.4~1.8| 2.83~3.47

1000

MOUNTING HOLE
THICKNESS: T




FAig :PCHRABERBANEE » 7 —BALH
- JEe, s nk £
« Material: Nylon 66 (UL) BAMARE R - 4 BRI
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
« Unit: mm
MOUNTING HOLE
THICKNESS 1.6

{B/i @3.2

i

@ Part No. | Package
MOUNTING HOLE 4.8 @0 ULCSE-7 1000
THICKNESS 2.0 @
& Jaghk
o
MOUNTING HOLE
THICKNESS 1.6
Part No. A | B| T | Package
ULCSE-7S |4.35|1.8|1.6
ULCSE-7L |5.0 |1.9]/2.34| 1000
ULCSE-7L1 |5.45|1.9|2.4
MOUNTING HOLE
THICKNESS: T
-2.75
MOUNTING HOLE @2.6 ﬁmﬁ
THICKNESS 0.8~1.0
—5 3.4
o
o
Bla & Part No. | Package
¢ R LCUE-3.3 | 2000
W
MOUNTING HOLE @32~ 51+ 3
THICKNESS 1.4~1.6
-5 ‘«

MOUNTING HOLE @3.4
THICKNESS 1.2

—3.15
@3.4

3.25

3.55

5.2

~{7.85

==

6.25

O Ees 1A E oas—, | MOUNTING HOLE @4.0
THICKNESS 1.6 | :
@iﬁ THICKNESS 0.8~2.0
Part No. | Package Part No. | Package
ULCBA-7.8 1000 ULCE-9 1000

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
THICKNESS 1.6

 —)

Hin

J

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

~ 79 +6.1~

Part No.
ULCBB-7.9

Package
1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
« Unit: mm

rlO.Sj

\—J b
s
| -

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Green

Mg AR

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

Part No.
ULCBB-12.7L

Package
1000

A : XHPCR B PHARES » &

MY EEE o

MOUNTING HOLE
THICKNESS 2.4

A&

- 75—
« Unit: mm \
@3.2 Q NN

MOUNTING HOLE @3.2 >

THICKNESS 1.6

ey

MOUNTING HOLE
THICKNESS 1.0

"3.6

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.6

.

[}

MOUNTING HOLE
THICKNESS 0.8~2.4

-

~—-2.9

Part No.
LCUA-11

Package
1000

'PCHREEBANERE » 5 —FAEHE
BAMREZ » G HAFHE o

Part No. | Package
LCUAD-1 1000
Part No. | Package
KES-15 500




R : PCRAEZRBANEZ »
RN >

5B — A
I, FT

« Material: Nylon 66 (UL) AR TR

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS 1.6 Wll* 6.35
I
—

MOUNTING HOLE @4.8

MOUNTING HOLE @4.8 THICKNESS 1.6

THICKNESS 1.6~2.2

Part No. A | Package
Part No. | Package ULCB-15 |15.9 500
ULCB-9S 500 ULCB-38 |38.1
6-6.3
o4 PartNo. | A | Package
MOUNTING HOLE @4.0 ULCB-6 63
THICKNESS 1.6-1.8 ULcB 50
15 ULCB9 | 95
ULCB-10 |10.0
ULCB-12 |12.7 1000
ULCB-16 |15.9
ULCB-19.1 | 19.1
MOUNTING HOLE @48 ULCB-23 |23.0

THICKNESS 0.5~2.0

[oe]
THICKNESS 1.6 )

@3.2-141

MOUNTING HOLE
THICKNESS 1.8~2.2

6.05

4.8~ &

Part No.

Package

LCUAC-2L

1000

THICKNESS 1.6

@3.2\j 4k

«©
i

SthiTRy

6.05

MOUNTING HOLE
THICKNESS 2.2~2.5

12—

&
NI
o~

]

Part No.

Package

LCUAC-3L

1000

T
[oe]
THICKNESS 1.6 @

4 g3

MOUNTING HOLE
THICKNESS 1.8~2.2

« Color: Natural/Black/Green/Gary

Part No.

Package

LCUAC-2R

1000

i
THICKNESS 1.6 @'ﬁ

14232 ?
t
S
|

U

MOUNTING HOLE
THICKNESS 2.2~2.5

48 ™
'

Part No.

Package

LCUAC-3R

1000




SHiTh
oo}
it

6.05

[Ts}

n

SN
i

THICKNESS 1.6

@3.2{\ 4 ‘

MOUNTING HOLE 48
THICKNESS 1.8~2.2

f

Part No.
LCUAC-9L

Package
1000

B
S

6.05

THICKNESS 1.6

“4rF @31 €

©
!

LZ.SS

MOUNTING HOLE

i
N
481 o
THICKNESS 2.16~2.64 TE&{

Part No.
LCUAC-11R

Package
1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

THICKNESS 1.6

@3\“ 3 J
f
1l =l J

MOUNTING HOLE 12+ &
THICKNESS 2.9

< 48
Part No. | Package
LCUAC-7L | 1000

THICKNESS 1.6

@3.2-14
f
MOUNTING HOLE 4.8~ o5
THICKNESS 1.6 %
Part No. | Package
LCUAC-8L | 1000

THICKNESS 1.6

{4032

/1'7
MOUNTING HOLE 483
THICKNESS 1.8~2.2 |

Part No. | Package
LCUAC-9R 1000
4L'5|
THICKNESS 1.6 NindlIN I
@14 g e0Se
(o] Lo
Lo
N
MOUNTING HOLE 481 &
THICKNESS 1.81
Part No. | Package
LCUAE-8L 1000

‘PCHREHBANERZ » 5 —AEH

BAMREZ > G HAFE o

o

THICKNESS 1.6 @jﬂ
{4 S 605
% j

Il s
T ||

15+
MOUNTING HOLE 7, || &
THICKNESS 2.9

- 4.8
Part No. | Package
LCUAC-7R | 1000

THICKNESS 1.6

il

@3.2

MOUNTING HOLE 4.8~ 5
THICKNESS 1.6
Part No. | Package
LCUAC-8R| 1000

THICKNESS 1.6

:

@314 g 605

f

e}

2.55

MOUNTING HOLE

48+ o
THICKNESS 2.16~2.64 !

Part No.
LCUAC-11L

Sl
V. 4

ﬂ 4 f’/%.l © —~16.05

Package
1000

THICKNESS 1.6

©
}

~2.55

MOUNTING HOLE
THICKNESS 1.81

74.8E$

Package
1000

Part No.
LCUAE-8R




Rig : PCRAEHEBRANER » 5 —RAAEHE
- Material: Nylon 66 (UL) BB > B HIFK o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

Sl
THICKNESS 1.6 @T{O THICKNESS 1.6 —+

@284
MOUNTING HOLE A8 o MOUNTING HOLE 4.8~ o MOUNTING HOLE 4.81‘—' @
THICKNESS 2.5~2.8 THICKNESS 2.5~2.8 ! THICKNESS 2.6~2.8
Part No. | Package Part No. | Package Part No. Package
LCUAE-12L| 1000 LCUAE-12R| 1000 LCUAE-16LA| 1000
- Material: Nylon 66 (UL) ik ARPCARE R #% > FHrfpHiE o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0

MOUNTING HOLE @4.0
~ 59 |

a

3 e |
1T ¢ 13
s Bl

MOUNTING HOLE
THICKNESS 0.8~2.0

-
&=

MOUNTING HOLE
THICKNESS 0.8~1.8

PartNo. | A | B | Package
LCMM-8 |14.0| 8.0

LCMM-12 |18.0|12.0| 1000 Part No. | Package
LCMM-18 |24.0|18.0 LCMM-4 1000
- Material: Nylon 66 (UL) A% - BFPCIR Bl & A A% £ » PCIR T AT
+ Flame Class: 94V-2/94V-0 1#%30°% 8 o
« Color: Natural/Black
« Unit: mm

2

A8y
MOUNTING HOLE
™~ THICKNESS 1.6

—+ Part No. | Package
777777 © PS-16 500

- 14




RiR : ARPCHREZRRZ > ¥ F1E o

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
102 5.5 -
F @3.3
Ll L <
(o2}
LR -
i 0| S 5w MOUNTING HOLE @3.3
i i Tu' THICKNESS 1.6
I
Wel O
ks y
* - 98+
l— 7 —
[
MOUNTING HOLE | Hﬂ Part No. | Package
THICKNESS 0.8~1.2 D ;:o KEMS-11.3| 500
- 10.6
~+-@3.3
143 5 |-
@4
106 ) 5
i 1 24 T
o o <
i@ L4
3 o~ MOUNTING HOLE
b * MOUNTING HOLE @ THICKNESS 1.6
E—— Llo THICKNESS 1.6 )
71
j 55# MOUNTING HOLE ﬂ‘ss E
MOUNTING HOLE \ J—L THICKNESS 1.0~1.8 Q \a
THICKNESS 1.0~1.8
Part No. A | B | Package
Part No. | Package KEML-10 |25.6|10.0 500
KEML-4 500 KEML-12 |27.6|12.0| 1000
- Material: Nylon 66 (UL) AR : AAPCREKRZEE °
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black -~ 98
« Unit: mm *\3.8‘*
1.6 =49
R
~
<
B =
2 Part No. | Package
T {— LCU-18 2000

MOUNTING HOLE @4.3
THICKNESS 4.0

- Material: PC+ABS AR : ANPCBREZ R #% » ffEH1E -
- Color: Natural/Gray
+ Unit: mm —563.3

Part No. | Package
KESS-19 500




A% ANRPCHREMKZE R

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
h 17.6 H‘ ’H 15.6 a‘
f T
ol |2 0o %
it )
~4.98 ~ 88 1, ~5 ¢ 10 |
m (] E
© 0
: S i S
o b, B4 E/;:\m:/ ™ t
L 151_]. t t 15,j‘j
13 10.8
Part No. | Package Part No. | Package
LIH-8 2000 MOU-01 2000

- Material: PC (UL)
+ Flame Class: 94V-2
« Color: Natural/Black
« Unit: mm ‘f @12 — +
T
[{e)
TR
S Part No. | Package
1T ‘ SMHC-1 | 1000
—@2.6

g @ ARPCREKRBE RS > g8
« Material: Nylon 66 (UL) e

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
- 24 - MOUNTING HOLE @18
181 THICKNESS 1.0~1.2

AN S BERER

[T1] = 0
i ‘Jr ¥ i PartNo. | #% % X | Package
Lm.s»‘ 2 SRMA-2 T4

SRMA-2A
[ SRMA-2A ] [ SRMA-28 ] SRMA2F | SRMA2B | 2000
W

- @3 - / /
— (// WV )

w & T ] PartNo. | A | Package
; SRMA-3 |30
] w T SRMA-35 |35
e = SRMA-4 40| 000
;E;f; WERER SRMA5  [5.0
SRMA-6 |65
- gag |- THICKNESS 0B-16 SRMA9 [9.0




A& : ARPCREBRMZEE § K ¥ o

« Clip Material: PC (UL)/94V-2
« Pin Material: Nylon 66 (UL)/94V-2

- Color: Black ‘
- Unit: mm 78
OF aT
j
PN~ 1L
i &
CLIP P
R
‘F
MOUNTING HOLE @6.3~6.4 MOUNTING HOLE @6.4~@6.5
THICKNESS 1.4~2.4 THICKNESS 0.8~1.6
[ ScmB-4.8 ] Part No. A B | Package
SCMB-48 | 4.8 |16.6
SCMB-6.3 6.35]18.3
SCMB-9.5 | 9.5 |21.45
SCMB-12.7 [127 | 2465 0%
SCMB-15.9 |15.9 |27.85
SCMB-19.1 [19.1 |31.05
+ Material: Nylon 66 (UL)/PC (UL) A% : PCIREPCHEMZ B Z » R46 2R o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black MOUNTING HOLE @4.0
» Unit: mm THICKNESS 1.6~1.9 '

14.6

S

Part No. | Package
MSPR-3 1000

MOUNTING HOLE @4.0
THICKNESS 1.6~1.9

« Material: Nylon 66 (UL) A& : MAPCRHEBZE X o
- Flame Class: 94V-2/94V-0

« Color: Natural/Black
« Unit: mm MOUNTING HOLE @3.2
THICKNESS 1.6

/%@3.2

L5
MOUNTING HOLE

e
?1.8 Part No. | Package

s MOUNTING HOLE @3.2 LUCE-1 1000
THICKNESS 1.6

4 MOUNTING HOLE @2.0
i% THICKNESS 1.6
© @35
L] -
< Part No. | Package
% EM-682 2000

MOUNTING HOLE @2.0
THICKNESS 1.6




A&+ — 3B ERHBRRPCIRE » 5 —
phy = AN " o 4
- Material: Nylon 66 (UL) % B £ R PCAR £ 490
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm .
ﬁ T\ ] :’ '
|
] ! | 8
T wse R =
Tt f
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 1.6~1.8 THICKNESS 2.36
25 h 234 ——
17 18
e IEaE: SRR,
o |
Part No. | Package Part No. | Package
LPZ-1 1000 LPZ-9 1000
o »‘ 75 " :; =¥
R W 7 T T
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0 MOUNTING HOLE @3.8
THICKNESS 1.6 THICKNESS 3.0 THICKNESS 1.4
| 25.3
265 —
|z o
=HIESE 5 ~
s Q ~
i — T
Part No. | Package Part No. | Package
LPZ-6 1000 LPZ-2 1000

R Pk Bl R PCAR W MR L o

- Material: Nylon 66 (UL)
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

* Unit: mm [0-8(x3) @21~ ~254
- Ty
"5 — 75—
+‘2.5«* ~—5— * »rl,s
@21-{ 1 | @2.1 oo i
\‘@77 %}’T T 0
N~
mi
Part No. Part No. | Package
DELT-19 DELT-25 | 1000

- Material: PC (UL)
« Flame Class: 94V-2

« Color: Transparent T m
« Unit: mm

%
%ﬁ : PartNo. | Package
o5 LPZA-L | 1000




ik MAPCKREMAERM 2B E » F&

& 4 o
- Material: ABS (UL) SM3F & AR A

+ Flame Class: 94HB
« Color: Natural

+ Unit: mm
| 29.07 M3 STEEL INSERT
_ Part No. | Package
@4 -] 101 LLCB3-15 | 1000
—12.7
2.7 —
- Material: Nylon 66 (UL) A« ARPCKREE > #PCHK AR AR
+ Flame Class: 94V-2/94V-0 90°F & o
« Color: Natural/Black
« Unit: mm
TYPICAL APPLICATIONS
~— 16 — TYPE 1 TYPE 2
=9 226
o -
15 PCB
~6~+ ~@26 9 < TYPE 3 TYPE 4 pCB
T N PCB
o : |
(o} [ | ‘
| i — —
PCB/PANEL PCB/PANEL
Part No. | Package
PMB-1 500
@2.85
] d
P o
L~
=0 |
L —03.4
1 Part No. | Package
S PMB-2 500
WSS 50 - Material: Nylon 66 (UL) A& ¢ iR B R PCARW AR L o
L _[% ! .+ Flame Class: 94V-2/94V-0
= - ==« Color: Natural/Black
W) e -
? 8 " « Unit: mm
j 8.5
j
LQ
........ 3
24 Part No. | Package
Lol ‘FH:%;\
LT Uil e




+ Unit: mm

+ Material: PC (UL)
« Flame Class: 94V-2/94V-0
- Color: Transparent

~-10.5
ON

AR BLA¥BY% » BRPCRNMMIR L o

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

32

Fig : ARH R 2 8% -

21 |
‘,
\

MOUNTING HOLE @2.5
THICKNESS 3.0

Part No.

Package

CGLF-32

1000

«6.5*‘

i
< QT Part No. | Package
5 T HW2839 1000
- 75 I3
- Material: Nylon 66 (UL) A& : MAPCREMRR Z 8K -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
41
]
ST I A =
[==1 M~ =
e AN i Part No. | Package
15 - 105 JYCE-L | 1000

B

Py
l— 5 —

T F
35k

MOUNTING HOLE @2.5
THICKNESS 2.5

Part No.

Package

CGLE-18

1000

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

[~ 12.6*1

o

A& ARPCHREMKKMZERL

@4

o
'

THICKNESS 1.2

i
[Te)

-f

Part No.

Package

DDMC-5.5

1000




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2

« Color: Black

+ Unit: mm

it AREHZHRRER -

?14.1

f

ﬂ 28.5

S
(<)
[ee]
}
- @75~ J @115 ‘«
Part No. | Package Part No. | Package
BPLT-9 1000 BPLT-13 1000
- Material: POM (UL) R ARNEMHZB%EA » RSUA-1A
+ Flame Class: 94HB $IRSUA-1BE B &4 A o
« Color: Black ~—@8.8—
« Unit: mm ?4.9
@2.9

— <
Tk

A
Part No. | Package Part No. | Package
RSUA-1A 1000 RSUA-1B 1000
- Material: PC (UL) Aig : MAPCIREMRE 2 2 HEE L -
 Flame Class: 94V-0
+ Color: Natural 319.8

« Unit: mm

©

—~10.5
T@s.z
IS
\ |~
f
Part No. | Package Part No. | Package
RLA-1 500 RLA-12.7 500

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
@012 —
~ @6.9 |~
"@4.5“ N

g« ARPCREMKHE R REL -

MOUNTING HOLE @7.2

o THICKNESS 5.0
=1 T
174
-85
Part No. | Package Part No. | Package
RML-1 1000 RML-25 1000




AR ARPCAREZMEK I 2 Bl & o

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
- @9.9
VARAN
©
N
~—+@3.8 W 295 -
M
T |
I o ™~
m N . Part No. | Package
i =] @ JYCE-2 500
1 B
L3758 ~--@3.75
[ JYCE-2A] [ JYCE-2B ]
- Material: POM (UL) A& : ARPCREBARMZ B HEBE -
+ Flame Class: 94HB
. Co!or: Natural/Black
< Unit: mm «QSﬂ
r——(»(ZJSS
ﬂ @8 ‘« - —
| ] 1 \ “\ 0
} } B } } i Part No. | Package
Lo
‘ | W RXS-1 500
- ot
- 214 — - o4 RXS-13.5
[ RXS-135 ] [ RXS-1]
+ Material: ABS (UL)
+ Flame Class: 94HB
+ Color: Natural
« Unit: mm
—12.2 —
| 31«
L 7.1+ ‘
- t sl Part No. L | Package
25 N g o || 2 RMM-75 | 75
DL LS L ] | RMM-1[RMM-100{100] 1000
MOUNTING HOLE @65 RMM-150] 15.0
CHASSIS @4.0
[ RMM- ] [ RMM-1 ]
- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0 L — 9-5 ~
- Color: Natural ; ; —7 H 8
« Unit: mm <« | — | — [ 7T
{EL j s
S J» Q v
121 == | l
L %G-H*M* MOUNTING HOLE
[ ! [T CHASSIS @35
Ss| || = =] [ RSS-] [RSS-1]
S ‘? 32 2 | S
it -4l Part No. L | Package
MOUNTING HOLE @6.5 RSS-60 | 6.0
THICKNESS 2.4 RSS-78 | 7.8| 1000
[ RMM- ] [ RMM-3 ] RSS-105 | 10.5
RSS-1 | RSS-150 | 15.0
Part No. L | Package RSS-180 | 18.0 500
RMM-57 | 5.7 RSS-200 | 20.0
RMM-3 I emm-200[200] 10 RSS-250 | 25.0




Fig : ARPCREMRARE X B3 REK o

« Material: ABS (UL)
+ Flame Class: 94HB
+ Color: Natural

« Unit: mm
12.8 —+
L — I;l +ﬂ‘ 41+
T =]
L ] g % i E 1|18
[ L oy
= > «o MOUNTING HOLE @7.5
Q S (SIS CHASSIS @4.5
I [
L (RLL-] (RLL-1]
MOUNTING HOLE 9.0
CHASSIS 6.0 Part No. L | Package
[ RXL- ] [ RXL-1] RLL-57 | 5.7
RLL-75 75| 1000
Part No. L | Package RLL-1 RLL-100 |10.3
RXL-5 5.0 RLL-150 |15.0 500
RXL-1 | RXL-7 15 500 RLL-200 |20.0 1000
RXL-10 | 10.0 RLL-254 [25.4
- Material: PC+ABS (UL) A& MAPCHREEIRZ B o
+ Flame Class: 94V-0
« Color: Natural
« Unit: mm
-~ @12.9 ‘*
~——@6.1
- 219.2 — i,
ﬂ @13.2 r =" Z (C\’.
4y —
[ e L
‘ i Hoss 1
oo '
@21.2 - o7 -
Part No. | Package Part No. | Package
RCXL-1 1000 RCXL-14 1000
- Material: POM - Material: ABS (UL) - Material: N6T (UL)
« Color: Black « Flame Class: 94HB « Flame Class: 94V-0
+ Unit: mm « Color: Natural/Black « Color: Black
« Unit: mm « Unit: mm
<—TQ3'05
224 - g5
73 -~ @48
= 1% e
! — f \ \ f
| N o b < o
e T { ‘ 14 Qe P36
< | A SN } S
T gasl L«@sa - g5
g5 @75 — - 75—
Part No. | Package Part No. | Package Part No. | Package
LASK-4 1000 LASK-5 1000 LASK-6 1000




A&
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
211.6 —
—~ @7.65 |~
- @54
v j:
| ENd
,,,,,, 7 |

Part No. | Package

RCSLS

-10 500

- Material: Nylon 6T (UL)
 Flame Class: 94V-0

« Color: Black

 Unit: mm

ORI AR R 2 e 51

~— @11.6 —

ﬂ@765r

\@61\‘

.
e T

»453L

Bl o

Part No. | Package

RCSL6-8.5 500

B ARG IBERZBEA -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

- @147 ~
r‘—"*fﬂﬁ.l
R
| | g
RN

3M DOUBLE ADHESIVE TAPE

- Material: Nylon 66 (UL)

» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

Part No. | Package

R7-13 1000

i 0 R > MAPCRZ %A

Part No. | Package

6-13A

1000

AR MAPCIREMIRZBEA -

Part No.

Package

9-15

1000

- @B

_—

N

M

<<

PartNo. | A | B | C | Package
KE35-2 [2.0]35]6.3| 2000
KE4.1-8 |8.0]4.1]/6.0/ 1000




A% MAPCHREMEZBHER -

« Material: Nylon 66 (UL)
« Flame Class: 94V-2

+ Color: Red ﬁ 5 ﬂ

« Unit: mm

'
[\
&
o
>

Part No. | Package

EM-733 2000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

Part No. | Package

RR-1 1000
+ Material: Nylon 6T (UL)
+ Flame Class: 94V-0
« Color: Black
+ Unit: mm MOUNTING HOLE @4.5
~— @6.6 —
19830 8
*®3.2‘* o PartNo. | A | B | Package
\ | LUS-2.7 |27 |15
< LUS-29 |29 |07
‘ I ' LUS-3 3.0 0.7 1000
LUS-3.85 [3.85|1.4
MOUNTING HOLE @4.5
« Material: ABS (UL) « Material: Nylon 66 (UL)
+ Flame Class: 94HB + Flame Class: 94V-2/94V-0
+ Color: Natural + Color: Natural/Black
« Unit: mm  Unit: mm
-~ @6.5 |- +H @E Fr
1] = ;
= |
[ [ <
I — 0
| || @< i l
R EmE
bt [

PartNo. | A | B | D | E | F | Package

Part No. | Package LUS-10 |10.0/1.5]3.2|55| 7.5/ 1000

LUS-9.1 1000 LUS-74.5 |745[1.0]6.5)8.0|10.0 500




Rk ANPCHREMR 2 BY% o

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

Part No. | Package
LUS2-8.2 1000

MOUNTING HOLE @3.5

- Material: PBT (UL)
+ Flame Class: 94V-0
« Color: Natural/Black

+ Unit: mm
@35
—+@2.3 Part No. A B | Package
f Fj LUSS-6.2 6.2 | 1.0
@ ‘ LUSS-6.4 6.4 |14
< LUSS-7.1 7.07 |14
{ LUSS-9 00 |14] 00
LUSS-9.4 9.43 |14
Joask g2 -
45 LUSS-10.1 | 10.06 | 1.4
[ LUSS-6.2, LUSS-9 ]
- Material: Nylon 66 (UL) it PCIREPCHRE Z B E » RAEZ M
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
a7

MOUNTING HOLE @5.0

Part No. | Package
LUSA-11 1000

5.8 )
ST } Part No. | Package
o | o 2 LUSB-10 | 1000
< I
L? 171
ﬁ*@Z.ZS 0
@35




it MAPCRZ#E » RTHL o

« Material: Nylon 66 (UL)/POM/TPE/PE/
PC (UL)/ABS (UL)/PPS

+ Flame Class: 94HB/94V-2/94V-0

« Color: Natural/Black

+ Unit: mm

—@C— —@C — -— @C —
~| @B |- -8~ @B+ |
I 11 . T
o RN ]
T T T
o s | R J
[235,2355] [494549-115 4913
Part No. A(L) B(ID) | C(OD) | Package Part No. A(L) B(ID) | C(OD) | Package
0.7-1.6 1.6 |07 2.0 3.55-10 100 | 355 | 6.0
0.7-3 30 [ 071 ] 22 3.55-31.8 | 318 | 355 | 6.35
1.2-2.5 25 |12 4.0 1000 3.56-4.76 476 | 356 | 7.94 1000
1.2-3 30 |12 3.2 3.56-9.53 9.53 | 356 | 6.35
1.2-5 50 |12 4.0 3.6-2 20 | 3.6 7.0
1.2-6.35 6.35 | 1.2 3.2 2000 3.6-19 190 | 36 8.0
1.2-76 76 |12 4.0 3.7-6.1 6.1 | 37 6.4 2000
1.4-3 30 |14 35 1000 3.7-95 95 [373| 635
1.6-2 20 |16 4.0 3.7-10 100 | 373 | 6.35 1000
1.6-4 40 | 16 4.0 3.8-0.5 05 | 38 5.3 2000
1.6-5.9 5.89 | 163 | 3.8 2000 3.8-55 55 | 38 5.3
1.7-11.3 1.3 | 17 3.0 1000 3.9-5.3 53 |39 8.0 1000
2-3-1.9 1.9 2.02 | 3.0 2000 3.95-3.8 38 [ 39| 6.1
2.05-3.5 35 [ 205 | 30 1000 4-48 48 | 40 75 2000
2.1-2.1 2.1 2.1 2.4 4.1-25 25 | 41 8.0 1000
2.2-25 1.5 |22 2.5 2000 4.2-2.4 24 | 42 7.5 2000
2.2-5 50 |22 4.0 4.2-4.8 48 | 42 55
2.35 50 |23 5.0 4.2-8.5 85 |42 | 100 1000
2.3-55 55 | 23 5.0 43-1.5 15 | 43 5.8 2000
2.4-9.4 9.4 2.4 4.8 4.3-5.5 55 | 43 5.8
2.5-2.15 215 | 25 4.0 4.3-10.5 105 | 43 5.8
2.5-1655 | 16.0 2.5 5.5 1000 43-155 155 | 43 5.8 1000
2.7-2.8 2.84 | 27 6.35 4.4-6 6.0 | 44 7.43
2.7-6.7 6.71 | 2.7 6.35 4.4-6.4 6.4 | 44 9.5 2000
2.73-2.3 2.3 273 | 4.3 45-3.2 318 | 445 | 6.35
2.8-3.8 3.8 2.8 43 %*4.5-5 50 | 445 | 6.0
2.95-8 8.0 2.95 | 355 45-2.75 2.75 | 45 6.0 1000
3-25-6 25.0 | 3.0 6.0 %4.5-10 10.0 | 45 8.0
3.1-2 20 |31 6.0 45-11 110 | 45 7.0
3.1-2.2 22 |31 8.0 45-115 115 | 45 7.0
%*3.1-2.5 25 |31 6.0 2000 45-19.9 199 | 45 6.1 250
3.1-35 35 |31 5.7 4.7-35 35 | 47 6.0
3.1-37 37 315 ] 50 4.9-3 30 | 49 7.94
3.1-4-6 40 |31 6.0 4.9-45 45 |49 7.94
3.15 50 |31 6.0 1000 49-115 115 | 49 7.94 1000
3.1-6 6.0 | 3.1 6.0 4.9-13 130 | 49 7.94
6-3.1-7.5 75 |31 6.0 2000 5-35 35 |50 9.0
3.1-7.5 75 |31 8.0 1000 5-4 40 |50 12.0
3.1-8 80 |31 6.0 2000 5-4.2 42 |50 7.0
3.1-38 3.85 | 315 | 50 1000 5-6.5L 65 | 50 9.5 2000
3.1-4 40 315 ] 50 5-7.9L 79 |50 9.5
3.2-2.2 22 |32 5.5 2000 5-38.1 381 | 5.0 7.9 1000
3.2-25 25 [32 42 5-40 400 | 50 9.0 500
3.2-3 30 |32 5.8 5.1-12.7 127 | 51 9.5
3.2-4.45 445 | 32 6.4 5.2-2 20 | 5.2 6.8
3-5.8 5.85 | 3.2 5.0 5.2-2.3 23 |52 6.8
3.2-6.4 6.4 | 32 5.8 1000 5.2-3 30 |52 6.8
6432-6.4 6.4 | 32 6.4 5.2-4.1 41 |52 6.8 1000
3.2-6.8 6.8 | 32 45 5.2-6 6.0 |52 10.0
3.2-10 100 | 3.2 8.0 5.2-75 75 |52 7.6
3.355 50 [ 335 | 80 5.2-11 110 | 5.2 7.6
3.5-55 55 | 35 6.3 5.2-13 130 | 5.2 6.8




Rig s MAPCIRZ#& » RI KA -

« Material: Nylon 66 (UL)/POM/TPE/PE/
PC (UL)/ABS (UL)/PPS
+ Flame Class: 94HB/94V-2/94V-0
« Color: Natural/Black

« Unit: mm ~—@C—
bl
I I
!
T
o
Part No. A(L) B(ID) | C(OD) | Package Part No. A(L) B(ID) | C(OD) | Package
5.3-2.8 28 | 53 8.5 2000 6-4.2 4.2 6.6 10.6
54-122 | 1220 | 54 9.53 250 6-4.8 4.8 6.6 9.1
5.5-4 40 | 55 15.0 1000 6-16 15.7 6.6 9.1
555-11.8| 11.8 | 555 7.0 6.8-5 5.0 6.8 10.0 1000
5-5 50 | 5.6 8.6 6.9-12.7 | 12.7 6.9 12.7
5-6 6.0 | 5.6 8.6 7-5.5 55 7.0 13.0
5-7.9 79 | 5.6 8.6 7-8.7 8.7 7.0 10.0
5-8 80 | 56 8.6 7.5-8.9 8.9 7.5 10.0
5-8.8 88 | 5.6 8.6 7.5-29 29.0 7.5 11.0 250
5-11.8 118 | 5.6 8.6 1000 #8-1.6 1.6 8.0 15.0
5-14 140 | 5.6 8.6 8-16 15.7 8.1 10.7 1000
5-16.5 165 | 5.6 8.6 8.2-5.5 5.5 8.2 12.0
5-16.7 16.7 | 5.6 8.6 8.2-80 80.0 8.2 10.0 250
5-17 170 | 56 8.6 8.4-5 5.0 8.4 16.0
5-20 200 | 5.6 8.6 250 8.5-4.6 4.6 8.5 10.3
5.7-12.9 129 | 57 7.7 1000 8.5-612 6.0 8.5 12.0
5.7-14.1 141 | 5.7 7.7 8.5-8 7.9 8.5 11.0
5.8-4.9 49 | 58 7.3 9-2.5 25 9.0 15.0 1000
5.8-14.4 144 | 5.8 7.3 2000 9-4 4.0 9.0 15.0
*6-3.2 32 | 60 8.0 9-10.5 10.5 9.0 | 150
6-6 6.0 | 6.0 10.0 9.1-75 7.5 9.1 17.9
6-22 220 | 6.0 15.0 250 9.25-4 4.0 9.25 | 12.25
6.2-6S 6.0 | 6.2 10.0 9.5-34 34.0 9.5 19.0
6.2-10 100 | 6.2 10.4 1000 10-6 6.0 | 10.0 12.0 250
6.2-12 120 | 6.2 10.4 1012-26 | 26.0 | 10.0 12.0
6.3-5 50 | 6.3 15.0 12-19 19.0 | 12.0 14.0 1000
6.3-20 200 | 6.3 12.7 250 12.4-5 50 | 124 22.0
6.35-3.2 32 | 6.35 9.1 *12.8-20 | 200 | 12.8 22.0 250
6.35-7.1 71 | 6.35 8.0 1000 12.8-35 | 350 | 128 22.0
6.4-3 30 | 64 12.0 13-5 50 | 13.0 24.0
6.4-10 100 | 6.4 20.0 500 20.5-9.5 9.5 | 205 25.5 500
6.5-3 30 | 65 9.2 1000 29-16 16.0 | 295 335 250
« Material: Nylon 66 (UL)/PBT (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
 Unit: mm Part No. | A(L) | Package Part No. | A(L) | Package
2-1.8 1.8 2-8 8.0
~ @37 |~ 2-2 2.0 2-9 9.0
»‘@2.2‘* 2-25 | 25 295 9.5
T ez S5 T
| | -9, . - .
T 24| 40 | 2000 212 [120] %
Lo J 2-43 | 43 2-13 13.0
2-5 5.0 2-14 14.0
253 | 5.3 2-15 15.0
2-6 6.0 2-16 16.0
2-7 7.0




Rk MAPCHRZ %% » R4 HA -

- Material: Nylon 66 (UL)/PBT (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm Part No. | A(L) | Package

2.6-2 2.0
2.6-3 3.0
264 | 40
2.6-5 5.0
945~ 266 | 6.0
@26 267 | 70
T ‘ 2.6-8 8.0

] 2.6-9 9.0 | 2000
T 26-10 | 10.0
| { 26-11 | 11.0
26-12 | 12.0
26-13 | 130
26-14 | 14.0
26-15 | 15.0
26-16 | 16.0

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm
kil
3 3 T Part No. | A(L) | B(ID) | C(OD) | Package
L 3-20L [20.0] 32 | 6.0
i i T 3381 | 381 3.05 | 6.35 | 00
| |
| [ P
PartNo. | A | Package PartNo. | A | Package
PartNo. | A | Package 375 7.5 3-17 17.0
315 |15 3-8 8.0 3-175 [175
3-2 2.0 3-9 9.0 3-18 18.0
325 |25 3-95 951 000 3-19 19.0
3-3 3.0 3-10 10.0 3-20 20.0
- @5 — 3-33 (33 3-105 [10.5 3-21 21.0
232 3-35 |35 3-11 11.0 3-22 22.0
T 3-4 4.0 3-12 12.0 3-23 230/ 1000
| }T 3-42 (42 | 2000 3-13 13.0 3-24 24.0
< 345 |45 3-13.6 [13.6 3-25 25.0
o \ 3-5 5.0 3-14 14.0 3-26 26.0
N | 351  [5.05 3-15 1500 000 3-27 27.0
3-55 |55 3-155 |[15.5 3-28 28.0
3-6 6.0 3-16 16.0 3-29 29.0
3-6.35 |6.35 3-165 |16.5 3-30 30.0
3-7 7.0 3-168 |16.8 3-35 35.0




R MAPCHRZ & » RI KA -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
sl

I I

]

] s

A
Part No. A(L) | B(ID) | C(OD) | Package Part No. A(L) | B(ID) | C(OD) | Package
3.5-1.6 1.6 35 6.3 4-2 2.0 4.2 6.3
3.5-2 2.0 35 6.3 4-3 3.0 4.2 6.3
3.5-3 3.0 35 6.3 4-3.4 34 4.2 6.3
3.5-35 35 35 6.3 4-35 35 4.2 6.3
3.5-4 4.0 35 6.3 4-4 4.0 4.2 6.3
3.5-45 45 35 6.3 4-4.83 4.83 4.2 6.3
3.5-5 5.0 35 6.3 4-5 5.0 4.2 6.3
3.5-6 6.0 35 6.3 2000 4-6 6.0 4.2 6.3
3.5-6.4 6.4 35 6.3 4-7 7.0 4.2 6.3 2000
3.5-7 7.0 35 6.3 4-75 75 4.2 6.3
3.5-75 75 35 6.3 4-8 8.0 4.2 6.3
3.5-8 8.0 35 6.3 4-85 8.5 4.2 6.3
3.5-9 9.0 35 6.3 4-9 9.0 4.2 6.3
3.5-9.5 9.5 35 6.3 4-95 9.5 4.2 6.3
3.5-10 10.0 35 6.3 4-10 10.0 4.2 6.3
3.5-11 11.0 35 6.3 4-11 11.0 4.2 6.3
3.5-12 12.0 35 6.3 4-12 12.0 4.2 6.3
3.5-12.7 12.7 35 6.3 4-12.7 12.7 4.2 6.3
3.5-13 13.0 35 6.3 4-13 13.0 4.2 6.3
3.5-14 14.0 35 6.3 4-14 14.0 4.2 6.3
3.5-15 15.0 35 6.3 4-15 15.0 4.2 6.3
35-1565 | 155 35 6.3 4-16 16.0 4.2 6.3
3.5-16 16.0 35 6.3 4-17 17.0 4.2 6.3
3.5-17 17.0 35 6.3 4-18 18.0 4.2 6.3
3.5-17.7 17.7 35 6.3 4-19 19.0 4.2 6.3
3.5-18 18.0 35 6.3 4-20 20.0 4.2 6.3
3.5-19 19.0 35 6.3 4-21 21.0 4.2 6.3
3.5-20 20.0 35 6.3 4-22 22.0 4.2 6.3
3521 | 210 | 37 | 63 | ‘00 223 | 230 | 42 | 63 | 00
3.5-22 22.0 3.7 6.3 4-24 24.0 4.2 6.3
3.5-23 23.0 3.7 6.3 4-25 25.0 4.2 6.3
3.5-24 24.0 3.7 6.3 4-26 26.0 4.2 6.3
3.5-25 25.0 3.7 6.3 4-27 27.0 4.2 6.3
3.5-26 26.0 3.7 6.3 4-28 28.0 4.2 6.3
3.5-27 27.0 3.7 6.3 4-28.7 28.7 4.2 6.3
3.5-28 28.0 3.7 6.3 4-29 29.0 4.2 6.3
3.5-285 | 2857 | 3.55 6.35 4-30 30.0 4.2 6.3
3.5-29 29.0 3.7 6.3 4-40 40.0 4.2 6.3
3.5-30 30.0 3.7 6.3 4-45 45.0 4.2 6.3
3.5-35 35.0 3.7 6.3




i APCIREPCAR R A = Bl &

+ Material: Nylon 66 (UL) Ok
— + Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

Part No. A | Package Part No. A | Package

KWH2-16 | 157 KWH2-15 | 15.0

* KWH2-2 2.0 KWH2-159 | 15.9
— s 35 | 38 o1 10| 2%

M2 KWH2-4 4.0 KWH2-18 | 18.0

KWH2-5 5.0 KWH2-19 | 19.0

KWH2-6 6.0 KWH2-20 | 20.0

@29 KWH2-63 | 6.3 KWH2-21 | 21.0

- @5 KWH2-7 7.0 KWH2-22 | 22.0

KWH2-8 8.0 | 2000 KWH2-23 | 23.0

(KwH2-16 ] KWH2-9 9.0 KWH2-24 | 24.0
KWH2-95 | 95 KWH2-25 250 | o

KWH2-10 | 10.0 KWH2-25.4 | 25.4

KWH2-11 | 11.0 KWH2-26 | 26.0

KWH2-11.5 | 115 KWH2-27 | 27.0

KWH2-12 | 12.0 KWH2-28 | 28.0

KWH2-12.7 | 12.7 KWH2-29 | 29.0

KWH2-13 | 13.0 KWH2-30 | 30.0

KWH2-14 | 14.0

Part No. A | Package Part No. A | Package

T T KWH3-1.5 15 KWH3-14 | 14.0

} } KWH3-2 2.0 KWH3-14.3L | 14.3

- L] < KWH3-3 3.0 KWH3-15 | 15.0

L KWH3-32L | 3.2 KWH3-159 | 159

L KWH3-3.5 35 KWH3-16 | 16.0

st L1l KWH3-4 4.0 KWH3-17 | 17.0

M3 M3 KWH3-5 5.0 KWH3-18 | 18.0

7@ 7EN) KWH3-6 6.0 KWH3-19 | 19.0

N N KWH363 | 63 KWH320 | 20.0
g - - 3.6/ KWH3-7 7.0 | 2000 KWHs21  [210] oo

- 6.4 @55+ KWH3-8 8.0 KWH3-22 | 22.0

KWH3-9 9.0 KWH3-23 | 23.0

[ KWH3-3.2L, KWH3-14.3L ] KWH3-9.5 9.5 KWH3-24 | 24.0

KWH3-10 | 10.0 KWH3-25 | 25.0

KWH3-11 11.0 KWH3-254 | 25.4

KWH3-11.5 | 11.5 KWH3-26 | 26.0

KWH3-12 | 12.0 KWH3-27 | 27.0

KWH3-127 | 127 KWH3-28 | 28.0

KWH3-13 | 13.0 KWH3-29 | 29.0

KWH3-30 | 30.0




i APCIREPCAR R A = Bl &

£ - Material: Nylon 66 (UL) Ok
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
Part No. A | Package Part No. A | Package
KWH3.5-2 2.0 KWH35-16 | 16.0
KWH3.5-3 3.0 KWH3517 [17.0 | 0
KWH3.5-4 4.0 KWH35-18 | 18.0
KWH3.5-5 5.0 KWH35-19 | 19.0
KWH3.5-6 6.0 KWH3.5-20 | 20.0
— KWH35-6.3 | 6.3 KWH35-21 | 21.0
} } KWH3.5-7 7.0 KWH35-22 | 22.0
] < KWH3.5-8 8.0 KWH35-23 | 23.0
L ; KWH3.5-9 9.0 | 2000 KWH3.5-24 | 24.0
= KWH3.5-10 | 10.0 KWH35-25 | 250 | oo
M3.5m KWH3.5-11 | 11.0 KWH3.5-25.4 | 25.4
9 KWH3.5-12 | 12.0 KWH35-26 | 26.0
st 1P KWH3.5-12.7 | 12.7 KWH35-27 | 27.0
 g63 - KWH3.5-13 | 13.0 KWH3.5-28 | 28.0
KWH3.5-14 | 14.0 KWH35-29 | 29.0
KWH3.5-15 | 15.0 KWH3.5-30 | 30.0
KWH3.5-15.9 | 15.9
X L Part No. A | Package Part No. A | Package
i o KWH4-2 2.0 KWH4-15 | 15.0
va 0T KWH4-3 | 30 KWH4-15.9 | 15.9
7@ Les o) KWH4-3.2L | 3.2 KWH4-16 160 | 0
KWH4-4 4.0 KWH4-17 17.0
~— M“?@ KWH4-4.8L | 48 KWH4-18 | 18.0
5~ KWH4-5 5.0 KWH4-19 | 19.0
T APyt KWH46 | 6.0 KWH4-20 | 200
[ KWHA-3.2L, KWH4-4.8L, g7 KWH4-63 | 63 KWH4-21 [ 21.0
KWHA-11L ] KWH4-7 70 KWH4-22 | 220
; ;j KWH4-8 8.0 | 2000 KWH4-23 | 23.0
L < KWH4-9 9.0 KWH4-24 | 24.0
L KWH4-95L | 95 KWH4-25 | 25.0
Sl J KWH4-10 | 10.0 KWha-254 | 254 | 1000
Ma KWH4-11 | 11.0 KWH4-26 | 26.0
KKWHA-11L | 11.1 KWH4-27 | 27.0
KWH4-12 | 12.0 KWH4-28 | 28.0
el KWH4-12.7 | 12.7 KWH4-29 | 29.0
79 KWH4-13 | 13.0 KWH4-30 | 30.0
[ KWH4-9.5L ] KWha-14 | 140
N
* o
<C
: Part No. | A | Package M Ej
M5 KWH5-3.2 | 3.2
m KWH5-4.8 |4.8] 2000
N7 KWH5-6.4 | 6.4
*;Sf« Ew:ggg ;g 1000 a7 Part No. | Package
g9 D |9 2127 KWH6-3.2 | 1000




i APCIREPCAR R A = Bl &

o - Material: Nylon 66 (UL) Ok
= + Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
Part No. A | Package Part No. A | Package

KWH440-2 2.0 KWH440-15.9 |15.9
KWH440-3 3.0 KWH440-16 | 16.0

KWH440-4 4.0 KWH440-17 |17.0| 2000
KWH440-5 5.0 KWH440-18 | 18.0
KWH440-6 6.0 KWH440-19 |19.0
KWH440-6.3 6.3 KWH440-20 |20.0
T KWH440-7 7.0 KWH440-21 |21.0
KWH440-8 8.0 KWH440-22 |22.0
< KWH440-9 9.0/ 2000 KWH440-23 | 23.0
J KWH440-9.5 9.5 KWH440-24 | 24.0

=2 KWH440-10 |10.0 KWH440-25 |25.0 1000
4-40 UNC KWH440-11 | 11.0 KWH440-25.4 | 25.4
@ KWH440-12 | 12.0 KWH440-26 | 26.0
N KWH440-12.7 | 12.7 KWH440-27 |27.0
~123.61 KWH440-13 | 13.0 KWH440-28 | 28.0
~ @55 ~ KWH440-14 | 14.0 KWH440-29 |29.0
KWH440-15 | 15.0 KWH440-30 | 30.0

AR M APCAREMKE 2 B & -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
- 6 -
A
iy
<C
T f
) <
l
M2.5x0.45P M3X0.5P
Part No. A | B | Package Part No. | A | Package
HPP25-14.5 |14.5] 6.0 HPP3-9 |9.0
HPP25-20 [20.0] 9.0 1000 HPP3-9.5 | 9.5 1000
~ 76
OO
E5 | |
= ~ 6.3
|
f i
S <
=] i
M3X0 5P M4x0.7P

Part No. | Package Part No. | Package
HPP3-25 1000 HPP4-4.5 1000




« Material: PC+ABS (UL)
« Flame Class: 94V-0

Rid : AT FQEM B -

« Color: Black ~0284
« Unit: mm 8
[9V]
' _
rss
Part No. | Package
v HP2050 1000
- Material: Nylon 66 (UL) At MAPCREMKHZ B E
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black ~ @4.8 -
+ Unit: mm
!%i Part No. | Package
E I HP256-16 | 1000
2-56 UNC
j@i* ~ @127
~26.35
O
=/ =y ? ‘
=: © E
=11 | & = e |
Z | < ~ LR — o
Zi © il j gé 7400 {
4-40 UNC | ' = M
4-40 UNC 6-32 UNC .

Part No. A | Package 6-32 UNC
HPP440-6.35 | 6.35 1000 Part No. Package Part No. | Package Part No. | Package
HPP440-11.2 [ 11.2 HPP440-17.4 | 1000 HPP632-14 | 1000 HPP632-51 200

+ Material: POM (UL)
+ Flame Class: 94HB ~ @9.8
« Color: Natural
+ Unit: mm @
i
ql=
§ Part No. | Package
R HPP10-64 250
Sl=
8-32 UNC

+ Material: Brass
« Finish: Nickel Plated
« Unit: mm

/o

Tl

M2x0.4

Aig : MAPCRERRMZEE » <A

AAREH -

Part No.

Package

BHP2-6

1000




AR MAPCRERKHMZBEE » A

- Material: Nylon 66 (UL) ESOE
« Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm
PartNo. | A | Package
HPS2-13 |13.0
PartNo. | A | Package HPS2-14 | 14.0
HPS2-4 4.0 HPS2-15 |15.0
HPS2-45 | 45 HPS2-16 |16.0
Tr HPS2-5 | 5.0 HPS2-17 |17.0
—t HPS2-6 6.0 HPS2-18 |18.0
T HPS2-7 7.0 HPS2-19 [19.0| 1000
< HPS2-8 8.0| 1000 HPS2-20 |20.0
El HPS2:9 | 9.0 HPS2-21 |21.0
M2X0.4P HPS2-10 |10.0 HPS2-22 |22.0
HPS2-11 | 11.0 HPS2-23 |23.0
HPS2-12 |12.0 HPS2-24 |24.0
HPS2-12.7 | 12.7 HPS2-25 |25.0
4
:
4 o I
g e )
T L4 o
T e |
< f A=
] {1 |
ZM2><0.4P Lvzxoap M2.5X0.45P
PartNo. | A | Package PartNo. | A | Package PartNo. | A | Package Part No. | Package
HP2-4 4.0 HP2-13 |13.0 HP2-20 |20.0 HPS2.5-11 | 1000
HP2-5 5.0 HP2-14 [14.0 HP2-21 |21.0
HP2-6 6.0 HP2-15 |15.0 HP2-22 |22.0
HP2-7 7.0 HP2-16 | 16.0 1000 HP2-23 [23.0
HP2-8 8.0 1000 HP2-17 |17.0 HP2-24 |24.0| 1000
HP2-9 9.0 HP2-18 |18.0 HP2-25 |25.0
HP2-10 |10.0 HP2-18.8 |18.8 HP2-26 | 26.0
HP2-11 |11.0 HP2-19 19.0 HP2-27 |27.0
HP2-12 |12.0 HP2-28 |28.0

+ Material: Nylon 6 (UL)
+ Flame Class: 94HB

« Color: Black

« Unit: mm

Part No. | Package
HPS2.5-16.5| 1000

M2.5x0.45P



A APCREMKRMZERT » N A
A T BEh o

- Material: Nylon 66 (UL) AEREE

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm ‘
T
T <
<
| | i
M2.5X0.45P M2.5x0.45P
PartNo. | A | Package Part No. A | B | Package
HP2.5-8 | 8.0 1000 HP2.5-15 |15.0|55
HP2.5-10 | 10.0 HP2.5-15S |15.0| 4.0

HP2.5-25 [25.0/55| 1000
HP2.5-25S |25.0] 4.0

@~
T HP25-31 |31.0|55
=il
= [{e]
4
<
T
T
M2.6X0.45P M30.5P PartNo. | A | Package
PartNo. | A | Package HPS-15 15.0
Part No. A | Package HPS-6 6.0 HPS-17.4 |17.4
HPS2.6-18 18.0 HPS-8 8.0 1000 HPS-18 18.0| 1000
HPS2.6-19 19.0 1000 HPS-10 |10.0 HPS-20 20.0
HPS2.6-31.75 | 31.75 HPS-12 |12.0 HPS-25 25.0
@8  ©F
— ——
3l |
m
:£ <C T <
T @
| o
/ Maxosp M3x0.5P
o [ HP-34]
v R B EREH ST TR PatNo. | A | B | Package
j Part No. A | B | Package HP-28.6 |28.6| 6.0
L HP-135 [13.5]6.0 HP-30  [30.0] 6.0
) HP-14 14.0]6.0 HP-30.8 |30.8| 6.0| 1000
HP-145 |145]6.0 HP-32 32.0| 6.0
Fwaosp HP-15  |15.060 HP-34_ [34.0] 80
Part No. A | Package HP-155 |155]6.0 HP-35 35.0| 6.0
HP-4 4.0 HP-16 16.0 6.0 HP-37 37.0] 6.0
HP-5 5.0 HP-16.5 [16.5]6.0 HP-38 38.0] 6.0
HP-6 6.0 HP-17 17.016.0 HP-40 40.0| 6.0
HP-6.3 6.35 HP-175 |175]6.0 HP-42 42.0| 6.0
HP-7 7.0 HP-18 18.016.0| 1000 HP-45 45.0| 6.0
HP-8 8.0 HP-19 19.016.0 HP-47 47.0| 6.0
HP-8.5 8.5 1000 HP-20 20.0|6.0 HP-49 49.0| 6.0 500
HP-9 9.0 HP-21.5 |21.5]6.0 HP-50 50.0| 6.0
HP-9.5 9.5 HP-22 22.0|6.0 HP-52 52.0| 6.0
HP-10 10.0 HP-24 24.0|6.0 HP-54 54.0| 6.0
HP-10.5 |10.5 HP-25 25.0|6.0 HP-55.5 |555| 8.0
HP-11 11.0 HP-26 26.0|6.0 HP-60.2 [60.2| 6.0
HP-12A | 12.0 HP-27 27.0|6.0 HP-70 70.0/10.0
HP-12 12.7 HP-28 28.0|6.0 HP-76.7 |76.7| 85




AR MAPCREMKHMZBEE » ~A

1] 53, °
- Material: Nylon 66 (UL) AAHE 5
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

i

«©
=D
% T" Part No. | Package
= HPA3-22.6 | 1000
2 Maxo.5p

«
!
4,

VA\
N J
55
A

ARARARARRRY

LA
B

R TTTITTTTIT

J
/ M3x0.5P L M3x0.5P
Part No. | Package PartNo. | A | B | Package
HPR3-7 1000 HPR-20 [20.0] 8.0 1000
HPR3-30 [30.0]10.0

«@» &
©) ¢ -
[{e}
a !

N 2 T
| 1+
_ 2| o = +
= I - =]
! = < el e
| & o
v > S f S
M3X0.5P S| ! =7 m
A1 0 S
PartNo. | A | Package M3X0.5P ' M3X0.5P
HPH-10 |10.0 PartNo. | A | Package
HPH-12 |12.0| 1000 Part No. | Package HPL-30 |30.0 500 Part No. | Package
HPH-15 |15.0 HPH-34 1000 HPL-40 [40.0 HPL-100 500
« Material: Nylon 6 (UL)+GF
« Flame Class: 94HB . |
« Color: Black ‘@> ©
<
M3X0.5P

Part No. A | Package
Part No. | Package HPR3-11 | 11.0 1000
HPR-8 1000 HPR3-22 | 22.0




Rig : MAPCREBRMZERZ » <A
Eit s o

- Material: Nylon 66 (UL) RAHEH

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm
PartNo. | A | Package
HPS4-6 6.0
HPS4-8 8.0
== T HPS4-10 | 10.0
= < HPS4-12 | 12.0 1000
l HPS4-15 | 15.0
HPS4-18 | 18.0
M4x0.7P HPS4-20 | 20.0
T
©) %
}
© N
< ©
| /b
Part No. A | Package = | o l S
HP4-6 6.0 M4X09P : =
HP47 | 7.0 ' v
HP4-8 8.0 PartNo. | A | Package
HP4-9 9.0 HP4-20 20.0 &
HP4-10 | 10.0 HP4-25 25.0 |
HP4-11 | 11.0| 1000 HP4-26 | 26.0 -
HP4-12 | 12.0 HP4-30 [300] 0 - I
HP4-12.7] 127 HP4-35 | 35.0 MAX0.7P
HP4-14 | 14.0 HP4-40 | 40.0
% HP4-15 | 15.0 HP4-45S | 45.0 Part No. | Package
HP4-16 | 16.0 HP4-45 | 455 HPL4-37 1000
N T
o ©) <
[ee]
4 ﬂ®7.9h¢
~@79} é‘ © |
T .+ 38
=] ©
[t B
/ Maxo.7p M4x0.7P
Part No. | Package Part No. | Package
HPR4-10 1000 HPR4-15 1000
Y & R
¥ 1@) é
B LT -
= alln IE
N =
I ~ B <
g R =
I 5=
éiﬁ Z: I v
?. M5X0.8P
Z \axo.7p

PartNo. | A | Package
Part No. | Package HPR5-25 |25.0| 1000
HPR4-70L 500 HPR5-45 |45.0 500




Rk A BT B AR 0 8 RS o

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
Part No. | Package
M-3/8-27 1000
* Material: Nylon 66 (UL) R MAPCREKRKMZEZ » ~ A
+ Flame Class: 94V-2/94V-0 AR FE o
« Color: Natural/Black
« Unit: mm
R
o OF
(2!3 T
]
=1 1 =1k
== T 0
=N N R
=N — I
Z4-40 UNC Z4_40 UNC
Part No. A B | Package Part No. | Package
HP440-79S | 7.9 |4.75 HP440-18 1000
HP440-9.5 95 [4.8 1000
HP440-15.9S | 15.88 | 4.75
r\
LN
OF
~ ©
f
f
o
|
<<
f
o
|
4-40 UNC £ 440 UNC
Part No. A | Package Part No. A | B | Package
HP44L-6.35 | 6.35 HP44L-22 [22.2]9.0
HP44L-8 8.0 HP44L-23.8 | 23.8|6.4 1000
HP44L-95 | 95 1000 HP44L-25.4 | 25.4 9.0
HP44L-12.7 | 12.7 HP44L-28.6 | 28.6 | 6.4
HP44L-15.9 | 15.9
HP44L-19.1 |19.1
o
[Te)
©) 3
i —
o
1 1= o
S = 1 3
~ 1 - > |
6-32 UNC 6-32 UNC 6-32 UNC
Part No. | Package Part No. Package Part No. | Package

HPS632-12 | 1000 HPS632-19.1| 1000 HP632-64 500




AR MAPCREMKHMZBEE » ~A

AR IBE o
- Material: Nylon 66 (UL) AE RS

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

i

H \
+ Unit: mm {} 83
T

=2 | |
<
=l
== o
Part No. A | B | Package £ T
HP632-6.4 6.4 [ 6.35 4(;32UNC
HP632-9.5 9.5(6.35 )
HP632-12.7 | 12.7 | 6.35 Part No. A | Package
HP632-15.9 | 159 | 6.35 | 1000 HP632-28.5| 28.5
HP632-19.1 | 19.1 | 6.35 % HP632-30 | 30.0 1000
HP632-22.2 | 22.2 | 6.35 HP632-31.8| 31.8
HP632-25.4 | 25.4 | 6.4 HP632-38.1| 38.1
S
:
B
8-32 UNC — % T
% <
= l + Material: Nylon 46 (UL)
Part No. A | Package - Flame Class: 94V-2
K HP832-12.7| 12.7 » Color: Black
HP832-19.1|19.1| 1000 Part No. | Package
HP832-25.4| 25.4 HP832-6.35 | 1000
—~ 4.8 |~
0263
1T
iR i PartNo. | A | Package
| l HP48-20 |20.0 1000
LI HP48-32 |32.0
BA T

CLEAR WITHOUT TAPPING

A MAPCRERKHMZBEE » A

I B8 o
+ Material: Nylon 66 (UL) BEEH

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm ©
/4
T A
: |
}
=N <
1221 @
=
< &
=l Ve
=1 M3x0.5P
M3X0 5P BRASS NUT
BRASS NUT
PartNo. | A | Package BRASS NUT
Part No. A | B | Package HPC-19 |19.0
HPC-11.9 11940 1000 HPC-30 |30.0| 1000 Part No. | Package
HPC-15 15.0/45 HPC-45 |45.0 HPC-21 1000




it : MAPCREBRMZERZ » <A

| s o
- Material: Nylon 66 (UL) AR HE 5
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
:
/4
4 i T 4
: : 1E :
a— © I I
f — == 11! - f
T
§ b =i N ©
N~ | | © | | f
. B34 1=
e © | % N X
| ~ ==
b =1A M4x0.7P i
N B2 | | BRASS NUT oy
M3x0.5P M3x0.5P PartNo. | A | Package 4-40 UNC
: BRASS NUT
BRASS NUT BRASS NUT HPC4-30 130.0
Part No. | Package Part No. | Package HPC4-35 |35.0| 250 Part No. | Package
HPCA-21 1000 HPC-73 1000 HPC4-40 |40.0 HPC44-21 | 1000

A& MAPCREKKMZER » — 3%

+ Material: Nylon 66 (UL) R BH o SRR A RIBRA -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
N
M4x0.7P T
1. Part No. | Package
@ TPR4-15 1000
- Material: Nylon 66 (UL) R MANE2EE -
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm ﬁ
M3x0.5P S
| &

Part No. | Package

Q c%: TPA-4 1000

+ Material: Nylon 66 (UL) A MAPCHREMKRBEZEZ » —3
« Flame Class: 94V-2/94V-0 BSR4k » B — B ABIgR A o
+ Color: Natural/Black
+ Unit: mm

Part No. | Package
TP2L-4 1000




A& : MAPCRERRM X B E » —3%

ALK s B — A A MR .
- Material: Nylon 66 (UL) BB S R e IR A

« Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm

PartNo. | A | B | C | Package | | PartNo. | A | B | C | Package
TP2-5S | 5.0/3.04.0 TP2-13 |13.0/ 5.0 | 5.0
TP2-65S| 65| 4.0 | 4.0 TP2-14 |14.0/5.0 | 5.0
TP2-8S | 8.0|4.0 |40 TP2-15 |15.0| 5.0 | 5.0
TP2-10S |10.0| 4.0 | 4.0 TP2-16 |16.0|5.0 | 5.0
TP2-15S |15.0| 4.0 | 4.0 TP2-17 |17.0| 5.0 | 5.0
TP2-4 40|25|5.0 TP2-18 |18.0| 5.0 | 5.0
TP2-5 50[30]|50 TP2-19 |19.0| 5.0 | 5.0
TP2-55 | 55/3.0(5.0 TP2-20 |20.0| 5.0 | 5.0
TP2-6 6.0 40|50 1000 TP2-21 |21.0|5.0 | 5.0 1000
TP2-65 | 6.5|4.0 5.0 TP2-22 |22.0| 5.0 | 5.0
TP2-7 7.0/ 4.0 |50 TP2-23 |23.0| 5.0 | 5.0
TP2-8 8.0]5.0150 TP2-24 |24.0|/5.0 | 5.0
TP2-9 9.0/ 5.0(50 TP2-25 |25.0| 5.0 | 5.0
TP2-10 |10.0|5.0 | 5.0 TP2-26 |26.0| 5.0 | 5.0
TP2-11 |11.0/5.0|5.0 TP2-27 |27.0| 5.0 | 5.0
TP2-12 |12.0|5.0|5.0 TP2-28 |28.0| 5.0 | 5.0

Part No. A | B | Package
Part No. A | B | Package | | TP2.5-17 |17.0|5.0
- o TP2.55 | 5030 TP2.5-18 |18.0]5.0
T) A TP2.56 | 6.0]4.0 TP2.5-19  |19.0[5.0
=/ | e TP2.57 | 7.0/50 TP2.520 | 20.0]5.0
M2.5X0.45P M2.5x0.45P TP25-8 | 8.0[50 TP25-21 [21.0[5.0
S L TP259 | 9.0]50 TP2.522 | 22.0|5.0
% o 4 TP25-10 [100[50| o | [TP2523 [23050] 1000
L ol \ TP25-11 | 11.05.0 TP25-24 | 2405.0
TEN < TP2.5-12 | 12050 TP2.5-24.5 | 245 5.0
f J TP2.5-13 [13.0]5.0 TP25-25 |25.0]5.0
M2x0.4P — TP25-14 |14.0]50 TP2.526 | 26.0|5.0
PartNo. | Package M2.5x0.45P TP2.5-15 |15.0]5.0 TP2.527 |27.0|5.0
TP2.52-6 | 1000 TP2.5-16 | 16.0|5.0 TP2.528 | 28.0|5.0

_ Part No. A | B | Package Part No. A | B | Package
i j TP264 | 40|20 TP2.6-16 | 16.0|55
/4 /4 TP2.6-5 5.0/3.0 TP2.6-17 |17.0|5.5
[ — TP2.6-7 7.0]5.0 TP2.6-19 [19.0|5.5
i 10 TP2.6-8 8.0|55 TP2.6-20 |[20.0|55
+ TP2.6-9 9.0/5.5 TP2.6-21 |21.0|5.5
T TP2.6-10 |10.0|55| 1000 TP2.6-22 [22.0|55| 1000
© < TP2.6-11 |11.0|55 TP2.6-23 [23.0|5.5
| o) TP2.6-12 |12.0|55 TP2.6-24 |24.0|5.5
M2.5X0.45P TP2.6-12.7 | 12.7 | 5.5 TP2.6-25 |25.0|5.5
M2.6x0.45P TP2.6-13 |13.0|55 TP2.6-26 |26.0|5.5
Part No. | Package TP2.6-14 [14.0]55 TP2.6-27 |27.0]5.5
TP2.5-6L 1000 TP2.6-15 |15.0|5.5 TP2.6-28 |28.0|55




Mg : BAPCREERMZE L » — %

AHE 2L s Py E2 AR hE o
« Material: Nylon 66 (UL) AL R - ) —sRECS IR R A
+ Flame Class: 94V-2/94V-0

« Color: Natural/Black i S
+ Unit: mm /.\ jo
N1 \/ |

T —

S
2
<
Msxo.spéj M3x0.5P i
\r::1 i W ,:L <
_1EM —
=~ ¥ M3X0.5P
M2.5X0.45P
PartNo. | A | B | Package
Part No. | Package TP3-6 6.0 | 5.0 1000
TP3-2.5-6 1000 TP3-75 |7.5]6.25
)
—t M3x0.5P
S
M3XO.5Pé ©
E?:l f l:
f il
Part No. Package
M3x0.5P TP-5S
Part No. A | C | Package TP-5SM
TPS-10S | 10.0 | 5.0 TP-6S
TPS-10 10.0 | 8.0 TP-7-4
TPS-12 12.0 | 8.0 TP-9-4 1000
TPS-13 13.0 | 8.0 1000 TP-10.8
TPS-15 15.0 | 8.0 TP-11.2
TPS-18 18.0 | 8.0 TP-16S
Part No. | Package TPS-20 20.0 | 8.0 TP-18S
TP-32.7L 1000 TPS-25 25.0 | 8.0 TP-20S
N PartNo. | A | B | Package PartNo. | A | B | Package
j TP-9.5 9.5]6.0 TP-21 |21.0]6.0
o TP-10 10.0]6.0 TP-22 |22.0]6.0
305 i TP-10.5 | 10.5|6.0 *TP-23 |23.06.0
' | TP-10.8L |10.8|6.0 TP-24.5|24.5|6.0
T TPl |11.0]6.0 TP-25 | 25060
QD < TP-12A  |12.0]6.0 TP-27 |27.0]6.0
J—L TP-12 12.716.0 TP-28 28.0]6.0
M3X0.5P TP-13 13.0]6.0 TP-28.5|28.5|6.0
TP-14 14.016.0 TP-30 30.0]8.0
PartNo. | A | B | Package TP-15 15.0]6.0 1000 TP-33 |33.0]6.0 1000
TP-4 4030 TP-155 ]155|6.0 TP-34.5345(6.0
TP-5 5.0]3.0 TP-16 16.0| 6.0 TP-35 |35.0]6.0
TP-6 6.0]4.0 TP-165 |16.5]6.0 TP-36  |36.0|6.0
TP-7 7.015.0 1000 TP-17 17.016.0 TP-37 |37.0]6.0
TP-75 [75]5.0 TP-18 18.0]6.0 TP-40 |40.0]6.0
TP-8 8.0 6.0 TP-185 [185]6.0 TP-45 145.0]6.0
TP-85 [85]6.0 TP-19 19.016.0 TP-53.5|53.5]6.0
TP-9 9.0]/6.0 TP-20 20.0/8.0 TP-55.555.5]8.0




it MAPCIREMAARMZBEIE » —

YA s R g Fr A AN o
- Material: Nylon 66 (UL) R oS S R e SRR A
+ Flame Class: 94V-2/94V-0 + Material: POM
+ Color: Natural/Black + Color: Black
« Unit: mm « Unit: mm
4
5
n
T
M3x0.5P f M3X0.5P
[{e]
Lo
o~
—
Q
2 |
= |
M3x0.5P
Part No. | Package Part No. | Package
K TP-23-1 1000 TPD-19 1000

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
PartNo. | A | B | C | D | Package
TP3-6L 6.0/ 40]/80(6.0
TP3-8L 8.0] 6.0/80]6.0
TP3-10L |10.0| 8.0/ 8.0 6.0
M3X0.5P TP3-104 |10.4| 7.0/5070 1000

TP3-11L [11.0] 9.0/8.0]6.0
TP3-12L |12.0]/10.0|8.0]6.0
TP3-15L [15.0]10.0/8.0|6.0
TP3-18L [18.0]10.0/8.0|6.0
TP3-50L |50.0/10.0]/8.0]6.0 500

T
— L
1 j
) |
7 <
T ' ‘ M3X0.5P
! ST =
5o ~ |
= = | |
M3x0.5P L 4-40 UNC
Part No. | Package Part No. | Package Part No. | Package
TP-8L 1000 TPS44-11 1000 TPS632-6 1000

Part No. | Package
TP3.5-3-8 1000




Mg : BAPCREERMZE L » — %

AHE 4k, P gl Ea A BT hE o
- Material: Nylon 66 (UL) BB S R e IR A
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
’
(<=}
/4 Part No. A B | C | Package

— TPS4-10L [10.0| 8.0 9.5
M4X0.7Pé ? TPS4-12L [12.0| 8.0 9.5

— TPS4-13 | 13.0] 6.0| 65
TPS4-15L | 15.0 | 12.0 | 95
TPS4-20L | 20.0 | 12.0 | 9.5
TPS4-25L | 25.0112.0| 95
TPS4-30 [ 30.0 ] 10.0 | 6.5
TPS4-55 [55.0]10.0 | 6.5

1000

Part No. A | B | C | D | Package
TP4-12 12.0/6.0/65|70
TP4-13 ]13.0/6.0/65|70
TP4-14 114.0/6.0/65|70
TP4-15 115.0/6.0/65|70
TP4-16 ]16.0/7.0/65|70
TP4-17 |17.0/70]65|7.0
TP4-19 ]19.0/7.0/65|70
TP4-20 |20.0|/8.0|65|7.0
TP4-25 125.0/8.0[65|7.0] 1000
TP4-27 |27.0/8.0]65|7.0
TP4-30 |30.0/8.0|65]|7.0

M4x0.7P

Part No. A | B | C | D | Package TP4-34 134.0[8.0]65|7.0
TP4-6 6.0/40]65|7.0 TP4-35 |35.0[8.0]65|7.0
TP4-8 8.0/6.0[65|70 TP4-37  |37.0/8.0]65|7.0
TP4-10 10.0/6.065|7.0] 1000 TP4-40 140.0|8.0]65|7.0
TP4-10LS |10.0/7.0|8.0|7.0 TP4-45 1455|8.0]65|7.0
TP4-10L |10.0]/7.0|8.0|8.0 TP4-57 |57.0/8.0]65|7.0

Part No. A | B | Package
TP4-8L 80| 6.0
TP4-10R  |10.0| 8.0
TP4-11R | 11.0] 9.0
TP4-12L  |12.0/10.0
TP4-14L  |14.0/10.0
TP4-20L  |20.0|10.0
TP4-32L  |32.010.0 500
TP4-35L  |35.0/10.0| 1000

1000

Part No. | Package
TP5-60 250




A& : MAPCRERRM X B E » —3%

ALK s B — A A MR .
- Material: Nylon 66 (UL) BB S R e IR A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

Part No. A | B | C | D | Package
TP440-6.4 6.4 |40 |48 |64
TP440-6.4-4.8 | 6.4 |48 |48 |64

! TP440-7 70 [40 [48 [64
TP440-85 | 80 [635[48 |48
T

TP440-9.5 9.5 |60 |48 [64
TP440-12.7 12.7 6.0 |48 |64
TP440-15.2 15.2414.75|4.75|6.35| 1000
TP440-15.9 159 [6.0 |48 |64
TP440-19.1 19.1 6.0 |48 |64
TP440-19.1S  |19.05|6.35|4.75|4.75
TP440-22.2 22.2 |4.75|4.75]6.35
TP440-254 254 |4.7514.75]6.35
TP440-28.7 28.7 [6.0 |48 |64

6-32 UNC .
T
6-32 UNC
Part No. A | B | Package Part No. A | B | Package
6-32 UNC TP632-5S | 5.0/3.0 TP632-11S | 11.06.0
TP632-5.55 | 55|3.5 TP632-12S [12.0 /6.0
TP632-6S 6.0(4.0 TP632-12.7S [ 12.7 | 6.0
TP632-6.3S | 6.3/4.0| 1000 TP632-15.9S | 15.9|6.0| 1000
TP632-8S 8.0(6.0 TP632-19.1S | 19.1| 6.0
PartNo. | Package TP632-9S 9.0/6.0 TP632-25.4S | 25.4 | 6.0
TP632-M310| 1000 TP632-10S |10.0 /6.0 TP632-31.8S | 31.8 (6.0

Part No. A | B | Package

PartNo. | A | B | Package | | TP632-11 |11.0|6.0

TP632-5 | 5.0/3.0 TP632-12 |12.0(6.0

TP632-55| 5.5|3.5 TP632-12.7 | 12.7 [ 6.0

TP632-6 | 6.0|4.0 TP632-15.9 | 15.9 [ 6.0

TP632-6.3| 63140| 0 TP632-19.1 [ 19.1 (6.0 | 1000 - Material: Nylon 46 (UL)

TP632-8 | 8.0(6.0 TP632-25.4 | 25.4 (6.0 + Flame Class: 94V-2

TP6329 | 9.0|6.0 TP632-28.6 | 28.6 | 9.5 » Color: Black
*TP632-95| 9.5/6.0 TP632-31.8 | 31.8|6.0 Part No. | Package

TP632-10 | 10.0 | 6.0 TP632-51 |51.0(6.0 TP632-17 | 1000




it MAPCIREMAARMZBEIE » —

AR s T — pkEe AT 08 .
- Material: Nylon 66 (UL) BB S R e IR A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
E Part No. A | B | C | D | Package
TP632-9.5L | 95/6.4 |64 |6.4
A TP632-17.5L [17.5(6.4 |6.4 |6.4
6-32UNC T TP632-31.8L |31.8/6.35/6.35]6.35| 1000
% TP632-34.9L [34.9(6.35(6.35|6.35
< TP632-38.1L |38.1/6.35|6.35|6.35
T TP632-41.3L |41.3|6.35/6.35|6.35
v TP632-44.5L |44.5|6.35|6.35|6.35 500
6-32 UNC TP632-50.8L |50.8(6.35|6.356.35

8-32 UNC

t
0
o
!

8-32 UNC

8-32 UNC

Material: Nylon 46 (UL)

Part No. A | Package « Flame Class: 94V-2
TP832-12.7 |12.7 » Color: Black
TP832-19.1 [19.1| 1000 Part No. | Package
TP832-22.2 |22.2 TP832-95 | 1000

A& PCREPCHREZ B & » RAEZER -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

M2.5x0.45P

©

BRASS NUT V_T®3.5
+ Part No. | Package
3 nl HPB25-10 | 1000
f S =
-
- Material: Nylon 66 (UL) AR MAPCHREMKRBZEZ » —8
« Flame Class: 94V-2/94V-0 B » B — B IR o
« Color: Natural/Black
+ Unit: mm
(o)
M3x0.5P -
BRASS SCREW '
o o™
NYLON 66 Part No. | Package
T 1 ‘T‘ MTPE3-12 1000

M3X0.5P — ==
@56l b

5ok
-6

1



Aig : MAPCRERRMZEE » — 3%
DB 4k, B A EE g o
. Material: Ny|0n 6 (UL) ﬁa =3 *?w"% 7?7 jr% &Ea (= ﬁgrpﬁ'fifﬁ
+ Flame Class: 94V-0
+ Color: Natural
« Unit: mm

M3x0.5P
BRASS SCREW

Part No. | Package
MTPF3-7 1000

M3x0.5P
BRASS NUT

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm T
;
[

M4x0.7P
STEEL SCREW T
o]
NYLON 66 ﬁ PartNo. | A | Package
. MTPC4-20 | 20.0 1000
M4x0.7P —| ! MTPC4-57 | 57.0
N S l
f
- Material: Nylon 66 (UL) A& : PCREPCREIZEE » RAERR o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
M4x0.7P
BRASS SCREW
M3x0.5P
BRASS NUT
Part No. | Package
MTPA4-3-20| 1000
+ Material: Nylon 66 (UL) Bt MAPCREMKEEZE R » —3
« Flame Class: 94V-2/94V-0 AR » B — R AL A EE A o
« Color: Natural/Black
« Unit: mm

?
M4X0.7P a M4X0.7P Lt
STEEL SCREW é ; STEEL SCREW oy
NYLON 66 —_ NYLON 66 %
N N

(@] (@]

M4x0.7P LL M4x0.7P T

STEEL NUT —| |ezg 1+ STEEL NUT — gt <

A]- | @ |

f f

PartNo. | C | Package Part No. A | B | C | D | Package
MTPA4-15-1 | 6.0 1000 MTPA4-15 |15.0(5.0(6.0{8.0| 1000
MTPA4-15L | 8.0 MTPA4-50L | 50.0 | 6.0 | 8.0 | 9.0 200




Rig : BAPCREERMZE L » — %
YA s R g Er A AN o
- Material: Nylon 66 (UL) R oS SRR e R A
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm N
S
-

/S MBXL.0P
M5x0.8P STEEL SCREW ;
STEEL SCREW \%4; \% =
NYLON 66— | !

M5X0.8P

M4x0.7P 3 STEEL NUT—| | _ S
STEEL NUT— |_| |+ = W
Z | © == |3
= T == )

Part No. | Package Part No. | Package

MTPA5-4-50 250 MTPAG-5-30 1000

o
®

6-32 UNC
BRASS SCREW

5

Part No. Package
MTPD632-11.9| 1000

5 -
- 119 —

6-32 UNC
BRASS NUT

A& MAPCRAKKMZER » — 3%
Bk » B — B OB iEE R o

+ Material: Brass
 Unit: mm

Part No. | Package
TP-10BA 1000

+ Material: Steel/SUS
« Unit: mm

Part No. A | B | D | Package
TP-18SUS |18.0/8.0|5.5
TP-25ST |25.0/6.0|5.0
TP-30SUS |30.0/6.0|5.0
TP-55SUS |54.9/8.0|5.5

500

T
s
M3X0.5P ©
i
<
o
.




Mg - MAPCIREMRM Z B E » —i

Po — A = °
- Material: Steel BLaSR & > B —ImELA R IERA

+ Unit: mm

=: ) .
©)

!
M3x0.5P © —
E: a3 M3x0.5P o

R

2

~ <<
— i}
o —

! b
M3x0.5P /) M3x0.5P

PartNo. | B | C | Package PartNo. | A | Package
TP3-45ST |5.5]6.0 500 TPB3-20NI | 20.0 500

TP3-45LST [ 6.0 | 7.0 TPB3-40NI | 40.0

OF
[Te) 4 ) o
/[ 4 N/
%
7o)
M3x0.5P 4 M3X0.5P

NI
= IS =T~
= ‘i’ l == < |
/ / vas
M3x0.5P M3x0.5P
Part No. | Package Part No. | Package
TP3-9ST 1000 TPS3-7ST | 1000
« Material: SUS
« Unit: mm
6.35
M3.5%0.6P w0
M3.5x0.6P &
4
©
—
Part No. Part No. | Package
TP-6ST TP-6ST-1 500
« Material: Brass
b
« Unit: mm o
Gx
i
Lo
6-32 UNC .
Part No. A | Package
TP632-19.05BA | 19.05 500
TP632-25.4BA | 25.4




A& : MAPCRERRM X EE » — 3%

BB s B — B A8 o
- Material: Nylon 66 (UL) B e R & > 7 — AL IER A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
© 15
M3X0.5P MAX0TP
BRASS SCREW A STEEL SCREW o
NYLON 66 ‘L
‘ NYLON 66 T
M3X0.5P § !
=2 M4x0.7P _ ~
BRASS NUT— STEEL NUTﬂégiz ?
]
Part No. | Package Part No. | Package
MTPG3-42 500 MTP4-12.7 1000
- Material: Nylon 66 (UL) Rig : APCIREKRE X EZ » d¥n
« Flame Class: 94V-2/94V-0 B F REBFER o
« Color: Natural/Black
« Unit: mm ©
M2.5%0.45P
BRASS SCREW \%4
o

Part No. Package
TPIM2.5-3-42| 500

6 L424

M3x0.5P é
BRASS SCREW

—

« Material: Nylon 6
- Color: Natural i
+ Unit: mm y

\
J
9.5

.

\

M4x0.7P

BRASS SCREW%

gl

M4x0.7P ‘
BRASS SCREWJ§

-

Part No. | Package
TPIM4-90 500

6#90——‘ 6

]

Aig : MAPCRERRH X B E » F\iE

- Material: Nylon 66 (UL) BREHT RFFMRA -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
 Unit: mm

Part No. A | Package
M3x0.5P HPI3-3 3.0
HPI3-4.75 | 4.75
HPI3-5 5.0
HPI3-55 | 55 1000
M3X0.5P HPI3-10 |10.0
HPI3-15 |15.0

[ HPI3-3, HPI3-4.75 ]



A& s MAPCRERRM X B E » fif

- Material: Nylon 66 (UL) BREHT RRHMRA -

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

Part No. A | B | C | Package
HPI4-5 50(6.0/6.0
HPI4-10 |10.0/6.0|6.0
HPI4-15 |15.0/6.0|6.0
HPI4-17L | 17.0/8.0|8.0| 1000
HPI4-19 |19.0/6.0|6.0
% HPI4-19L [19.0/9.0|9.0
HPI4-25 |25.0/6.0|6.0

M4x0.7P

) 4
/¥
M4x0.7p — M4x0.7P —
¥ i3
| 1
To)
e 3
Ma0.TP—"5 1 M4x0.7P 3
Part No. | Package Part No. | Package
HPIB4-18.5| 1000 HPID4-14 1000
W

X0, 1
M4X0.7P — ) MAX0.7P

Laa\zhs

M4x0.7P M4x0.7P
Part No. | Package Part No. | Package
HPIA4-2 1000 HPIE4-3 1000

g : PCRIG AHBANE R » 7 — 37T

é\i\ E\ o
- Material: Nylon 66 (UL) B A SR EF R F

« Flame Class: 94V-2/94V-0
- Color: Natural/Black PartNo. | A | B | Package

+ Unit: mm SCBA-3 3.0 6.3
SCBA-3S 3.0 3.0
SCBA-4 401 6.3

MOUNTING HOLE @3.0

THICKNESS 1.6 SCBA-5 501 6.3
N SCBA5S | 50| 45
0 SCBA6 | 60623
/- SCBA-6S | 6.0 | 45
SCBA7 | 7.0 623

@ SCBA8 | 8063 1000

[ SCBA-9 90|63
< SCBA-10 | 100 | 6.3
{ SCBA-11l | 11.0| 6.3
¥
[aa]
|

SCBA-12 | 120 | 6.3
SCBA-13 | 130 | 6.3
SCBA-14 | 140 | 6.3
SCBA-15 [ 150 | 6.3
SCBA-16 | 16.0 | 6.3

M3x0.5P




iR cPCHRIMEHERARBZE » B —37
ey 5301 °
- Material: Nylon 66 (UL) REREFRAT
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @35
THICKNESS 0.8
1 MOUNTING HOLE @3.5
o THICKNESS 1.6
[Te]
B
s
<<
T
™
M3x0.5P <
Part No. A | Package
SCBC-3 3.0 1000
SCBC-4.75 | 4.76 Part No. | Package
SCBC-5.5 55 2000 SCBB-3 1000

MOUNTING HOLE @3.0
THICKNESS 1.6

2
25 ?

Part No. | Package
SCBD-8 1000

M3x0.5P

MOUNTING HOLE @2.5 Part No. A Package

THICKNESS 1.6+ SCBS632-3.2 32
\ o SCBS632-4.8 4.8
SCBS632-6.4 6.4

SCBS632-7.9 7.9
SCBS632-9.5 9.5 ] 1000
SCBS632-11.1 | 11.1
SCBS632-12.7 | 12.7
SCBS632-14.3 | 14.3
SCBS632-15.9 | 15.9

©
*‘ 6.4 LA—J J4.8

6-32 UNC

MOUNTING HOLE @3.0
THICKNESS 1.2

Part No. | Package
MSPA3-9.7 | 1000

«6*‘& 9.7 aS.GL —~ 4.




A :PCHRMEBZERAERRE » A —T
e S50 °
- Material: Nylon 66 (UL) REREFRAT
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @3.9~@4.0 MOUNTING HOLE @3.9~@4.0
THICKNESS 1.6 THICKNESS 1.6
— b
a £ an £
7$ S
(1) & (1) 7%
<C <C
e —
wsosp— = M4XO.7P/% v
Part No. A | Package Part No. A | Package
MSPG3-3.2 3.2 MSPG4-3.2 3.2
MSPG3-4.8 4.8 MSPG4-4.8 4.8
MSPG3-6.4 6.4 MSPG4-6.4 6.4
MSPG3-9.5 9.5 MSPG4-9.5 9.5
MSPG3-12.7 | 12.7 1000 MSPG4-12.7 | 12.7 1000
MSPG3-15.9 | 15.9 MSPG4-15.9 | 15.9
MSPG3-19.1 | 19.1 MSPG4-19.1 | 19.1
MSPG3-22.2 | 22.2 MSPG4-22.2 | 22.2

MOUNTING HOLE: @G MOUNTING HOLE: @G
THICKNESS 2.1 THICKNESS 1.6

Part No. A | B G Package

GD%:S MSPS2S | 20[80 [ 40 |
-? [ 'MsPs3 32160 | 40

MSPS-5 4860 |3.9-40

MSPS-6 6.4 6.0 |3.9-40

MSPS-12.7 | 12.7 |6.0 |3.9~4.0

f

~26.1

sls]

632 A

TAANAON
e

«B#% A—49 ‘*
3

ot | MSPS13 [130[635 40 | 1000
632 % (D) & [ MsPs-159 | 159 |60 |39-40
7 * | MSPS-19.1 [19.1[6.0 [39-40
[ MSPS-13 ] MSPS-22.2 | 22.2 |6.0 |3.9-4.0
MOUNTING HOLE @3.2 MOUNTING HOLE @3.4
THICKNESS 1.6 THICKNESS 1.6

~—10.5—

%w \g
7 M3x0.5P '
S
' | O
[ scB3-12.7] U) s
r

Part No. A | Package Part No. | Package
SCB3-3.2 | 32 SCB3-38 1000
SCB3-9.5 | 95| 1000
SCB3-12.7 |12.7




R PCRIGAEEBANEZ » 5 —37

BB R °
- Material: Nylon 66 (UL) Ao & B A

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.6
Part No. A | Package
SCB832-6.35 | 6.35
Tk
8-32 UNC 29 :
SCB832-19 | 19.05

MOUNTING HOLE @4.0

THICKNESS 1.6 MOUNTING HOLE @4.0

THICKNESS 1.2~1.7
MOUNTING HOLE @4.0

THICKNESS 1.6
g THREAD

%
- 10

A~

6-32 UNC

IS} @1

6-32 UNC
PartNo. | A | B | Package ©
SCB-6 6.3(7.8 Part No. A | B | Thread | Package
SCB-10 95|78 i SCB-6SM3 | 6.3|4.8| M3x0.5P
SCB-12 |12.7|7.8| 1000 Part No. A | Package SCB-6S 6.3[4.8|6-32 UNC 1000
SCB-15 |15.9|7.8 SCB-8.5S 8.5 1000 SCB-8S 8.0(4.5|6-32 UNC
SCB-15A |15.9 (4.8 SCB-10SA |10.0 SCB-10S | 10.0 {4.5|6-32 UNC

MOUNTING HOLE @4.0

THICKNESS: T

Part No. A|B|C|D T Package

SCB4-6 6.3/48]10.7|7.6|1.2~-1.7
SCB4-6A | 6.3]6.4/10.7|7.6|1.2~1.7
SCB4-95 | 95|64102|7.7] 16 1000
%*SCB4-14.3/14.316.4]10.2|7.7| 16
SCB4-16  |15.9(6.4/10.0/8.0]/1.6~1.8

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS: T
o
@ < ﬂ A
(o]
; !
< <<
3 % l
om v
: A
M4x0.7P M4x0.7P —F
Nl 6.8~
[oe]
C
PartNo. | A | B | T | Package Part No. A | Package
SCB4-4 |4.0(6.412.0 SCB4-23.8 |23.8
SCB4-5 |5.0(6.0]|16 1000 SCB4-30  ]30.0 1000




g PCRIGEHEBANE L » 5 —37

BB R °
- Material: Nylon 66 (UL) Ao & B A

« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm o438

283
@8.3 @4.8 @
@ MOUNTING HOLE

THICKNESS 1.6

MOUNTING HOLE

THICKNESS 1.6 T BOARD
T — =7 @ —
| | K |
4

B T I ; 920N
231/ B A)onat \

FOR M35 SCREW MAX0.7P~ == e oreone!

‘ Part No. A | L | Package Part No. L | Package
‘ TCEH-64 |52 64 TCEP4-64 | 64
TCEH-95 [7.9] 95 TCEP4-95 | 95

- -~ - i TCER-12.7 | 7.9 |127] 1000 Tcepa127 |12.7] 000
|comenvounrzs _ebee wowrzs | TCEH-15.9 |7.9/15.9 TCEP4-15.9 |15.9

A& : AAPCR X H A -
+ Flame Class: 94V-0
« Color: Natural

« Unit: mm

MOUNTING HOLE @3.7
THICKNESS 1.6

« Material: PBT (UL)+GF »@

MOUNTING HOLE @5.7

Part No. | Package
THICKNESS 1.6

THCS-2 1000

Rig : B BERRPNERLE > BRE

y : + Material: Nylon 66 (UL) £ HA
|\ - Flame Class: 94V-0 2
. } + Spring Material: SUS N MOUNTING HOLE @3.6
; « Color: Natural Eu THICKNESS 1.6
-1 | * Unit: mm B} £5 3 FOR @6 HOLE OR SLOT
g - Patented (& #] &%) 2 I THICKNESS 1.6

Part No. | Package
THCS-1F 1000

7 7
PRESSED UNPRESSED
STATUS STATUS \_ MOUNTING HOLE @3.4

28.9~ THICKNESS 1.5
()

Ak XEPCREMKKMZEE o

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black

« Unit: mm

« USA Patented (% E & F| &%)

Part No. A | B | Package
ALUCA-8 | 80| 65
ALUCA-9 9.0 75
ALUCA-10 [10.0] 85
ALUCA-12 |12.0(10.5
ALUCA-14 |14.0(125
ALUCA-16 |16.0|14.5

1000

* % % B b 7k B
MOUNTING HOLE @40 3 /B&H#RE
THICKNESS 0.8~L6




-~ @10

MOUNTING HOLE @4.5

THICKNESS

1.0

- Material: PC (UL)

+ Flame Class: 94V-2/94V-0
- Color: Natural/Transparent
« Unit: mm

=
b

MOUNTING HOLE
THICKNESS: T

Part No. A | C

it : AR LERS @R Bk
B4t B -

MOUNTING HOLE @4.5
THICKNESS 0.8~1.0

b

T | Package

MCFG-3010 [30.5]0.8

1.0

MCFG-35810 | 35.8 | 1.051.05

1000

Part No.

Package

MCFL-3310

1000

~H-@1.5 i
<
&
@35
- 21331+ o
MOUNTING HOLE @4.5
THICKNESS: T
Part No. T Package
MCFA-2508 | 0.6~0.8 500
MCFA-2511 | 0.8~1.1
P15
%
@4
W] e
~@13.4—~
MOUNTING HOLE @4.6
THICKNESS: T
Part No. T Package
MCF-3305 0.6
MCF-3308 |0.5~0.8 500

Part No. A | Package

MCFD-2810 | 28.0

MCFD-3210 | 32.0 1000
@2

|

)

>
u 254

W—

~-@13.4

a5

MOUNTING HOLE @4.5
THICKNESS 0.6~0.8

Part No.

Package

MCFC-2508

1000

MOUNTING HOLE @4.6
THICKNESS 1.0

Part No.

Package

MCFF-25

1000

e
=3
=]



e
=3
=)

Rig : AR X BRLDRK > 2Tk
- Material: PC (UL) R4t sk o
+ Flame Class: 94V-2/94V-0
. Co!or: Natural/Transparent
« Unit: mm -oc
<C
7B
©
B N
w;:;
~— @15 —
MOUNTING HOLE @5.2
THICKNESS: T
Part No. A| B |C T Package
MCF-2310 {23545 |1.6]0.8~1.0 500
MCF-4213 {40.0/3.95|1.3]1.0~1.3
?1.1 .
d oc P16
N~
< © o5
% -
4 @4
7B o
Wiy W @f; P
210+ © @10 - o —g—
MOUNTING HOLE @23.8 MOUNTING HOLE: @G MOUNTING HOLE 4.6
THICKNESS: T THICKNESS: T THICKNESS 1.3
Part No. A T Package PartNo. |B| C | D | G| T | Package Part No. | Package
MCFO-2806 | 28.5|0.5~0.65 MCFJ-4 [3.9/1.06|2.65|3.8]|1.0 MCFF-20 1000
MCFO-2906 |29.5|0.5~0.65| 1000 MCFJ-6 [43]15 |2.65|3.8[125| 1000
MCFO-2908 | 29.5 |0.6~0.8 MCFJ-7 [39]1.06|25 |35]0.8
@2 {
I .
3 2
a3 l i
b
o

il

- @
N

*‘ 55

MOUNTING HOLE @4.5
THICKNESS 1.2

6 —~

33

MOUNTING HOLE @5.5

THICKNESS 0.8

MOUNTING HOLE @4.7

THICKNESS 1.0

Part No. | Package Part No. A | Package Part No. | Package
MCFF-18 1000 MCFF-21 | 23.0 1000 MCFF-11 1000
K MCFF-21L | 24.0




A% : ARIERGEKR @ik &
« Material: PC (UL) R4 miE ke

+ Flame Class: 94V-0
+ Color: Natural

« Unit: mm

L Part No. | Package

28 © MCFD-1 500
MOUNTING HOLE @5.0
THICKNESS 0.75~1.05
@15
<
@4 Part No. A T Package
MCFF-9 [17.16/0.6~0.8| 1000

MCFF-14 |18.0 0.8 1000

zé 2571 MCFF-10 |3142| 0.8 500
<
o

718 -
MOUNTING HOLE @4.6
THICKNESS: T
« Material: Nylon 66 (UL) « Material: PC (UL)
- Flame Class: 94V-0 - Flame Class: 94V-2/94V-0
« Color: White « Color: Transparent
+ Unit: mm « Unit: mm

©
@2.9j‘
oy
©
@14
MOUNTING HOLE @3.0 MOUNTING HOLE @5.0
THICKNESS 0.65 THICKNESS 1.0
Part No. | Package Part No. | Package
MCFM-2807| 1000 MCFF-24 1000

« Material: PC (UL)

- Flame Class: 94V-2/94V-0 ~@1.05
- Color: Natural/Transparent
« Unit: mm
<
o ) PartNo. | A | Package
NEE MCF-428 [426] -
W MCF-2908 | 29.0
-~ @10 ~

MOUNTING HOLE @5.2
THICKNESS 0.6~0.8



R ARXBER&GER > A%k &
- Material: PC (UL) B4t gk e
« Flame Class: 94V-2/94V-0
- Color: Natural/Transparent

+ Unit: mm
- I3
ﬁ 5
&
S % Part No. | Package
‘ R/ 4 MCF-1 1000
-~ 15— MOUNTING HOLE @4.5

THICKNESS 0.8~1.0

g
65 |
- Patented (& #| &)
47—~ < MOUNTING HOLE @45 Part No. | Package
THICKNESS 1.0 MCFF-5 1000

- Material: PC (UL)

+ Flame Class: 94V-0
+ Color: Natural

« Unit: mm

- Patented (& #| &%) ﬁi 1%

30.65

Part No. | Package

%jﬁ = MCFF-6 | 500

13— MOUNTING HOLE @4.5
THICKNESS 1.0~1.2

+ Material: PC (UL)
+ Flame Class: 94V-0

- Color: White
« Unit: mm
20
— @4 T
\\ o
*ﬁ*@l.?
w &
=1 T—1 1 T \
f p——
MOUNTING HOLE @5.0 lgur &
THICKNESS 0.6~0.8 °
Part No. | Package Part No. | Package Part No. | Package

MCFJ-1 1000 MCFJ-2 1000 MCFP-33 1000




=

AR XBERGEDR AR &
« Material: PC (UL) R4 miE ke

+ Flame Class: 94V-2/94V-0

- Color: Transparent

« Unit: mm - ] Tl
S &
w3 O W will
@20 — 2 JHL5.97 - g0 2 5.97
o 7.63 ™ #7.63*
~H-15 15
I ™
™ ™
ﬁ%" E}ﬁ
@4.6 @4.6
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
MCFF-15 1000 MCFF-16 1000
i o 068
g
2 < S <
125 1 7 N
iz @ W @
@20 — 2 5.97 N— 2 -
~7.63~ ) 20—
15 »H«l.s
4 ¢
™ ™
[{=} <=}
% T
@4.6 @4.6
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
MCFF-13 1000 MCFF-17 1000

- Material: PC (UL)/94V-0

- Color: Transparent

« Base Material: Nylon 66 (UL)/94V-0
- Base Color: Natural
+ Unit: mm

- Patented (& 4] &%)

MOUNTING HOLE
THICKNESS 0.5~1.0

Part No. | Package
MCFF-7 1000




+ Materiall: PC (UL)

« Material2: Nylon 66 (UL)
« Flame Class; 94V-2/94V-0
- Colorl: Transparent

« Color2: Natural/White

« Unit: mm

AR ERSL@R  HEL
Bt 0 @iE A o

1= MATERIAL: 1 - [T}
- Patented (& F| &) COLOR: 1 { @
& 1.35
s 4%
{ MOUNTING HOLE
.y THICKNESS 0.8~1.0
MATERIAL: 2 =
. W
COLOR:2 216 —~ Part No. | Package
™ MCFF-12 1000
« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
- Color: Transparent
« Unit: mm
) ~1—0.69 ~--0.73
o~ [ee]
‘ T 184 . *\ 185
s d 20 o
WHITE REFLECTING SHEET DOUBLE ADHESIVE TAPE
Part No. | Package Part No. | Package
MCFP-30 1000 MCFP-17-1 1000
~t-0.86 ~-0.79
o o
& N
e s N st 1Y
I 20 1 I 20 1 20 ! f 20 !

WHITE REFLECTING SHEET

Part No. | Package
*MCFP-35| 1000
3
— ; ] ~+—C
g <
& RELEASE TAB RELEASE TAB
/%#ﬁﬁ%)ﬁ} /%%ﬁfrﬂjﬁb%
0 184 20 - AR
~— 20 — 20
DOUBLE ADHESIVE TAPE
WHITE REFLECTING SHEET
Part No. A | C | Package
Part No. | Package MCFP-12 [20.7|0.71 1000
A MCFP-36 500 MCFP-25 |22.3]0.68

WHITE REFLECTING SHEET

Part No. | Package
MCFP-34| 1000
~—-0.68
[Te)
s
14
20 20

DOUBLE ADHESIVE TAPE

Part No.
MCFP-5

Package
1000

e
=3
=)



Rig: ARXBEREOKR > HEL F
« Material: PC (UL) R4t miE ke
+ Flame Class: 94V-2/94V-0
« Color: Transparent
+ Unit: mm e

o
T Part No. | Package
MCFP-7 1000

‘_7 20 ——‘ — 20 —+
DOUBLE ADHESIVE TAPE

~—0.8
N~
RELEASE TAB
/ VE RN Part No. | Package
1y ; MCFP-18 1000
—20 15
DOUBLE ADHESIVE TAPE
=08

~
N RELEASE TAB
\ / 5 W2 5
. 15 Part No. | Package
N, A MCFP-29 | 1000
DOUBLE ADHESIVE TAPE
-1
S
N o Part No. | Package
l A;;;g MCFP-9 | 1000
20— -— 16—
26—
WHITE REFLECTION SHEET
~-0.68

A

Part No. A | B | Package
MCFP-31 |31.7 |1.78

500
T L1l | | Ile MCFP-32 |320| 1.8

25




Rk : @ANNGFFF A #AK L » £ T B >

- Material: Nylon 66 (UL) 7 ¥ o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black/Green/Blue
« Unit: mm

[ ULCN3.4-2.1 ]

1n—
PartNo. [ A [ T [ Package Em* P
ULCN-1 1.7 | 2.1~2.4 1 7 e
ULCNL7-24 |17 |21~24 @4~ 55 PLI(X2)
[ULONA ] ULCN2.2-1.2 | 22| 1.2 MOUNTING HOLE
ULCN2.5-1.6 | 2.5 | 0.8~1.6 THICKNESS 0.6
, ULCN2.5-2.6 | 25| 1.8~26 | 1000
MOUNTING HOLE Fﬁ ULCN25-29 | 25| 2.1~29 . Flalmg Class: 94V-2
THICKNESS: T I ULCN3.4-08 [3.4| 0.8 + Color: Green
o ULCN34-2.1 | 34| 213 Part No. | Package
Sl ULCN63-16 | 63 | 16 ULCN-3_| 1000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black/Green/Blue
« Unit: mm

- Patented (& ] &)

f
MOUNTING HOLE T:J i
THICKNESS 1.2 $is P MOUNTING HOLE
L o THICKNESS 1.6 |18
Part No. Package Part No. | Package
ULCN2.5-1.2 1000 ULCW2.5-1.6| 1000

Part No. A | B | T | Package
% & ULCO2.1-2  |2.08[081[2.0
-1 26 ULCO2.4-2.1 [2.4 |08 [2.1

OUNTING HOLE | ULCO2.4-3.1 2.4 [0.8 [2.95
THCKNESS 295 o5 1., @6 ULCO25-1.6 |25 [0.8 [1.6
| el > ULCO252.2 |25 [0.8 [2.2

: MOUNTING HOLE ULCO25-2.4 |25 [0.8 [2.4

Part No. Package THICKNESS: T lag ULCO2.5-4.2 |25 |08 [4.2
ULCO2.4A-3.1 | 1000 ULCO6.6-2.6 |6.6 |0.8 [2.46

1000




A& : @ A ANGFFFA#AKR E » TR >
- Material: Nylon 66 (UL) Bt o
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Green/Blue
« Unit: mm
- Patented (& #] &)

©

T

?_CBZW

©

(=]

S el
MOUNTING HOLE MOUNTING HOLE MOUNTING HOLE @3.0
THICKNESS 1.6 [ g4 3 THICKNESS 1.6~21 .z THICKNESS: T

Part No. A | Package Part No. | Package Part No. T Package

ULCOG2.5-16 | 2.5 1000 ULCOJ-1 1000 ULCN6.6-1.2 | 1.2 1000
ULCOG6.3-1.6 | 6.3 ULCN6.6-1.6 | 1.5~1.6

<

™
TeXar)
(SRS

MOUNTING HOLE ’@ MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.6 a8l THICKNESS 16~22 | gl THICKNESS: T dagl
Part No. D | Package Part No. | Package Part No. © T Package
ULCO3.8-1.6S | 2.5 1000 ULCOB-1 1000 ULCO6.6-1.6 |8.0] 16
ULCO3.8-1.6 | 4.0 ULCO6.6-2 [8.0[1.9~2.1| 1000

ULCO6.6-3.1 [ 8.3 2.7~-3.3

MOUNTING HOLE Fﬂ
o THICKNESS: T ~48- w

MOUNTING HOLE T
THICKNESS 2.7-3.3 »&8)% Part No. A | T | Package ¥|.(|)|gw|¥365 I-ZI%E $%
ULCOB3.3-2.3 |3.3]2.27 '
Part No. Package ULCOB6-16 |6.0]1.6 1000 Part No. | Package
ULCO6.6-3.1S| 1000 ULCOB6-2.3 |6.0|2.27 ULCOB-2 1000




R @A NNGFFF A #AR L » £, B »

- Material: Nylon 66 (UL) B ¥ ¥ o
+ Flame Class: 94V-2/94V-0 )
- Color; Natural/Black/Green/Blue + Material: Nylon 66 (UL)
« Unit: mm « Flame Class: 94V-2/94V-0
- Patented (& #] &) + Color: Black
TR TR T L « Unit: mm

l
T o D & AR AR

i
MOUNTING HOLE @3.0 MOUNTING HOLE g
THICKNESS 1.2 THICKNESS 4.0~4.3 g TF
Part No. Package Part No. Package
ULCNF2.5-1.2 1000 ULCNA2.5-4.3| 1000

—
MOUNTING HOLE (= | <
THICKNESS 1.6~1.8 |
8 ~ ~ @26 -
MOUNTING HOLE @ T MOUNTING HOLE
THICKNESS 1.6 T f 11
Part No. A | Package dgglt 48 THICKNESS 1.6
ULCNA25-1.8 |2.15
ULCNA2.5-1.8S | 2.45| 1000 Part No. Package Part No. Package
ULCNA4-1.8 4.0 ULCOA5-1.6A| 1000 ULCOB3.4-1.6| 1000

8

- o

& 26 ;
s 37 i
T

®5-1 a
i oG

AN | MOUNTING HOLE H RS 1ot MOUNTING HOLE @3.4
S [ L} THCKNESS 11 - THICKNESS 1.6

545

PatNo. | E [ G [ Package + Color: Black
Part No. Package ULCY-1 18.27| 4.05 1000 Part No. | Package
ULCND1.5-1.1| 1000 ULCY3.9-1.6 |24.1 [4.0 ULCY-2 1000




it BMANGFFFA MR L » .5 »

+ Material: Nylon 66 (UL) VKl

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black/Green/Blue
« Unit: mm

- Patented (& 4] &)

5.3
(:_lll_

MOUNTING HOLE @3.5 MOUNTING HOLE @3.5
THICKNESS 1.6~2.2 THICKNESS 2.3~2.9
PartNo. | F | Package Part No. | Package
ULCOC-1 | 1.8 1000 ULCOC-7L | 1000
ULCOC-9 | 1.77

[ee}

LH

[Tl

[T

f
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 2.69 THICKNESS 1.6 THICKNESS 2.3~2.9
Part No. | Package Part No. | Package Part No. | Package
ULCOC-14 | 1000 ULCOC-2 1000 ULCOC-2L | 1000

A& : 8 ANGFFF MR £ » TR >
s 4R A 18 F )
- Material: Nylon 66 (UL) Hatsy » SRR TR TEMI

« Nut Material: Brass T -
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm

- Patented (& £ &)

1 0.9 ~ 09~
2 ,:@fQ)G o /ﬁ; 6
7' copper ZZ\_ COPPER
@4.3 FOIL @43+ FOIL
@ @
< BODY ﬂ < BODY
E - ‘ MOUNTING HOLE S mgwé\ls% qOGLE
w Z—<  THICKNESS 16 © = '
10 BRASS NUT .

BRASS NUT

Part No. | Package Part No. | Package
ULCOE-3ST| 1000 ULCOE-4ST| 1000




TAHA5012.003

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black/Green/Blue
« Unit: mm

- Patented (& 4] &)

~ 9.7~
-] 5.3’*

73 [~
~4.5~

| T T%5)

'
MOUNTING HOLE ©
THICKNESS 1.6

0.9
Part No. Package
ULCOD1.5-1.6| 1000

it BMANGFFFRA MR L » . T A »
5 ¥k o

3.8
MOUNTING HOLE
THICKNESS 1.6 3

1
0.9

Part No. | Package
ULCOD-1 1000

@4.8
Lo
3 < MOUNTING HOLE MOUNTING HOLE @3.6
——| THICKNESS 16 THICKNESS 1.6
e PartNo. | H | Package
Part No. Package ULCOC-4 | 3.4 1000
ULCND2.5-1.6| 1000 ULCOC-8 | 2.8
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
« Unit: mm
- Patented (& £ &) o< 18.9
S8
© ®
11 }7
® ; MOUNTING HOLE
@38 'f_" L i THICKNESS 2.6
“ %t MOUNTING HOLE —< |
‘ ¥ THICKNESS 1.6 ~[45}-
4.5 —9 —
Part No. | Package Part No. Package
ULCOC-12 | 1000 ULCOC2.4-2.6| 1000




AR BANGFF A #m L » % T4 >
5 ¥k o

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Green

« Unit: mm

- Patented (& £ &)

Part No. | Package

& 0.9+ @36
MOUNTING HOLE % ; @43 ULCOM-1 1000
THICKNESS 1.6 i '

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Black

Unit: mm

- Patented (& #| &)

MOUNTING HOLE
THICKNESS 1.6

Part No. | Package

ULD-1 1000
1% B 38
Installation Guide
- Latch Base Material: Nylon 66 (UL) At : @A E T8 ENGFFF A #KR L o
- Latch Handle Material: Nylon 66 (UL)+GF TR BId o

- Latch Spring Material: SWP Nickel Plated
Flame Class: 94V-0

+ Base Color: Black

+ Handle Color: Blue

« Unit: mm

4.5 r
B b o
i Y

MOUNTING HOLE
THICKNESS: T

Part No. T | Package
*ULCOF-9SF | 1.6
ULCOF-9MF| 1.93| 1000
ULCOF-9F |2.36

MOUNTING HOLE
THICKNESS 1.6

/ \‘\
Host PCB L=
Assembly Diagram

Part No. | Package
ULCOF-19F | 1000




©
© \rzz,
t

}

Host PCB~/ &=/

Assembly Diagram

i

]

/

=

=

- 1295

O

N )

Z)

- Latch Base Material: Nylon 66 (UL)

« Latch Handle Material: Nylon 66 (UL)+GF
- Latch Spring Material: SWP Nickel Plated
- Flame Class: 94V-0

Base Color: Black

« Handle Color: Blue

+ Unit: mm

- Patented (& #| o&)

A% #A ETHENGFFFA#AR £ »
F LB G o

4.5"

Ly
AN
‘;’7 T

14

MOUNTING HOLE

THICKNESS 2.0

Part No. | Package

« Material: Nylon 66 (UL)
+ Flame Class: 94V-0

+ Color: Black

« Unit: mm

- Patented (& £ &)

ULCOF-20F | 1000

4'5L
%”
Pl ia

MOUNTING HOLE
THICKNESS 2.6

i

Package
1000

Part No.
ULCOF-23F

AR MANGFFF A #m L » £ T A >
5 At o

MOUNTING HOLE

3.2~

2 THICKNESS 1.6
©
LATCH Part No. | Package
5L SPRING ULCOF-2F 1000
N
- Material: Nylon 66 (UL)
+ Flame Class: 94V-0
« Latch Base Color: Black
- Latch Cover Color: Blue
+ Unit: mm @3.2
- Patented (& £ &) @4.9 —
© o
—u | 48 -
~——13.65 —
MOUNTING HOLE
LATCH THICKNESS 1.6
Part No. | Package
ULCOF-10F| 1000




i : i ANGFF F# #iR £ > % TR »
- Latch Base Material: Nylon 66 (UL) Bt o
- Latch Cover Material: Nylon 66 (UL)+GF
- Latch Spring Material: SWP Nickel Plated
- Flame Class: 94V-0
- Latch Base Color: Black
« Latch Cover Color: Blue
 Unit: mm
- Patented (& #| 52)

MOUNTING HOLE
THICKNESS 1.57

Part No. | Package
ULCOF-17F| 1000

@3.4
@5.31’/4® A r TSQ‘ L2
;: 11 % 1< MOUNTING HOLE
135 ¢ THICKNESS: T
1.5
LATCH SPRING
Part No. B T Package

ULCOF-6SF |5.65 1.6
ULCOF-6F [6.15| 18,22 1000
ULCOF-6LF |6.15| 2.36~2.55

=

~~B—— 10.45J

0
-5 %,
ﬁ
-15
NG MOUNTING HOLE
THICKNESS: T
Part No. T Package
ULCOF-7F 1.93
ULCOF-7LF |2.36~2.55 1000
CARD
P S— / LATCH
=1 (@S h
~k15 o7
MOUNTING HOLE
THICKNESS: T

Part No. B T Package
ULCOF-14LF | 6.0| 2.78 1000
ULCOF-21LF |4.8|1.93~2.4

! [ULCOF-21LF]



AR BANGFF A #m L » % T4 >

- Body Material: Nylon 66 (UL) Bt o
- Latch Material: Nylon 66 (UL)+GF
- Body Flame Class: 94V-2
- Latch Flame Class: 94V-0
+ Body Color: Black
« Latch Color: Blue
« Unit: mm CARD INSTALLING AREA
- Patented (& #] &) ULCOIL-XXF
x‘ﬁi T
L -

o %%Ei/

b= 2.3 15
MOUNTING HOLE
THICKNESS 1.8~2.2

1% A 3.
Installation Guide

ULCOI-2.4F | 2.4

ULCOI-4F |4.0| 1000

CLOSE CLOSE ULCOL-6.6F | 6.6
[ ULCOI-2.4F ]

<
#@ @) PartNo. | A | Package

MOUNTING HOLE
THICKNESS 1.8~2.2

W/
Assembly Diagram w

Part No. B | Package
ULCOI-6S(BU2)F | 5.65 1000
ULCOI-6(BU2)F |6.15

- Body Material: Nylon 66 (UL) R : ARG EZ > @ ANGFF F R # R

- Latch Material: Nylon 66 (UL)+GF t oo B o
+ Body Flame Class: 94V-2
« Latch Flame Class: 94V-0
- Body Color: Black

- Latch Color: Blue

« Unit: mm

- Patented (& 4] &)

-5 o

4

MOUNTING HOLE
THICKNESS 1.6~2.2

o

: . Part No. Package
Assembly Diagram ULCOI-8BU2F | 1000




it BMANGFFFA MR L » .5 »

- Body Material: Nylon 66 (UL) B ¥t o
- Latch Material: Nylon 66 (UL)+GF

- Body Flame Class: 94V-2

- Latch Flame Class: 94V-0

- Body Color: Black

- Latch Color: Blue/Green

« Unit: mm 7 5-3‘ .
- Patented (& 4] &) —I :
— S

5451
MOUNTING HOLE
THICKNESS: T
Assembly Diagram Part No. A T Package
ULCOI-3F 5.0 |2.36~2.55 1000
% ULCOI3-6.6F | 6.6 | 1.8~2.2
+ Body Material: Nylon 66 (UL)
- Latch Material: Nylon 66 (UL)+GF
- Body Flame Class: 94V-2 M2 SSD CARD
- Latch Flame Class: 94V-0 ¥
+ Body Color: Black . STALLING AREA
« Latch Color: Blue :
+ Unit: mm
- Patented (£#15%) TN L +;
M.2 SSD CARD

INSTALLATION LOCATION

'
= MOUNTING HOLE
f THICKNESS 1.9

Part No. | Package
ULCOI-5F | 1000

- Body Material: Nylon 66 (UL)
- Latch Material: Nylon 66 (UL)+GF

+ Flame Class: 94V-0 M.2 SSD CARD

- Body Color: Black INSTALLING AREA
« Latch Color: Blue — X ’

+ Unit: mm o=l

- Patented (& 4] &)

INSTALLATION LOCATION

ik

Part No. | Package
ULCOI-9F 1000

MOUNTING HOLE
THICKNESS 1.6




A MANGFFFRA#AKR L > £ T A

- Body Material: Nylon 66 (UL) B ¥t o
- Latch Material: Nylon 66 (UL)+GF
- Body Flame Class: 94V-2

- Latch Flame Class: 94V-0

- Body Color: Black

- Latch Color: Blue

« Unit: mm

- Patented (£ #| &)

'
3 |
(32
§

MOUNTING HOLE
THICKNESS 2.2

-

oEp 4108 w
©
i 7 Part No. | Package
% ULCOP-6.6F| 1000
CLOSE
« Material: Nylon 66 (UL)
+ Flame Class: 94V-0
+ Latch Base Color: Black
- Latch Turn Handle Color: Blue/Gray
« Unit: mm
- Patented (& #] &) @3.4
@5.3 6.3
2 I o o 48
;1 i j i Soj .
< . C =g
T D - -
o MOUNTING HOLE
: THICKNESS: T
CARD H
37 L Y
Installation Guide S Part No. A T Package

ULCON-1F 24116-21
*ULCON-1-6F | 6.6|1.6~2.1 1000
ULCON-1M-6F | 6.6 | 1.93~2.4

Assembly Diagram

- Latch Base Material: Nylon 66 (UL)

- Latch Turn Handle Material: Nylon 66 (UL)+GF
+ Flame Class: 94V-0

« Latch Base Color: Black

« Latch Turn Handle Color: Blue

« Unit: mm

- Patented (& £ &)

13

MOUNTING HOLE
THICKNESS 1.6~2.1

HosT pc— ¢
Assembly Diagram

Part No. | Package
ULCON-8F | 1000




it BMANGFFFA MR L » .5 »
5 ¥k o

- Material: Nylon 66 (UL)

+ Flame Class: 94V-0

« Latch Base Color: Black

- Latch Turn Handle Color: Gray
+ Unit: mm

- Patented (& #| &)

4.8
- r 14
< n
4? I
i «
%5 < MOUNTING HOLE
7 THICKNESS 1.6~1.93

PartNo. | Package

ULCON-7F | 1000

HOST PCB
Assembly Diagram

- Material: Nylon 66 (UL)

« Flame Class: 94V-0

« Latch Base Color: Black 5.3
« Latch Turn Handle Color: Blue @34
+ Unit: mm

76.5

- Patented (& #] &) @
oZ
T3
=T MOUNTING HOLE
Sa THICKNESS 1.6
w o
[aea

1% F 3.
Installation Guide

Part No. | Package
ULCON-3F | 1000

Assembly Diagram

+ Metal Material: Steel

« Insulator Material: POM
« Insulator Color: Blue

+ Unit: mm

- Patented (& #] &)

v

HOST PCB Part No. Package
Assembly Diagram ULF-1(BU)F | 1000




1% A 3.9
Installation Guide

« Metal Material: Steel

AR BANGFF A #m L » % T4 >
Ei

« Insulator Material: Nylon 66 (UL)+GF
+ Flame Class: 94V-0
« Insulator Color: Blue

- Patented (& 4| &)

- Material: Nylon 66 (UL)/PC (UL)

Unit: mm

M2x0.4Px2.5L

_ Part No. Package
Assembly Diagram ULF-3.6(BU)F | 1000

Rt : ANGFFF A X X% F B
RARE -

 Flame Class: 94V-2/94V-0
« Color: Black/Transparent
+ Unit: mm

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2

L~

r 24.26 ﬂ g@if

4 gl Part No. | Package
@i‘ = UNCV-L | 1000
- T

« Material: PC (UL)
+ Flame Class: 94V-2

4.25

- Color: Black - Color: Transparent

+ Material: PC (UL)

+ Flame Class: 94V-2
- Color: Transparent

« Unit: mm « Unit: mm

« Unit: mm + Unit: mm

L~

)
— 24.26 — < ~— 2426 —

5 j »\%i\;l
—— =

Part No. | Package Part No. | Package
UNCV-2 1000 UNCV-3 1000

—4.25

10.1 ‘*

« Material: PC (UL)
+ Flame Class: 94V-0
- Color: Transparent

- [~
316 i:’r — 24'25ﬂ 3
y tﬁj 5 — 4 %J

i, i -
R E = |3
- 71 )
Part No. | Package Part No. | Package
% UNCV-4 | 1000 % UNCV-6 1000




	1-類(全)
	1-000
	1-00A
	1-00B
	1-00C
	1-00D
	1-001
	1-002
	1-003
	1-004
	1-005
	1-006
	1-007
	1-008
	1-009
	1-010
	1-011
	1-012
	1-013
	1-014
	1-015
	1-016
	1-017
	1-018
	1-019
	1-020
	1-021
	1-022
	1-023
	1-024
	1-025
	1-026
	1-027
	1-028
	1-029
	1-030
	1-031
	1-032
	1-033
	1-034
	1-035
	1-036
	1-037
	1-038
	1-039
	1-040
	1-041
	1-042
	1-043
	1-044
	1-045
	1-046
	1-047
	1-048
	1-049
	1-050
	1-051
	1-052
	1-053
	1-054
	1-055
	1-056
	1-057
	1-058
	1-059
	1-060
	1-061
	1-062
	1-063
	1-064
	1-065
	1-066
	1-067
	1-068
	1-069
	1-070
	1-071
	1-072
	1-073
	1-074
	1-075
	1-076
	1-077
	1-078
	1-079
	1-080
	1-081
	1-082
	1-083
	1-084
	1-085
	1-086
	1-087
	1-088
	1-089
	1-090
	1-091
	1-092
	1-093
	1-094
	1-095
	1-096
	1-097
	1-098
	1-099
	1-100
	1-101
	1-102
	1-103
	1-104
	1-105
	1-106
	1-107
	1-108
	1-109
	1-110
	1-111
	1-112
	1-113
	1-114
	1-115
	1-116
	1-117
	1-118
	1-119
	1-120
	1-121
	1-122
	1-123
	1-124
	1-125
	1-126
	1-127
	1-128
	1-129
	1-130
	1-131
	1-132
	1-133
	1-134
	1-135
	1-136
	1-137
	1-138
	1-139
	1-140
	1-141
	1-142
	1-143
	1-144
	1-145
	1-146
	1-147
	1-148
	1-149


